


B 2T Index

18~27

28~45

53

55

56~84

85~90

Ell99

100~108

109~113

= E 1AL
Taper Shank for Boring System

E0ABIESL RN

Adjustable Twin Cutter Roughing and Semi-Finishing Boring System

1143 SEEILT

For High Speed Cutting Bar Fine Boring System

1E3LIRI
BMH Semi-Finishig Boring System

T S ERAETESL TR iT
Micro-Finishing Cutter Fine Boring System

INMERSHTESLRAR

Small Diameter Boring System

h100-B72KSLIEHESLTJHE S R
h100-B72 Large Diameter Boring System

h100-AL120K3LIEIESLTIHE SRR
h100-AL120 Large Diameter Boring System

HEIEIESL R
Boring System

a!l

li;
e ]
{wd

-

—
|
= ———-'k‘..




Stanny

EIAES R

SN IESLT])-MEMER0 BRI ERY
RIS - S TESLDREE D EEER @ A0
TEEERTE » EERAIEIE -

SERERVIESL DRSS - BIESREI LI
EHR/NRIITIEMRE - #HE5HE3LD
W~ ERER - BB ESEEL
7] ~ fEEsL 0L -

BMKIBES RN E D RRARKTE
H25 » HAARMRATR » 25BN E
RYf& » BaIEH25 ~ H32 ~ H40 ~ H50 ~
H63 « H80 * H100%#% o

RILEAE SRR

SBIERVIESLDMES - HERERAN
MISLERINTILERIFE - 85153
A~ BB ~ FESHRIESLT] - 1Bl
maE%{t, » BaRIBEh100-B72 ~ h100-
AL120%#f °

Modular Boring System

Taper shank, stepped spacer, extension spacer
and the body have two screw holes at a 90
degrees distance on the sides. Except taper
shank, the stepped spacer, extension spacer
and the body have a pin. A hole can also be
found at the bottom of taper shank, stepped
space and extension spacer. With these features
of two screw holes, a pin and a bottom hole,
the combination of taper shank with any of the
stepped spacer, extension spacer and body,
makes a tight lock in the system as it makes a
strong interaction; thus, showing a more rigid
feature of our modular boring system.

Besides being rigid, the modular boring system is
also very flexible. Its flexibility allows the system
to easily adapt to process various sizes and
depth of the hole of the diameter.

In naming the outer diameter of the taper shank,
extension spacer, stepped spacer and boring
head, we used the symbol “H” followed by a
number, which represents the size of the outer
diameter. For instance, H25, wherein in  “H”

is the symbol while 25 is the value of the outer
diameter. Hence, in this series, there are H25,
H32, H40, H50, H63, H80 and H100 system.

Large Diameter Modular Boring System

Large diameter modular boring system is also
very flexible. Its flexibility allows the system to
easily adapt to process various more big sizes
and depth of the hole of the diameter. Hence, in
this series, there are h100-B72 and h100-AL120
system.







Stann y

E3LMEERIESLIMA(1)A2) - mEHEFRE0°
BFEIEREMRIGS - EEORBONHEHE
ReBE -

EELAEHIE > UHEREREEETHHE
BE - EERAHMEIIL - BEIEME - RYIBE -

Modular boring system combination taper shank, stepped spacer, extension
spacer and the body have two screw holes at a 90 degrees distance on the
sides. Except taper shank, the stepped spacer, extension spacer and the body
have a pin. A hole can also be found at the bottom of taper shank, stepped
spacer and extension spacer. With these features of two screw holes, a pin and
a bottom hole, the combination of taper shank with any of the stepped spacer,
extension spacer and body, makes a tight lock in the system as it makes a
strong interaction.

When boring, the cutting force is conducted to the spindle and motor providing
a more rigid, continuous cutting action and dimensional stability.

o —
1}

=




Stann\:v EILIEE R

Modular Boring System

TW Pat.166331

TW Pat.162721

TW Pat.192985

TW Pat.226181

TW Pat.206367

TW Pat.208543

TW Pat.M360098

TW Pat.M407801

TW Pat.M444234

TW Pat.1491457

TW Pat.M501907

TW Pat.M513747

TW Pat.M513076

CN Pat.ZL 02 2 64588.8

CN Pat.ZL 02 2 64589.6

CN Pat.ZL 2010 1 0537456.3
CN Pat.ZL 2015 2 0044685.X



LR

» MABTEA -

RYBRBUERE

ct to change

specifications are subje

notice.

The above

without prior



%4éﬁﬁ%$&ﬂﬁﬁm

tanny.






tanny






10

Stann y

HBIT £ EIL JESRRK
I g&
FEESLIHES R - BAEESL D AEIES N EaVERESL I - SBAEF R EIESLLIE] -
o B57) — 13| » 1RIESEHEEE7)(SACCEISBCOEESL L » LIHISLIER Y — B87D%5HESL -
o B87) — [2¥fE » WIESHEEEET)(RKCOMRIESL JIRE » LM IESLILE -
o E87)—45°1F6 » 1R IEFAEEES T)(IWSCFRIESL I » tIHISLE ER A -
o E7])—1BIE » WIEFHELET)(SACC + SACC)T(SBCC + SBCO)EF=HRIEIRE » tIHIBEEE » TR
REAGHRRESL -
o 87)— Y8R » WMIEFARLJT)(SACC + SBCONFaMIEIE » DRITIHIAEER » /BAEL]
Hl - DEIMELLIH » REZHEE - SBIERILE] -
o 7] —80°481E - RIEFHEEEJ(EMSC)RIESLIEE » tIHIEREE - KELHE - BELIHIE » AR
EZ3LUIHI -
FEESLDFAEARIESL DR Y - ARRMEEE—E > ([EEEBELJEMER Y 1mm » ERRNBRIU
EiIR—18 » RBFESLER02mm -




HBIT Adjustable Twin Cutter Roughing and Semi-Finishing Boring System.
Function

Adjustable twin cutter roughing and semi-finishing boring system can have the following functions:

a.We can use either SACC or SBCC cutting insert holder.

b.We can use RKCC cutting insert holder for reverse cutting.

c.We can use IWSC cutting insert holder for positive and negative 45° chamfer cutting.

d.We can use two SACC (SACC + SACC) or two SBCC (SBCC + SBCC) cutting insert holders.

Note: Using the same cutting diameters can speed up the feeding of roughing boring & cutting.

e.We can use two different insert holders SACC + SBCC
Note: Using different height and different cutting diameters is easier for chip removal.
f.We can use two EMSC (EMSC + EMSC) 80° cutting insert holders, cutting same diameter.
Note: A lot of cutting lower cutting resistance, used for cutting through the hole.

In adjusting the roughing and semi-finishing system, when you rotate the bolt one complete turn, at the
side there is a scale or graduation wherein one graduation is equal to 1mm travel, thus, the total boring
diameter is @2mm.

11



12

Stann y

HBIT Z7)M#E3L )

He

L01RIE3L7) » BREETEGE)  BRREFE » a0 nREARSLIERY » IJLUERESLT)
FEAESNBUSE - HOCAERIESLDEONER - EHNRHERE » £/)BRER CRIEREAESLIEELE
SUERY » EcasRR IR » REZTAERESLJER IHHAE » BEIRIELIM - MRS EFELIHE
XA

HBIT Adjustable Twin Cutter Roughing and Semi-Finishing Boring System.

Feature

With the "gear-mat type" feature of adjustable twin-cutter roughing and semi-finishing boring system, it
allows the system to move forward and backward freely. This is best for adjusting the diameter in the
tool preset as it is easier to set in a shorter time.




HBIT € 7):81E3L 7]

=

A. TEHETIEEIZLR ~ BIERA
FEIESLIEE ~ SHER ) IRAK
FEEIRNE ~ E IR

FEIESL AR ~ N BaE O
R AL

ERER -~ BEER

mmoowm

HBIT Adjustable Twin Cutter

Roughing and Semi-Finishing

Boring System.

Components

A. Cutting Insert Holder Mounting Bolt
and Spring Washer

B. Cutting Insert Holder and Insert

Clamping Bolt

Adjusting Nut and Setting Bolt

Body and Coolant Outlet

Taper Shank

mmo o

Extension Spacer, Stepped Spacer

E p18-25

F P26-27

D P31

B P32-33

13



HBOR 1H i 5E 5 1E 3L /)
10 g&
MERARIALEIR - §—1800.002mmilZBEiHIIR I8 » B SWUHIMEEEREVERRT]F BEE
@R TEELIE - R ERIEE
2EZIEIR - 5—1800.10mmAERSE » EEESMAR YLENIRD IR Tl - BEHFHSELE
IR (RFEIESL IR Y - tBsBUBEEN S ZIBIR » B—1802mm °
SRUEIEIL T ERFA” PRI - ESIESLDREERA B IESL A8 - mHINERER - FEERG2.5
12000rpmEN & » SRICEBIESL » IKARIFENTE » (FIESLEABTEISTE -
o TEHBOR25PIBAH A S IESL I AREPHIAS,06 » THEESCA ~ CBRINNE IR 1] » FFIE3[SLE
EER02~07 » O5~O7RBIBI TR -
e TtHBOR32PFIHBOR40PIBififH A HESL I AEEAIASL08 - THESCA ~ CBRI/N\EEHHE ]
12 {FE3SLIEEHER02~09 » O7~-011ABIEI I H iR IIg -
e {EHBORSOPIBAHHEAFEIESL A EEDHVAN3,016 » TI#EESCM ~ CR ~ BRMARY! » SIfEHE3L3LIEER
BA05~090 °
o TEHBORG3PHAHMEEFEIESL JAREIRINSLG16 » THEECM ~ CR ~ BRM#RY! » OIfFiESL L&
BA05~3150 °
e TtHBOR50FIHBOR63RHMEAEIESL A EEPEINSLO16 - #HEBRAII/INEREIEIL IR - FHE
I3 EEEAR06~ 090 ~ P96~ @150 » BATEEIHEHES -
RN R - TEFFAHBOR63BAHMIIEIESL /AR - #HS5BM16DIBEE » it S 51ESLCC/MLHERHE)
JIEE » LIEIENE - 88E430~0100 °
TRABHEE R TEAETESL ] - FREDEISLE R ~ IF=ES - R EEBIESLE UIHIBEHRE -

7 r ﬁuhuﬂﬁuln%




HBOR Micro-Finishing Cutter Fine Boring System.

Function

The boring head consists of a boring dial adjuster and a reference dial, wherein each scale of the boring dial
adjuster is equivalent to 2um or 0.002mm. Each marking scale of the reference dial is equal to ¢ 100um or
0.10mm.

High speed boring cutting balance system, P series, it has dynamic balance in G2.5 and 12000rpm.
It will increase boring dimension and in high speed cutting it still have dynamic balance.

The inside diameter of HBOR25P micro-finishing cutter fine boring system is ¢ 6mm. With the combination
of CA and CB series, the diameter of HBOR25P can now be within the range of ¢2~¢7 and ¢5~¢7
respectively.

The inside diameter of HBOR32P and HBOR40P micro-finishing cutter fine boring system is ¢ 8mm. With the
combination of CA and CB series, the diameter of HBOR32P and HBOR40P can now be within the range of
¢2~¢9and ¢ 7~ ¢ 11 respectively.

The inside diameter of HBOR50P and HBORG63P micro finish boring system is ¢ 16mm. With the combination
of CM, CR and BRM series, the diameter of HBOR50P and HBORG63P can now be within the range of
¢5~ 390 and ¢ 5~ ¢ 150 respectively.

The inside diameter of HBOR50 and HBORG3 micro finish boring system is ¢ 16mm. With the combination of
BR series, the diameter of HBOR50 and HBORG63 can now be within the range of ¢ 6~ @90 and ¢ 6~ ¢ 150
respectively.

Outer diameter boring system, use HBOR63, BM16D and any kinds of SLCC or ML cutting insert holder then
cutting external boring, the boring range 0~ ¢ 100.

Micro-finishing cutter for reverse fine boring system should be assembled well depends on boring diameter
and depth, then boring or machining back end with reverse feeding.

15



16

a 3 m@ﬂllﬂ 0 90 110
[

HBOR

HLHR il SR ¥S R SL T
B

EEHEREESLT) - BBEMBE - RATTHEE - 1ES SR D RS E3L I -
EAREEFE -

BB - FEEISE - ILETENTNEREE  ESOSTERR - UESLARTLE - B
S TSRS IEEEILERT - ARIETETERETE -

HBOR Micro-Finishing Cutter Fine Boring System.

Feature

Micro-finishing cutter fine boring system is a "gear-mat type" slide and is inserted into the square
track. This feature enables the boring system to be firmly and tightly locked.

The "gear-mat type" sliding feature of the micro finish boring system allows the system to be
adjusted forward and backward to match its desired balance position. Thus, keeping the system firm
and stable.

Stann y



HBOR &l il zE15#E 31/

E

A. FHERTIEEIRAR

B. EHESLIEE ~ #HETH IR

C. LR ~ =%

D1. MR IXZIEBR - &—180.001mm
Ef£00.002mm

D2. 2ZZEIR » &—480.05mm » BEf£20.1mm

E. ZER - 5—R1mmBEEe2mm

F. #BIESLOAE ~ il walEH O

G. B3I

HBOR Micro-Finishing Cutter Fine

Boring System.

Components

A. Cutting Insert Holder Mounting Bolt

B. Cutting Insert Holder and Insert Clamping Bolt

C. Cutting Bar

D1. Adjust the Graduation of the size, 0.001mm of each,
diameter 0.002mm

D2. Vice-graduation, 0.05mm of each, diameter g0.1mm

E. Substandard, 1mm of each, diameter g2mm

F. Body and Coolant Outlet

G. Taper Shank

B P59-61

17



MAS403 DBT

18

HE3LJ0%R
Taper Shank for Boring System

-

MAS403 DBT #E3],/J1%

-

MAS403 DBT Taper Shank
Ordaro, | hods Ho| w o Lu e M R
40258404 |DBT40-H25-40 25  |M5x0.5 25 90 40 8 60 | 1.00
40258407 |DBT40-H25-72 25 |M5x0.5 29 122 | 72 | 425 | 90 | 1.12
40258410 |DBT40-H25-100 25 |M5x0.5 29 150 | 100 | 71 123 | 1.24
40258412 |DBT40-H25-127 25 |M5x0.5 29 177 | 127 | 98 145 | 1.38
40328404 |DBT40-H32-40 32 |M6x0.75 32 103 | 40 8 75 | 1.00
40328407 |DBT40-H32-72 32 |M6x0.75 36 135 | 72 4 102 | 1.20
40328412 |DBT40-H32-120 32 |M6x0.75 3 | 183 | 120 | 89 150 | 1.55
40328413 |DBT40-H32-135 32 |M6x0.75 36 198 | 135 | 104 | 165 | 1.66
40408404 |DBT40-H40-40 40 |M8x0.75 40 103 | 40 11 73 | 1.05
40408407 |DBT40-H40-72 40 |M8x0.75 44 135 | 72 42 102 | 1.31
40408413 |DBT40-H40-130 40 |M8x0.75 44 193 | 130 | 99 162 | 1.95
40408418 |DBT40-H40-185 40 |M8x0.75 44 | 248 | 185 | 154 | 212 | 252
40508405 |DBT40-H50-50 50 |M10x1.0 50 130 | 50 22 102 | 1.15
40508409 |DBT40-H50-90 50 |M10x1.0 56 170 | 90 | 605 | 142 | 1.72
40508413 |DBT40-H50-130 50 |M10x1.0 56 | 210 | 130 | 100.5 | 182 | 2.20
40508417 |DBT40-H50-170 50 |M10x1.0 56 | 250 | 170 | 140.5 | 222 | 3.07
40638405 |DBT40-H63-55 63 |M12x1.0 63 135 | 55 28 102 | 1.24
40638410 |DBT40-H63-105 63 |M12x1.0 63 185 | 105 | 78 152 | 2.45
40638415 |DBT40-H63-155 63 |M12x1.0 63 | 235 | 155 | 128 | 202 | 3.54




UIHIREDIR . L

Cutting Fluid Route \ 1'5»&«

u \
=)
‘ 25 | L2
L IEE] | L1
Cutting Fluid Route | L
| M
—
L1

MAS403 DBT #E3./J#f
MAS403 DBT Taper Shank

S Modo Holowm | g | e L e v R
40258511 DBT50-H25-115 25 M5x0.5 50 29 165 115 52 102 415
40258514 DBT50-H25-140 25 M5x0.5 50 29 190 140 77 127 4.30
40258516 DBT50-H25-165 25 |M5x0.5 50 29 215 165 102 152 4.40
40328513 DBT50-H32-135 32 M6x0.75 63 36 198 135 72 135 4.55
40328516 DBT50-H32-165 32 M6x0.75 63 36 228 165 102 165 4.80
40328520 DBT50-H32-200 32 M6x0.75 63 36 263 200 137 200 5.00
40408513 DBT50-H40-135 40 M8x0.75 70 44 198 135 72 135 4.90
40408518 DBT50-H40-185 40 M8x0.75 70 44 248 185 122 185 5.45
40408522 DBT50-H40-225 40 M8x0.75 70 44 288 225 162 225 5.90
40408526 DBT50-H40-265 40 |M8x0.75 70 44 328 265 202 265 6.30
40508506 DBT50-H50-65 50 M10x1.0 - 50 145 65 22 102 3.80
40508516 DBT50-H50-165 50 |[M10x1.0 - 56 245 165 122 202 5.35
40508521 DBT50-H50-215 50 M10x1.0 - 56 295 215 172 252 6.30
40508526 DBT50-H50-265 50 |M10x1.0 - 56 345 265 222 302 7.20
40638506 DBT50-H63-65 63 M12x1.0 - 63 145 65 22 102 3.80
40638508 DBT50-H63-85 63 |[M12x1.0 - 63 165 85 42 122 4.30
40638516 DBT50-H63-165 63 M12x1.0 - 70 245 165 122 202 6.20
40638521 DBT50-H63-215 63 |M12x1.0 - 70 295 215 172 252 7.75
40638526 DBT50-H63-265 63 |[M12x1.0 - 70 345 265 222 302 8.70
40638531-8 |DBT50-H63-315 ¢ 80 63 |M12x1.0 - 80 395 315 272 352 10.90
40808507 DBT50-H80-70 80 |[M20x1.5 - 80 150 70 27 102 4.00
40808511 DBT50-H80-115 80 |M20x1.5 - 80 195 115 72 152 5.55
40808516 DBT50-H80-165 80 |[M20x1.5 - 80 245 165 122 202 7.25
40808521 DBT50-H80-215 80 M20x1.5 - 80 295 215 172 252 9.00
40808526 DBT50-H80-265 80 [M20x1.5 - 80 345 265 222 302 10.75
40808531 DBT50-H80-315 80 M20x1.5 - 80 395 315 272 352 12.45
41008510 DBT50-H100-100 100 |M24x2.0 - 100 200 100 62 - 5.95
41008585 DBT50-H100-150 100 |M24x2.0 - 100 250 150 112 - 8.60
41008520 DBT50-H100-200 100 |M24x2.0 - 100 300 200 162 - 11.55
41008525 DBT50-H100-250 100 |M24x2.0 - 100 350 250 212 - 14.50




MAS403 BT

&34
Taper Shank for Boring System

20

MAS403 BT 3L
MAS403 BT Taper Shank
SrdorNs. | Mode Ho| Hw I R L T
40251303 |BT30-H25-35 25 |M5x0.5 25 85 85) 9 60 0.40
40251305 |BT30-H25-55 25 |M5x0.5 25 105 55 29 75 0.49
40321303 |BT30-H32-35 32 |M6x0.75 32 98 35 9 75 0.45
40321305 |BT30-H32-55 32 |M6x0.75 32 118 55 31.5 93 0.54
40401303 |BT30-H40-35 40 |M8x0.75 40 98 35 14 75 0.45
40401305 |BT30-H40-55 40 |M8x0.75 40 118 55 32 93 0.63
40501304 |BT30-H50-45 50 |M10x1.0 50 125 45 23 93 0.57
40631306 |BT30-H63-65 63 |M12x1.0 63 145 65 43 93 0.91
Srdorh. | Mod Ho| Hw N L T
40251404 |BT40-H25-40 25 |M5x0.5 25 90 40 8 60 1.00
40251407 |BT40-H25-72 25 |M5x0.5 29 122 72 42.5 90 1.12
40251410 |BT40-H25-100 25 |M5x0.5 29 150 100 71 123 1.24
40251412 |BT40-H25-127 25 |M5x0.5 29 177 127 98 145 1.38
40321404 |BT40-H32-40 32 |M6x0.75 32 103 40 8 75 1.00
40321407 |BT40-H32-72 32 |M6x0.75 36 135 72 41 102 1.20
40321412 |BT40-H32-120 32 |M6x0.75 36 183 120 89 150 1.55
40321413 |BT40-H32-135 32 |M6x0.75 36 198 135 104 165 1.66
40401404 |BT40-H40-40 40 |M8x0.75 40 103 40 11 73 1.05
40401407 |BT40-H40-72 40 |M8x0.75 44 135 72 42 102 1.31
40401413 |BT40-H40-130 40 |M8x0.75 44 193 130 99 162 1.95
40401418 |BT40-H40-185 40 |M8x0.75 44 248 185 154 212 2.52
40501405 |BT40-H50-50 50 |M10x1.0 50 130 50 22 102 1.15
40501409 |BT40-H50-90 50 |[M10x1.0 56 170 90 60.5 142 1.72
40501413 |BT40-H50-130 50 |M10x1.0 56 210 130 | 100.5 | 182 2.20
40501417 |BT40-H50-170 50 |[M10x1.0 56 250 170 140.5 | 222 3.07
40631405 |BT40-H63-55 63 |M12x1.0 63 135 515 28 102 1.24
40631410 |BT40-H63-105 63 |M12x1.0 63 185 105 78 152 2.45
40631415 |BT40-H63-155 63 |M12x1.0 63 235 55 128 202 3.54




XX

%

XX

XX

o

YIHIARENHR

Cutting Fluid Route

©

— 25
L1
L
EDEIRENS | M
Cutting Fluid Route | @iHM
= !
o
51 o (©] == L
r— i
L1 !
MAS403 BT 1E3L/JHA
MAS403 BT Taper Shank
Sraro, | Model S L IO 0 T B B L K
40251511 |BT50-H25-115 25 |M5x0.5 50 29 165 | 115 | 52 102 | 4.15
40251514  |BT50-H25-140 25 |M5x0.5 50 29 190 | 140 | 77 | 127 | 4.30
40251516 |BT50-H25-165 25  |M5x0.5 50 29 | 215 | 165 | 102 | 152 | 4.40
40321513 |BT50-H32-135 32 |M6x0.75 | 63 36 198 | 135 | 72 135 | 4.55
40321516  |BT50-H32-165 32 |M6x0.75 | 63 36 | 228 | 165 | 102 | 165 | 4.80
40321520  |BT50-H32-200 32 |M6x0.75 | 63 36 | 263 | 200 | 137 | 200 | 5.00
40401513 |BT50-H40-135 40 |M8x0.75 | 70 44 198 | 135 | 72 135 | 4.90
40401518  |BT50-H40-185 40 |M8x0.75 | 70 44 | 248 | 185 | 122 | 185 | 5.45
40401522  |BT50-H40-225 40 |M8x0.75 | 70 44 | 288 | 225 | 162 | 225 | 5.90
40401526  |BT50-H40-265 40 |M8x0.75 | 70 44 | 328 | 265 | 202 | 265 | 6.30
40501506  |BT50-H50-65 50 |M10x1.0 - 50 145 | 65 22 102 | 3.80
40501516  |BT50-H50-165 50 |M10x1.0 - 56 | 245 | 165 | 122 | 202 | 5.35
40501521  |BT50-H50-215 50 |M10x1.0 - 56 | 295 | 215 | 172 | 252 | 6.30
40501526  |BT50-H50-265 50 |M10x1.0 - 56 | 345 | 265 | 222 | 302 | 7.20
40631506  |BT50-H63-65 63 |M12x1.0 - 63 145 | 65 22 102 | 3.80
40631508  |BT50-H63-85 63 [M12x1.0 - 63 165 | 85 42 122 | 4.30
40631516  |BT50-H63-165 63 |M12x1.0 - 70 | 245 | 165 | 122 | 202 | 6.20
40631521  |BT50-H63-215 63 [M12x1.0 - 70 | 295 | 215 | 172 | 252 | 7.75
40631526  |BT50-H63-265 63 |M12x1.0 - 70 | 345 | 265 | 222 | 302 | 870
40631531-8 |BT50-H63-315 ¢80 | 63 |M12x1.0 - 80 | 395 | 315 | 272 | 352 | 10.90
40801507  |BT50-H80-70 80 |M20x1.5 - 80 150 | 70 27 | 102 | 4.00
40801511  |BT50-H80-115 80 |M20x1.5 - 80 195 | 115 | 72 152 | 5.55
40801516  |BT50-H80-165 80 |M20x1.5 - 80 | 245 | 165 | 122 | 202 | 7.25
40801521  |BT50-H80-215 80 |M20x1.5 - 80 | 295 | 215 | 172 | 252 | 9.00
40801526  |BT50-H80-265 80 |M20x1.5 - 80 | 345 | 265 | 222 | 302 |10.75
40801531  |BT50-H80-315 80 |M20x1.5 - 80 | 395 | 315 | 272 | 352 | 12.45
41001510  |BT50-H100-100 100 |M24x2.0 - 100 | 200 | 100 | 62 - 5.95
41001515  |BT50-H100-150 100 |M24x2.0 - 100 | 250 | 150 | 112 - 8.60
41001520  |BT50-H100-200 100 |M24x2.0 - 100 | 300 | 200 | 162 - | 1155
41001525  |BT50-H100-250 100 |M24x2.0 - 100 | 350 | 250 | 212 - | 1450
# EFETHDBTRY]

% BT series sold out will change to DBT series.

21



DIN69871A

SK¥E3L /IR
Taper Shank for Boring System

22

DIN69871A &3, JJ#R

DIN69871A Taper Shank

Hi=t5d g 3 B
o?if“ho. Modtl H HM d1 L L1 L2 M ﬁ.w.
40252303 |1SO30-H25-30 25 |M5x0.5 25 80 30 9 60 | 0.39
40322303 |1SO30-H32-35 32 |M6x0.75 32 98 35 14 75 | 0.42
40402303 |1SO30-H40-35 40 |M8x0.75 40 98 35 14 75 | 0.44
40502305 |1SO30-H50-55 50 |M10x1.0 50 135 55 35 112 | 0.67
Hi=t0 RO 3 E
Ordei”ho. Modfl H HM d1 L L1 L2 M fl.w.
40252403 |1SO40-H25-30 25 |M5x0.5 25 80 30 10 60 | 0.83
40252406 |1SO40-H25-65 25 |M5x0.5 28 115 65 41 90 | 0.96
40252410 |1SO40-H25-100 25 |M5x0.5 29 150 | 100 79 125 | 1.15
40322403 [1ISO40-H32-35 32 |M6x0.75 32 98 35 15 75 | 0.86
40322406 |1SO40-H32-65 32 |M6x0.75 35 128 65 42 102 | 1.05
40322408 [1SO40-H32-84 32 |M6x0.75 36 147 84 61 123 | 1.15
40322411 |I1SO40-H32-115 32 |M6x0.75 36 178 | 115 92 152 | 1.40
40402403 [1ISO40-H40-35 40 |M8x0.75 40 98 35 15 75 | 0.88
40402406 |1SO40-H40-65 40 |M8x0.75 43 128 65 43 102 | 1.17
40402410 |1ISO40-H40-104 40 |M8x0.75 44 167 | 104 82 143 | 1.50
40402416 |1SO40-H40-165 40 |M8x0.75 44 228 | 165 | 143 | 202 | 2.12
40502405  |1SO40-H50-50 50 |M10x1.0 50 130 50 30 102 | 1.08
40502410 |1SO40-H50-104 50 |M10x1.0 50 184 | 104 84 163 | 1.81
40502415 |1SO40-H50-150 50 |M10x1.0 50 230 | 150 | 130 | 202 | 2.47
40632406 |1SO40-H63-60 63 |M12x1.0 63 140 60 40 115 | 1.23
40632411 |1SO40-H63-110 63 |M12x1.0 63 190 | 110 90 165 | 2.32




L
EDEIR EhHR | M
Cutting Fluid Route A
!21! L2
L1
EDEIAENER
Cutting Fluid Route :U:
L1
DIN69871A #E3L/J4R
DIN69871A Taper Shank
Lkt Moo Ho v a L u e M R
40252509 [ISO50-H25-92 25 |M5x0.5 80 29 142 92 52 102 | 3.45
40252511 [ISO50-H25-117 25 |M5x0.5 80 29 167 | 117 77 127 | 3.55
40252514 [ISO50-H25-142 25 |M5x0.5 80 29 192 | 142 | 102 | 152 | 3.65
40322511 [ISO50-H32-112 32 |M6x0.75 | 80 36 175 | 112 72 135 | 3.65
40322514 [ISO50-H32-144 32 |M6x0.75 | 80 36 207 | 144 | 104 | 165 | 3.90
40322517 [ISO50-H32-176 32 |M6x0.75 | 80 36 239 | 176 | 136 | 200 | 4.10
40402511 [ISO50-H40-112 40 |M8x0.75 | 80 44 175 | 112 72 135 | 3.85
40402516 [ISO50-H40-162 40 |M8x0.75 | 80 44 225 | 162 | 122 | 185 | 4.40
40402520 [ISO50-H40-202 40 |M8x0.75 | 80 44 265 | 202 | 162 | 225 | 4.85
40402524  [ISO50-H40-242 40 |M8x0.75 | 80 44 305 | 242 | 202 | 265 | 5.30
40502505 [1ISO50-H50-50 50 |M10x1.0 | 80 50 130 50 18 98 3.35
40502516 [ISO50-H50-162 50 |M10x1.0 | 80 56 242 | 162 | 125 | 202 | 3.15
40502521 [ISO50-H50-212 50 |M10x1.0 | 80 56 292 | 212 | 175 | 252 | 5.80
40502526 [1ISO50-H50-262 50 |M10x1.0 | 80 56 342 | 262 | 225 | 302 | 6.60
40632506 |ISO50-H63-65 63 |M12x1.0 | 80 63 145 65 28 108 | 3.50
40632516 [ISO50-H63-162 63 |M12x1.0 | 80 70 242 | 162 | 125 | 202 | 5.70
40632521 [ISO50-H63-212 63 |M12x1.0 | 80 70 292 | 212 | 175 | 252 | 6.95
40632526 |ISO50-H63-262 63 |M12x1.0 | 80 70 342 | 262 | 225 | 302 | 8.15
40802507 |ISO50-H80-70 80 |M20x1.5 | 80 - 150 70 50 125 | 3.70
40802510 [ISO50-H80-100 80 |M20x1.5 | 80 - 180 | 100 80 152 | 4.72
40802515 [ISO50-H80-150 80 |M20x1.5 | 80 - 230 | 150 | 130 | 202 | 6.44
40802520 [ISO50-H80-200 80 |M20x1.5 | 80 - 280 | 200 | 180 | 252 | 8.16
40802525 [ISO50-H80-250 80 |M20x1.5 | 80 - 330 | 250 | 230 | 302 | 9.88
40802530 [ISO50-H80-300 80 |M20x1.5 | 80 - 380 | 300 | 280 | 352 | 11.60
41002510 [ISO50-H100-100 100 |M24x2.0 - 100 | 200 | 105 85 - 6.20
41002515 [ISO50-H100-150 100 |M24x2.0 - 100 | 250 | 150 | 130 - 8.50
41002520 [ISO50-H100-200 100 |M24x2.0 - 100 | 300 | 200 | 180 - 11.35
41002525 [1ISO50-H100-250 100 |M24x2.0 - 100 | 350 | 250 | 230 - 14.30




&34
Taper Shank for Boring System

PN

YIHIREDHR ‘ \

Cutting Fluid Route

I3 ] 2 -H:‘s

EZ ¥ T
DIN2080 (mm) #E3L7J#R | L1
DIN2080 (mm) Taper Shank
S | Mroa How | e L ju e m RE
40250304M |ISO30-H25-40 25 |M5x0.5 - 25 90 40 22 72 0.40
40320304M |ISO30-H32-40 32 |M6x0.75 - 32 103 40 27 90 0.45
40400304M |ISO30-H40-40 40 |M8x0.75 - 40 103 40 30 90 0.55
40500305M |ISO30-H50-50 50 |M10x1.0 - 50 130 50 42 120 | 0.75
40630306M |ISO30-H63-60 63 |M12x1.0 - 63 140 60 52 130 | 1.13
40250406M |1SO40-H25-60 25 |M5x0.5 - 29 122 60 45 95 0.95
40320406M |ISO40-H32-60 32  |M6x0.75 - 37 135 60 42 102 | 1.03
40400406M |ISO40-H40-60 40 |M8x0.75 - 44 135 60 43 102 | 1.14
40500403M |ISO40-H50-35 50 |M10x1.0 - 50 115 35 22 102 | 0.93
40630405M |ISO40-H63-55 63 |M12x1.0 - 63 140 55 42 102 | 1.40
40250511M |ISO50-H25-115 25 |M5x0.5 50 29 165 115 72 122 | 3.40
40320513M |ISO50-H32-135 32 |M6x0.75 | 63 36 198 | 135 92 155 | 3.90
40400516M |ISO50-H40-165 40 |M8x0.75 | 70 45 248 | 165 122 185 | 4.60
40500505M |ISO50-H50-50 50 |M10x1.0 - 50 130 50 27 102 | 3.20
40500520M |ISO50-H50-200 50 |M10x1.0 - 56 280 | 200 172 | 252 | 5.50
40630506M |ISO50-H63-65 63 |M12x1.0 - 63 145 65 37 122 | 350
40630524M |ISO50-H63-245 63 |M12x1.0 - 70 325 | 245 | 222 | 302 | 7.90
40800507M |ISO50-H80-70 80 |M20x1.5 - 80 150 70 47 125 | 3.90
40800521M |ISO50-H80-215 80 |M20x1.5 - 80 295 | 215 192 | 272 | 8.90
41000510M |ISO50-H100-100 100 |M24x2.0 - 100 | 200 | 100 80 - 6.20
41000520M |ISO50-H100-200 100 |M24x2.0 - 100 | 300 | 200 180 - 11.90
DIN2080 (inch) &3 7]
DIN2080 (inch) Taper Shank
Stder Ko, Mo Ho | w | o L u e w RE
402503041 |ISO30-H25-40 25 |M5x0.5 - 25 90 40 22 72 0.40
403203041  |ISO30-H32-40 32 |M6x0.75 - 32 103 40 27 90 0.45
404003041 |ISO30-H40-40 40 |M8x0.75 - 40 103 40 30 90 0.55
405003051 {ISO30-H50-50 50 |M10x1.0 - 50 130 50 42 120 | 0.75
406303061 |ISO30-H63-60 63 |M12x1.0 - 63 140 60 52 130 | 1.13
402504061 |ISO40-H25-60 25 |M5x0.5 - 29 122 60 45 95 0.95
403204061 |ISO40-H32-60 32 |M6x0.75 - 37 135 60 42 102 | 1.03
404004061 |ISO40-H40-60 40 |M8x0.75 - 44 135 60 43 102 | 1.14
405004031 |ISO40-H50-35 50 |M10x1.0 - 50 115 35 22 102 | 0.93
406304051 |ISO40-H63-55 63 |M12x1.0 - 63 140 55 42 102 | 1.40
402505111 |ISO50-H25-115 25 |M5x0.5 50 29 165 115 72 122 | 3.40
403205131  |ISO50-H32-135 32 |M6x0.75 | 63 36 198 | 135 92 155 | 3.90
404005161  |{ISO50-H40-165 40 |M8x0.75 | 70 45 248 | 165 122 185 | 4.60
405005051 {ISO50-H50-50 50 |M10x1.0 - 50 130 50 27 102 | 3.20
405005201  |ISO50-H50-200 50 |M10x1.0 - 56 280 | 200 172 | 252 | 550
406305061 |ISO50-H63-65 63 |M12x1.0 - 63 145 65 37 122 | 3.50
406305241  |[ISO50-H63-245 63 |M12x1.0 - 70 325 | 245 | 222 | 302 | 7.90
408005071 {ISO50-H80-70 80 |M20x1.5 - 80 150 70 47 125 | 3.90
408005211  |ISO50-H80-215 80 |M20x1.5 - 80 295 | 215 192 | 272 | 8.90
410005101  |ISO50-H100-100 100 |M24x2.0 - 100 | 200 | 100 80 - 6.20
410005201  |ISO50-H100-200 100 |M24x2.0 - 100 | 300 | 200 180 - 11.90

24



DIN69893A - ANSI ~ B ~ #E3L/J#R
DIN69893A, ANSI, Straight Shank, Taper Shank for Boring System

CIERENR

Cutting Fluid Route

DIN69893A &3, JJ1R
DIN69893A Shank

2

L

‘WHM

1]

M

©

1y

s
R

G| Rk Hol | v n | ow (R
40254604 |HSK63-H25-40 25 M5x0.5 90 40 60 0.66
40254608 |HSK63-H25-85 25 M5x0.5 135 85 102 0.90
40324604 |HSK63-H32-40 32 M6x0.75 103 40 75 0.67
40324609 |HSK63-H32-95 32 M6x0.75 158 95 126 1.10
40404604 |HSK63-H40-45 40 M8x0.75 108 45 80 0.74
40404612 |HSK63-H40-120 40 M8x0.75 183 120 152 1.60
40504605 |HSK63-H50-57 50 M10x1.0 137 57 110 1.15
40504612 |HSK63-H50-120 50 M10x1.0 200 120 172 1.90
40634606 |HSK63-H63-67 63 M12x1.0 147 67 102 1.16
40634907 |HSK100-H63-75 63 M12x1.0 155 75 122 2.78
40634915 |HSK100-H63-155 63 M12x1.0 235 155 200 4.80
40634920 |HSK100-H63-205 63 M12x1.0 285 205 250 6.06
40804908 |HSK100-H80-80 80 M20x1.5 160 80 130 3.30
40804910 |HSK100-H80-100 80 M20x1.5 180 100 150 4.00
40804915 |HSK100-H80-155 80 M20x1.5 235 155 202 5.90
40804920 |HSK100-H80-205 80 M20x1.5 285 205 252 7.60
41004911 |HSK100-H100-115| 100 |M24x2.0 215 115 170 5.60
IR EN SR

ANSI #E31.7J1R
ANSI Taper Shank

Cutting Fluid Route

Graa, | ods L U
40253406 |CAT40-H25-63 25 |M5x0.5 113 63 90 0.96
40323406 |CAT40-H32-63 32 |M6x0.75 126 63 102 1.04
40403406 |CAT40-H40-63 40 |M8x0.75 126 63 102 1.14
40503405 |CAT40-H50-55 50 |M10x1.0 135 55 102 1.11
40503505 |CAT50-H50-50 50 |M10x1.0 130 50 102 2.85
40633506 |CAT50-H63-65 63 |M12x1.0 145 65 122 3.25
40803507 |CAT50-H80-70 80 |M20x1.5 150 70 125 3.45
8

(=L

Straight Shank
Sk, | Moas c | v W u | owm | RE
40032503 |C32-H25-35 32 |M5x0.5 25 B85 85 0.62
40033204 |C32-H32-40 32 |M6x0.75 32 40 102 0.67
40034004 |C32-H40-40 32 |M8x0.75 40 40 102 0.69
40035004 |C32-H50-40 32 |M10x1.0 50 40 120 0.86
40036305 |C32-H63-55 32 |M12x1.0 63 55 135 1.41

25



IERET - IRHIR - 18
Extension Spacer, Carbide Shank, Shank for Boring System

CIEIRENHR
Cutting Fluid Route @
T ﬁ g
Q| < ol
¢
ERIER
Extension Spacer

GlaorNe. | Mods | M | M | mm | u | om  RE

42252502 |h25H25-25 25 25 |M5x0.5 25 75 0.09

42252505 |h25H25-50 25 25 M5x0.5 50 100 0.18

42323203 |h32H32-32 32 32 |M6x0.75 32 95 0.18

42323206 |h32H32-64 32 32 M6x0.75 64 125 0.37

42404004 |h40H40-40 40 40 |M8x0.75 40 102 0.37

42404008 |h40H40-80 40 40 |M8x0.75 80 142 0.92

42505005 |h50H50-50 50 50 |[M10x1.0 50 130 0.69

42505010 |h50H50-100 50 50 M10x1.0 100 180 1.41

42636306 |h63H63-63 63 63 |[M12x1.0 63 143 1.40

42636312 |h63H63-126 63 63 M12x1.0 126 205 2.77

42808008 |h80H80-80 80 80 |M20x1.5 80 160 2.80

42808016 |h80H80-160 80 80 M20x1.5 160 240 5.60

42101010 |h100H100-100 100 100 |M24x2.0 100 200 5.7

42101020 |h100H100-200 100 100 |M24x2.0 200 300 11.30

CDHEIRENHR
Cutting Fluid Route DM
i \ 3 £

EIEHROR ] c X d 1% =]

Order No. Model Shank N.W.

45072515 |SC25M12-150 150 0.93

45072520 |SC25M12-200 200 1.26

45072525 |SC25M12-250 25 250 U289 || S e ) 1.58

45072530 |SC25M12-300 300 1.91

45073215 |SC32M16-150 150 1.50

45073220 |SC32M16-200 200 2.05

45073225 |SC32M16-250 32 250 17| SM16H32-52 2.59

45073230 |SC32M16-300 300 3.15

bEd
Shank

STERR g 1 Wl omm | m L $BIIT M1 R E|B B
Order No. Model Carbide Shank | BMH HBIT | HBOR DM N.W.
45081225 |SM12H25-25 25 |M5x0.5 M12 25 SC25M12 30 50 50 175 0.09
45081632 |SM16H32-32 32 |M6x0.75 M16 32 SC32M16 37 63 63 224 0.18

26



MBS 1T

Stepped Spacer for Boring System

1@

f-— N —

5 g 2
@ 5H32-67 l

L1
fEEEg
Stepped Spacer
SN, | ods L R I = U
43322503 |h32H25-25 32 25 M5x0.5 32 23 75 0.14
43322505 |h32H25-48 32 25 M5x0.5 57 48 100 0.22
43402504 |h40H25-30 40 25 M5x0.5 40 28 75 0.24
43402506 |h40H25-50 40 25 M5x0.5 65 53 105 0.33
43403204 |h40H32-30 40 32 M6x0.75 40 28 92 0.28
43403207 |h40H32-60 40 32 M6x0.75 72 60 123 0.46
43502505 |h50H25-35 50 25 M5x%0.5 50 30 85 0.44
43502507 |h50H25-60 50 25 M5x0.5 75 55 110 0.53
43503205 |h50H32-35 50 32 M6x0.75 50 30 98 0.45
43503208 |h50H32-67 50 32 M6x0.75 82 62 130 0.64
43504005 |h50H40-35 50 40 M8x0.75 50 33 98 0.55
43504009 |h50H40-75 50 40 M8x0.75 90 73 138 1.10
43632506 |h63H25-40 63 25 M5x0.5 63 38 90 0.73
43632509 |h63H25-70 63 25 M5x0.5 93 68 120 0.84
43632511 |h63H25-90 63 25 M5x%0.5 113 88 140 0.91
43633206 |h63H32-40 63 32 M6x0.75 63 38 102 0.83
43633210 |h63H32-80 63 32 M6x0.75 107 82 145 1.08
43633212 |h63H32-100 63 32 M6x0.75 127 102 165 1.21
43634006 |h63H40-40 63 40 M8x0.75 63 40 102 0.94
43634011 |h63H40-90 63 40 M8x0.75 113 90 153 1.64
43634014 |h63H40-120 63 40 M8x0.75 143 120 183 2.04
43635006 |h63H50-40 63 50 M10x1.0 63 44 120 1.09
43635012 |h63H50-100 63 50 M10x1.0 123 104 180 1.95
43635016 |h63H50-140 63 50 M10x1.0 163 144 220 2.53
43802508 [h80H25-50 80 25 M5x0.5 80 50 100 1.45
43802511 |h80H25-80 80 25 M5x0.5 110 80 130 1.6
43802513 |h80H25-100 80 25 M5x0.5 130 100 150 1.70
43803208 |h80H32-50 80 32 M6x0.75 80 50 112 1.55
43803212 |h80H32-90 80 32 M6x0.75 120 90 150 1.85
43803214 |h80H32-115 80 32 M6x0.75 145 115 175 2.05
43804008 [h80H40-50 80 40 M8x0.75 80 50 112 1.70
43804013 |h80H40-100 80 40 M8x0.75 130 100 162 2.20
43804016 |h80H40-130 80 40 M8x0.75 160 130 190 2.50
43805008 |h80H50-50 80 50 M10x1.0 80 50 130 1.95
43805015 [h80H50-120 80 50 M10x1.0 150 120 200 3.10
43805018 |h80H50-150 80 50 M10x1.0 180 150 230 3.55
43806308 |[h80H63-60 80 63 M12x1.0 80 60 140 2.30
43806316 |h80H63-140 80 63 M12x1.0 160 140 220 4.05
43806320 |h80H63-186 80 63 M12x1.0 206 186 265 5.05

27



28

LRESLESRR-EILTEE

Adjustable Twin Cutter Roughing and Semi-Finishing Boring System - lllustration Diagram

Stanny BT50-H63-85 M:122

Gtanny  BT50-H63-85 M:122

Gtanny BT50-H63-85 M:122

Gtanny BT50-H63-85 M:122

Gtanny  BT50-H63-85 M:122

an
SACCTO%0 7

L1

| 1

1ap

Tan
SACCT0%0 7

%0

()
— -

S
. L ©
=
3 o o
© @5 a o
g
r Ve
apré3 =

8] 18
SACC and SACC Cutting Insert Holders
HBIT-AA

87 EREMEE

SACC and SBCC Cutting Insert Holders
HBIT-AB

€87 —80°4E1E
EMSC and EMSC 80° Cutting Insert Holders
HBIT-MM

EB7)—45°ER A
IWSC Positive and Negative 45° Chamfer
Cutting Insert Holder and Apron

HBIT-AW
T

D2>e
D2x2-D>HBIT

B7)—RiE3L

RKCC Reverse Cutting Insert Holder and
Apron

HBIT-AK

T

D2>e
Dox2-D>HBIT



HBIT

Stanny

€M IE LR MR

Adjustable Twin Cutter Roughing
and Semi-Finishing Boring System



tanny, HBIT S2ERL0R#®

Adjustable Twin Cutter Roughing and Semi-Finishing Boring System

A..-,Y
1 1]
|

00000/

@ pokeses MR

SERIBLIHIEYE - RABARKRE1E
£ e m e EB B UR  IEN
ERREARY » BT ERHED) - E5RHE
EBIEELIEISUER I BSAIRRRA 1565

1. Loosen locking bolt A
2. Rotate the adjusting screw to adjust the
size, then tighten the locking bolt A.




HBIT g
le Twin Cutter Roughing and Semi-Finishing Boring System

HB1E3L7)AEE Body

45°1E R B ) EE
FEVESLIIEE FEVESLR BT EE 80°$E1E3L I EE 45° Chamfer Cutting
Cutting Insert Holder Reverse Cutting Insert Holder 80° Cutting Insert Holder Insert Holder
— W ‘<— — W\ |-
2 .
<4 ‘
RIESLER RIEILER
Apron Apron
=
m
I
HBIT &7)18E37)-48
Body for HBIT Adjustable Twin Cutter Roughing

STE R w8 R iR d X MA MB FE

Order No. Model h Bolt Bolt N.W.

31000025 |HBIT25 25 14 40 M4x10 M4x18 0.15

31000032 |HBIT32 32 18 50 M5x10 M5x20 0.33

31000040 |HBIT40 40 22 48 M6x12 M6x20 0.48

31000050 |HBIT50 50 28 62 M6x14 M6x25 0.96

31000063 |HBIT63 63 36 58 M8x16 M8x30 1.54

S ta n n 31000080 |HBIT80 63 36 58 M8x16 M8x30 1.96

- ) ® 31000080E |HBIT80E 80 46 58 M8x16 M8x30 2.42

31000120 |HBIT120 100 56 73 M10x20 M10x40 5.85

31



HBIT

BlCeuTo9Ts. S TSH-M410
TORX-TI5 HBITSD

e T

G SCMTOST3. =0 TS4-M

= PTORXTIS
Heimso” @

32

EE Cutting Insert Holder

3L.7JEE 80° Cutting Insert Holder

HBIT 1BH#E3 T EE
Cutting Insert Holder for HBIT Adjustable Twin Cutter Roughing
nums (PEARLIE mg | HE Dl w | o | DF  |#LE| #m | 83 |sE
Order No. Holder System 2DMin-oDMax Insert ap Bolt | Wrench | N.W.
30252936A |SACC2936 29-36 25.9 0.01
HBIT25 0.5-1 i
30253542A |SACC3542 35-42 124 | 3%8 | comTos02 TS25 g | 002
30323645A |SACC3645 | | oo | 36-45 7 s [ mes 0.02
30324453A |SACC4453 44-53 38 0.02
30404556A |SACC4556 45-56 40 0.04
HBIT4 16 0.5-1 i
30405566A |SACC5566 01 5566 465 | L\ iroors TS4 s | 005
30505674A |SACCE674 | o | 5674 79| 4 | e 0.07
30507492A |SACC7492 74-92 ) 0.09
30637090A [SACCT090 | | oo | 70-90 61 0.13
30639011A |SACC90110 90-110 baq | 785 0.18
30809013A |SACC90130 90-130 | 80.5 0.5-1 | 1g5. 0.18
30813017A |[SACC130170 :;'TTS%OE 130-170 100.5 | CCMT1204.. T25 | 0.24
30817021A |SACC170210 170-210 | 25.1 | 125 1.5 | M5 0.34
30912013A [SACC130190 130-190 119.5 0.41
HBIT12 27.
30912017A |SACC170230 0 170-230 % 1305 0.52
HBIT fBH#E3| I EE
Cutting Insert Holder for HBIT Adjustable Twin Cutter Roughing
nme (PEERLE zg | BED L w | o | PR |mLE| #n | 53 2=
Order No. Holder System 2DMin-eDMax Insert ap Bolt | Wrench | N.W.
302529368 |SBCC2936 29-36 25.9 0.01
302535428 |SBOCa542 | 12120 | 5540 118 | %6 | comrosos 0.5-1 | Ts25- s | 002
303236458 |SBCC3645 | | . | 8645 7 s | mes 0.02
303244538 | SBCC4453 44-53 38 0.02
304045568 | SBCC4556 45-56 40 0.04
HBIT40 15.6 0.5-1 .
304055668 | SBCC5566 55-66 465 | .\ iTooTa TS4 s | 005
305056748 |SBCC5674 | | oo | 56-74 75| 49 | ma 0.07
305074928 | SBCC7492 74-92 2 oe2 0.09
306370908 [SBCC7090 | | 7000 61 0.13
306390118 |SBCC90110 90-110 ap7 | 785 0.18
30809013B |SBCC90130 90-130 | 80.5 0.5-1 | 1g5. 0.18
308130178 |SBCC130170 lj';%%oE 130-170 100.5 | CCMT1204.. T25 | 0.24
30817021B |SBCC170210 170-210 | 24.7 | 125 15 | M5 0.33
30912013B |SBCC130190 130-190 119.5 0.40
309120178 |sBCC170230 | BN 20| 470-230 | 275 | 1305 0.51
{5t - SACCIEEFISBCCTIEEZERIFR(W).
PS. The difference of SACC Cutting Insert Holder and SBCC Cutting Insert Holder is the height(W).
HBIT 80°#21E3LJEE
80° Cutting Insert Holder for HBIT Adjustable Twin Cutter Roughing
fTiipsy | SCEELIE | o | BE D DE |Ele| es | RS |58
Order No 80" Cutting System Boring Range | W e aj Bolt | Wrench | N.W.
“ | Insert Holder | Y oDMin-oDMax Insert P WV
30252936M |EMSC2936 29-36 25.9 0.01
HBIT25 0.5-1 i
30253542M |EMSC3542 35-42 124 | 3°8 | scETos02 TS25 g | 001
30323645M |[EMSC3645 | | . | 3645 T s | mes 0.01
30324453M |EMSC4453 44-53 38 0.02
30404556M |EMSC4556 45-56 40 0.03
HBIT40 16 0.5-1 _
30405566M |EMSC5566 55-66 465 | oo TS4 s | 004
30505674M |EMSC5674 | || 56-74 183 | 4@ | e 0.06
30507492M |EMSC7492 74-92 < e2 0.09
30637090M [EMSC7090 | | 70-90 61 0.12
30639011M |EMSC90110 90-110 baq | 785 e 0.18
30809013M |[EMSC90130 | HBIT80 | 90-130 805 | o0 TS5- 15 | 017
30813017M |EMSC130170 | HBIT80E| 130-170 100.5 - M5 0.23
30912018M |EMSC180190 | o | 130-190 | /1195 1-5 0.41
30912017M |EMSC170230 170-230 11395 0.52




HBIT

REIEFEIESLJJE 45° Chamfer Cutting Insert Holder
[Z#ETIEE Reverse Cutting Insert Holder

R HESLEEIR Apron

a HBIT 45°1E R BIEEiESLJEE
£ 45° Chamfer Cutting Insert Holder for HBIT Adjustable Single Cutter Roughing
g [CEERIE wg | BED V| . | DR |mum| em | RT |sE
Order No. Insert Holder System oDMin-oDMax Insert ap Bolt |Wrench | N.W.
30252936W |IWSC2936 29-36 25.9 0.01
30253542W |IWSC3542 HBIT2S | o5 40 124 | 396 | scETo800 051 | roos. g | 001
30323645W |IWSC3645 heimas | 3645 A7) Tl | M28 0.01
| 30324453W |IWSC4453 44-53 38 0.02
30404556W |IWSC4556 45-56 40 0.03
30405566W |IWSC5566 HBIT40 | o 66 6 1465 SCMTOOT3 051 | 1sa T | 004
30505674W |IWSC5674 heiso | 58674 183 | 9 e | M4 0.06
30507492W |IWSC7492 74-92 < 62 0.09
30637090W |IWSC7090 heiTea | 7090 61 0.11
30639011W |IWSC90110 90-110 b3q | 785 01541 0.17
30809013W [IWSC90130 | HBIT80 | 90-130 "] 805 | < irio0a TS5~ | 1, | 016
CEF W 30813017W [IWSC130170 | HBIT8OE | 130-170 100.5 - M5 0.22
] 80912013W|IWSC180190 | | 180-190 | o |1195 1-5 0.39
e — f 30912017W [IWSC170230 170-230 1395 0.50
HBIT 1BHESLRHETIEE
Reverse Cutting Insert Holder for HBIT Adjustable Single Cutter Roughing
sy | BUERIR) mg | RED BE | | o | DF |ELE|wm mT s
Order No. Insert Holder System oDMin-oDMax Apron Insert ap Bolt |Wrench|N.W.
30252936K |[RKCC2936 29-36 4 [11] 25 0.01
30253542K |RKCC3542 | TBIT2D 3540 | 325 | 7 141 30 COMTOS02 05-1 | 1g05. 18 | 001
30323645K |RKCC3645 | oo | 36-45 g | 5|11 82 | g |M25 0.01
30324453K |RKCC4453 44-53 i 9 | 11| 38 0.02
30404556K |RKCC4556 45-56 9 | 15| 40 0.03
30405566K |[RKCC5566 | 010 5566 | 2P0 | 10 | 15 | 465 0.04
30505674K |RKCC5674 56-74 19 [17 | 485 051 | 1g, 0.06
30507492K |RKCC7492 74-92 17 |17 | 62 |CCMTO09T3.. Va4 | T15 | 0.09
aw 30509211K [RKCC92110 | HBIT50 |92-110 | apr50 |24.5| 19| 71 1-4 0.13
; 30501112K |[RKCC110128 110-128 285| 19| 80 0.15
30501214K |RKCC128146 128-146 24519 | 89 0147
e WK 30637090K | RKCC7090 70-90 12 |22 | 60 0.11
30639011K |[RKCC90110 90-110 22 (22| 78 017
30631113K [RKCC110130 | HBIT63 | 110-130 | apr63 | 25 | 24| 90 0.24
30631315K |RKCC130150 130-150 25 | 24| 100 0.28
30631517K |RKCC150170 150-170 25 |24 110 | om0 0.5-1 | 7g5. 105 | 033
30809013K [RKCC90130 | 190-130 24 | 22795 "oy | Ms 0.16
30813017K |[RKCC130170 | oo | 130-170 | apré0 | 44 | 22 | 99.5 0.22
30817021K |[RKCC170210 170-210 45 | 24| 125 0.36
30912013K |[RKCC130190 130-190 34 |27 |119.5 0.39
30912017K |RKCC170230 | 21120 | 170030 |2P120| 54 | 27 1395 0.50
HBIT #E3LER
Apron for H BIT Adjustable Single Cutter Roughing
) HEt o RO B 3 E
. Order No. Model System N.W.
VL) 30002525 |apr25 HBIT25 0.01
- Y 30003232 |apr32 HBIT32 0.01
| 30004040 |apr40 HBIT40 0.02
30005050  |apr50 HBIT50 0.04
30006363 |apr63 HBIT63 0.07 apr
HBIT80
30008080 |apr80 HBITSOE 0.09
30012012 |apri20 HBIT120 0.24

33



T

34

LA
SLOAEE

FRMERERMES(BDEFSURINERER)

s ¥8#E3|,7JEE Body and Cutting Insert Holder
» 80°#81#E3L,7JEE Body and 80° Cutting Insert Holder

SACC and SACC Cutting Insert Holders have the same Cutting Diameter and Height.

8 B D

SIEHmR R ) et EEIAYN: FELHESL TR b
Oirrdefﬁ:\lo. Mod?l BBSWXESRA%?( M1 h *Boring Hfa%(% Cuttin*g Insgrt Holder /kfl.WiE
32290000AA |HBIT25 AA 29-36 50 25 HBIT25 SACC2936 SACC2936 0.17
32350000AA |HBIT25 AA 35-42 SACC3542 SACC3542 0.19
33360000AA |HBIT32 AA 36-45 30 HBIT32 SACC3645 SACC3645 0.37
33440000AA |HBIT32 AA 44-53 63 SACC4453 SACC4453 0.37
34450000AA |HBIT40 AA 45-56 40 HBIT40 SACC4556 SACC4556 0.56
34550000AA |HBIT40 AA 55-66 SACC5566 SACC5566 0.58
35560000AA |HBIT50 AA 56-74 50 HBIT50 SACC5674 SACC5674 1.10
35740000AA |HBIT50 AA 74-92 SACC7492 SACC7492 1.14
36700000AA |HBIT63 AA 70-90 80 HBIT63 SACC7090 SACC7090 1.78
36900000AA |HBITE63 AA 90-110 SACC90110 SACC90110 1.90
38900000AA |HBIT80 AA 90-130 63 SACC90130 SACC90130 2.30
38910000AA |HBIT80 AA 130-170 HBIT80 |SACC130170 |SACC130170 2.44
38920000AA |HBIT80 AA 170-210 82 SACC170210 |SACC170210 2.64
38900000EAA |HBIT80E AA 90-130 80 SACC90130 SACC90130 2.76
38910000EAA |HBIT8OE AA 130-170 80 HBIT80E |SACC130170 [SACC130170 2.90
38920000EAA |HBIT80E AA 170-210 82 SACC170210 |SACC170210 3.10
39130000AA |HBIT120 AA 130-190 100 100 HBIT120 SACC130190 |SACC130190 6.67
39170000AA |HBIT120 AA 170-230 SACC170230 |SACC170230 6.89
AESHEERRAKES (EDASFSUHIAEER)
SACC and SBCC Cutting Insert Holders have different Cutting Diameter and Height.
newe | oms EED h |EELIE ABIE3L T 3 =
Order No. Model oDMin-eDMax Boring Head Cutting Insert Holder N.W.
32290000AB |HBIT25 AB 29-36 50 25 HBIT25 SACC2936 SBCC2936 0.17
32350000AB |HBIT25 AB 35-42 SACC3542 SBCC3542 0.19
33360000AB |HBIT32 AB 36-45 a2 HBIT32 SACC3645 SBCC3645 0.37
33440000AB |HBIT32 AB 44-53 63 SACC4453 SBCC4453 0.37
34450000AB |HBIT40 AB 45-56 40 HBIT40 SACC4556 SBCC4556 0.56
34550000AB |HBIT40 AB 55-66 SACC5566 SBCC5566 0.58
35560000AB |HBIT50 AB 56-74 50 HBIT50 SACC5674 SBCC5674 1.10
35740000AB |HBIT50 AB 74-92 SACC7492 SBCC7492 1.14
36700000AB |HBIT63 AB 70-90 80 HBIT63 SACC7090 SBCC7090 1.78
36900000AB |HBIT63 AB 90-110 63 SACC90110 |SBCC90110 1.90
38900000AB |HBIT80 AB 90-130 SACC90130 |SBCC90130 2.30
38910000AB |HBIT80 AB 130-170 HBIT80 |SACC130170 |SBCC130170 2.44
38920000AB |HBIT80 AB 170-210 82 SACC170210 |SACC170210 2.63
38900000EAB |HBIT80E AB 90-130 80 SACC90130 |SBCC90130 2.76
38910000EAB |HBIT80OE AB 130-170 80 HBIT80E |SACC130170 |SBCC130170 2.90
38920000EAB |HBIT80E AB 170-210 82 SACC170210 |SACC170210 3.09
39130000AB |HBIT120 AB 130-190 100 100 HBIT120 SACC130190 [SBCC130190 6.66
39170000AB |HBIT120 AB 170-230 SACC170230 |SBCC170230 6.88
B0 SEIHEIERIES (DS SHIEEES)
EMSC and EMSC 80° Cutting Insert Holders have the same Cutting Diameter and Height.
ETIIRSR ms BB w | o, |EEre 80" ABIE3LTIE 3 B
Order No. Model oDMin-eDMax Boring Head 80" Cutting Insert Holder N.W.
32290000MM |HBIT25 MM 29-36 50 5 HBIT25 EMSC2936 EMSC2936 0.17
32350000MM |HBIT25 MM 35-42 EMSC3542 EMSC3542 0.17
33360000MM |HBIT32 MM 36-45 30 HBIT32 EMSC3645 EMSC3645 0.35
33440000MM |HBIT32 MM 44-53 63 EMSC4453 EMSC4453 0.37
34450000MM |HBIT40 MM 45-56 40 HBIT40 EMSC4556 EMSC4556 0.54
34550000MM |HBIT40 MM 55-66 EMSC5566 EMSC5566 0.56
35560000MM |HBIT50 MM 56-74 50 HBIT50 EMSC5674 EMSC5674 1.08
35740000MM |HBIT50 MM 74-92 EMSC7492 EMSC7492 1.14
36700000MM |HBIT63 MM 70-90 HBIT63 EMSC7090 EMSC7090 1.78
36900000MM |HBIT63 MM 90-110 80 63 EMSC90110 EMSC90110 1.90
38900000MM |HBIT80 MM 90-130 HBITS0 EMSC90130 |EMSC90130 2.30
38910000MM |HBIT80 MM 130-170 EMSC130170 |EMSC130170 2.42
38900000EMM |HBIT80E MM 90-130 80 HBITS0E EMSC90130 |EMSC90130 2.76
38910000EMM |HBIT80E MM 130-170 EMSC130170 |[EMSC130170 2.88
39130000MM |HBIT120 MM 130-190 100 100 HBIT120 EMSC130190 |[EMSC130190 6.67
39170000MM |HBIT120 MM 170-230 EMSC170230 |EMSC170230 6.89




HBIT A8 - 45°IF 2 B A #R1E 31, JJEE Body and 45° Chamfer Cutting Insert Holder
B2  181E3| K24 TJEE Body and Reverse Cutting Insert Holder

45°IE[? BIBRIEEERIES

Body and 45° Chamfer Cutting Insert Holder

P & OB u ° | £ - o

TR g @ ED mag s | MSERERIE |5 e p g

Order No Model Boring Range M1 h Boring Head 45° Chamfer Cutting Apron N.W.

. oDMin-oDMax Insert Holder o

30200000AW |HBIT25 AW 29-36 IWSC2936 0.17

32350000AW |HBIT25 AW 35-42 50 % HBIT25 |\ scasaz s |47

33360000AW |HBIT32 AW 36-45 IWSC3645 0.35

33440000AW |HBIT32 AW 44-53 . 32 HBITS2 \\vsca4s3 P2 |56

34450000AW |HBIT40 AW 45-56 w0 | nema | WSC4556 worao | 058

34550000AW |HBIT40 AW 55-66 IWSC5566 P 0.54

35560000AW |HBIT50 AW 56-74 IWSC5674 1.06

35740000AW |HBIT50 AW 74-92 80| HBITSO |\ sc7a92 aprs0 | o9

36700000AW |HBIT63 AW 70-90 IWSC7090 1.72

36900000AW |HBITE3 AW 90-110 " o HBITES |\ wscaot10 pres | 7g

38900000AW |HBIT8O AW 90-130 Hme | WSC90130 oo | 221

5 38910000AW |HBIT8O AW 130-170 IWSC130170 P 2.7
>e

o 38900000EAW |HBITSOE AW 90-130 IWSC90130 2.67
. .

I DX2-D>HBIT oo 0000EAW |HBITEOE AW 130-170 80 | HBITEOE |\ sc130170 apreo |, 74
39130000AW |HBIT120 AW 130-190 IWSC130190 6.48
39170000AW |HBIT120 AW 170-230 100 | 100 | HBIT120 |\ s 5170230 P20 | ¢ og
B IEILEERAES
Body and Reverse Cutting Insert Holder

P S u A L — =

TER g @ED g e | EBAREBIOE | g 40| v 5

Order No Model Boring Range | M3 M2 h Boring Head Reverse Cutting Apron | N.W.

. oDMin-eDMax Insert Holder o

32090000AK |HBIT25 AK 29-36 25 RKCC2936 017

32350000AK |HBIT25 AK 35-42 58 | © 25 | HBIT2S oy ccasar P25 | 1g

33360000AK |HBIT32 AK 36-45 2.6 RKCC3645 0.36

33440000AK |HBIT32 AK 44-53 610 | P 32 HBITS2 | pkccaass P2 | 36

34450000AK |HBIT40 AK 45-56 28 RKCC4556 0.54

34550000AK |HBIT40 AK 55-66 713 | 40| HBIT40 o\ ccss66 prd0 | g5

35560000AK |HBIT50 AK 56-74 3-12 RKCC5674 1.07

35740000AK |HBIT50 AK 74-92 12-21 RKCC7492 1.09

35750000AK |HBIT50 AK 92-110 21-30 | 62 50 | HBIT50 |RKCC92110 apr50 | 1.13

35760000AK |HBIT50 AK 110-128 | 30-39 RKCC110128 1.15

35770000AK |HBIT50 AK 128-146 | 39-48 RKCC128146 117

36700000AK |HBIT63 AK 70-90 3-13 RKCC7090 1.74

5 36900000AK |HBIT63 AK 90-110 13-23 RKCC90110 1.79

_ Do>e 36910000AK |HBIT63 AK 110-130 | 23-33 HBIT63 |RKCC110130 | apré3 | 1.85
1 - N

M Dx2-D>HBIT - peo0i000aKk |HBIT63 AK 130150 | 33-43 o . RKCC130150 1.89
36930000AK |HBIT63 AK 150-170 | 43-53 RKCC150170 1.94
38900000AK |HBIT8O AK 90-130 5-05 RKCC90130 2.3
38910000AK |HBIT8O AK 130-170 | 25-45 HBIT80 |RKCC130170 | apré0 | 2.30
38920000AK |HBIT8O AK 170-210 | 45-65 RKCC170210 2.41
38900000EAK |HBITSOE AK 90-130 5.25 RKCC90130 2.60
38910000EAK |HBIT8OE AK 130-170 | 25-45 | 58 80 | HBITSOE |RKCC130170 | apr80| 2.70
38920000EAK |HBITBOE AK 170-210 | 45-65 RKCC170210 2.87
39130000AK |HBIT120 AK 130-190 | 535 RKCC130190 6.49
39170000AK |HBIT120 AK 170-230 | 2555 | © | 100 | HBIT120 | cc170030  |2P129) 659




justable Twin Cutter Roughing and Semi-Finishing Boring System
E3L0HE ~ $EIESL)ASEE « $BIE3LJJEE Taper Shank, Body and Cutting Insert Holder

BT50-H50-165 M:202

L1
% SET
MAS403 BT-HBIT £ 7J18#E31,7]-AA type
MAS403 BT and HBIT Adjustable Twin Cutter Boring Head-AA type
S FEIESLRIRES
STEHRYE = =4 B%)Ein anDe M L Adjustable Twin Cutter Boring System B =
Order No. Model DM oD LM | ARiE3L A YaE3L TR N.W.
Taper Shank Boring Head Cutting Insert Holder

32291406AA |BT40-HBIT25-60 AA 29-36 60 90 BT40-H25-40 1.17
32291409AA |BT40-HBIT25-90 AA 29-36 90 122 BT40-H25-72 1.29
32291412AA BT40-HBIT25-123 AA 29-36 123 150 BT40-H25-100 SNEEEEE SEEEEE 1.41
32291414AA |BT40-HBIT25-145 AA 29-36 145 177 BT40-H25-127 HBIT25 1.55
32351406AA BT40-HBIT25-60 AA  35-42 60 90 BT40-H25-40 1.19
32351409AA |BT40-HBIT25-90 AA 35-42 90 122 BT40-H25-72 1.31
32351412AA |BT40-HBIT25-123 AA 35-42 123 150 BT40-H25-100 SACCS542 SACCS542 1.43
32351414AA BT40-HBIT25-145 AA 35-42 145 177 BT40-H25-127 1.57
33361407AA |BT40-HBIT32-75 AA  36-45 75 103 BT40-H32-40 1.37
33361410AA BT40-HBIT32-102 AA 36-45 102 135 BT40-H32-72 1.57
33361415AA |BT40-HBIT32-150 AA 36-45 150 183 BT40-H32-120 SACEREE SACEREE 1.92
33361416AA BT40-HBIT32-165 AA 36-45 165 198 BT40-H32-135 HBIT32 2.08
33441407AA |BT40-HBIT32-75 AA  44-53 75 103 BT40-H32-40 1.37
33441410AA |BT40-HBIT32-102 AA 44-53 102 135 BT40-H32-72 1.57
33441415AA |BT40-HBIT32-150 AA 44-53 150 183 BT40-H32-120 SACC4453 SACC4453 1.92
33441416AA |BT40-HBIT32-165 AA 44-53 165 198 BT40-H32-135 2.03
34451407AA BT40-HBIT40-73 AA  45-56 73 103 BT40-H40-40 1.61
34451410AA |BT40-HBIT40-102 AA 45-56 102 135 BT40-H40-72 1.87
34451416AA BT40-HBIT40-162 AA  45-56 162 193 BT40-H40-130 SNEEEE SNEEEEE 2.51
34451421AA |BT40-HBIT40-212 AA 45-56 212 248 BT40-H40-185 HBIT40 3.08
34551407AA BT40-HBIT40-73 AA 55-66 73 103 BT40-H40-40 1.63
34551410AA |BT40-HBIT40-102 AA 55-66 102 135 BT40-H40-72 1.89
34551416AA |BT40-HBIT40-162 AA 55-66 162 193 BT40-H40-130 SACC5566 SACC5566 2.53
34551421AA BT40-HBIT40-212 AA 55-66 212 248 BT40-H40-185 3.10
35561410AA |BT40-HBIT50-102 AA 56-74 102 130 BT40-H50-50 2.25
35561414AA BT40-HBIT50-142 AA  56-74 142 170 BT40-H50-90 2.82
35561418AA |BT40-HBIT50-182 AA 56-74 182 210 BT40-H50-130 SO G 3.30
35561422AA BT40-HBIT50-222 AA  56-74 222 250 BT40-H50-170 HBIT50 417
35741410AA |BT40-HBIT50-102 AA 74-92 102 130 BT40-H50-50 2.29
35741414AA |BT40-HBIT50-142 AA 74-92 142 170 BT40-H50-90 2.86
35741418AA |BT40-HBIT50-182 AA 74-92 182 210 BT40-H50-130 SACC7492 SACC7492 3.34
35741422AA |BT40-HBIT50-222 AA 74-92 222 250 BT40-H50-170 4.21
36701410AA BT40-HBIT63-102 AA 70-90 102 135 BT40-H63-55 3.02
36701415AA |BT40-HBIT63-152 AA 70-90 152 185 BT40-H63-105 SACC7090 SACC7090 4.23
36701420AA BT40-HBIT63-202 AA 70-90 202 235 BT40-H63-155 HBIT63 5.32
36901410AA |BT40-HBIT63-102 AA 90-110 102 135 BT40-H63-55 3.14
36901415AA BT40-HBIT63-152 AA 90-110 152 185 BT40-H63-105 SACC90110 SACC90110 4.35
36901420AA |BT40-HBIT63-202 AA 90-110 202 235 BT40-H63-155 5.54
38901410AA |BT40-HBIT80-102 AA 90-130 102 135 BT40-H63-55 3.54
38901415AA |BT40-HBIT80-152 AA 90-130 152 185 BT40-H63-105 SACC90130 SACC90130 4.75
38901420AA |BT40-HBIT80-202 AA 90-130 202 235 BT40-H63-155 5.84
38911410AA BT40-HBIT80-102 AA  130-170 102 135 BT40-H63-55 3.68
38911415AA |BT40-HBIT80-152 AA 130-170 152 185 BT40-H63-105 HBIT80 SACC130170 |[SACC130170 4.89
38911420AA BT40-HBIT80-202 AA 130-170 202 235 BT40-H63-155 5.98
38921410AA |BT40-HBIT80-102 AA 170-210 104 137 BT40-H63-55 3.88
38921415AA |BT40-HBIT80-152 AA 170-210 154 187 BT40-H63-105 SACC170210 [SACC170210 5.09
38921420AA BT40-HBIT80-202 AA 170-210 204 237 BT40-H63-155 6.18




ABIESLRIES

STEHRYE B AR Bégin EIR nD M L Adjustable Twin Cutter Boring System B =
Order No. Model DM oD LM | ARz A YaE3L T N.W.
Taper Shank Boring Head Cutting Insert Holder

32291510AA |BT50-HBIT25-102 AA 29-36 102 165 BT50-H25-115 4.32
32291512AA  |BT50-HBIT25-127 AA 29-36 127 190 BT50-H25-140 SACC2936 SACC2936 4.47
32291515AA |BT50-HBIT25-152 AA 29-36 152 215 BT50-H25-165 HBIT25 4.57
32351510AA |BT50-HBIT25-102 AA 35-42 102 165 BT50-H25-115 4.34
32351512AA  |BT50-HBIT25-127 AA  35-42 127 190 BT50-H25-140 SACC3542 SACC3542 4.49
32351515AA |BT50-HBIT25-152 AA 35-42 152 215 BT50-H25-165 4.59
33361513AA  |BT50-HBIT32-135 AA 36-45 135 198 BT50-H32-135 4.92
33361516AA |BT50-HBIT32-165 AA 36-45 165 228 BT50-H32-165 SACC3645 SACC3645 5.17
33361520AA  |BT50-HBIT32-200 AA 36-45 200 263 BT50-H32-200 HBIT32 5.37
33441513AA  |BT50-HBIT32-135 AA 44-53 135 198 BT50-H32-135 4.92
33441516AA |BT50-HBIT32-165 AA 44-53 165 228 BT50-H32-165 SACC4453 SACC4453 5.17
33441520AA  |BT50-HBIT32-200 AA 44-53 200 263 BT50-H32-200 5.37
34451513AA |BT50-HBIT40-135 AA 45-56 135 198 BT50-H40-135 5.46
34451518AA  |BT50-HBIT40-185 AA 45-56 185 248 BT50-H40-185 6.01
34451522AA |BT50-HBIT40-225 AA 45-56 225 288 BT50-H40-225 SACC4556 SACC4556 6.46
34451526AA  |BT50-HBIT40-265 AA 45-56 265 328 BT50-H40-265 HBIT40 6.86
34551513AA |BT50-HBIT40-135 AA 55-66 135 198 BT50-H40-135 5.48
34551518AA  |BT50-HBIT40-185 AA 55-66 185 248 BT50-H40-185 6.03
34551522AA  |BT50-HBIT40-225 AA 55-66 225 288 BT50-H40-225 SACCS566 SACCS566 6.48
34551526AA |BT50-HBIT40-265 AA 55-66 265 328 BT50-H40-265 6.88
35561510AA  |BT50-HBIT50-102 AA  56-74 102 145 BT50-H50-65 4.90
35561520AA |BT50-HBIT50-202 AA 56-74 202 245 BT50-H50-165 6.45
35561525AA  |BT50-HBIT50-252 AA  56-74 252 295 BT50-H50-215 SACCS674 SACCS674 7.40
35561530AA |BT50-HBIT50-302 AA 56-74 302 345 BT50-H50-265 HBIT50 8.30
35741510AA  |BT50-HBIT50-102 AA  74-92 102 145 BT50-H50-65 4.94
35741520AA  |BT50-HBIT50-202 AA  74-92 202 245 BT50-H50-165 6.49
35741525AA |BT50-HBIT50-252 AA  74-92 252 295 BT50-H50-215 SACCT492 SACCT492 7.44
35741530AA  |BT50-HBIT50-302 AA  74-92 302 345 BT50-H50-265 8.34
36701512AA |BT50-HBIT63-122 AA  70-90 122 165 BT50-H63-85 6.08
36701520AA  |BT50-HBIT63-202 AA 70-90 202 245 BT50-H63-165 7.98
36701525AA |BT50-HBIT63-252 AA  70-90 252 295 BT50-H63-215 SACC7090 SACC7090 9.53
36701530AA  |BT50-HBIT63-302 AA 70-90 302 345 BT50-H63-265 10.48
36701535AA |BT50-HBIT63-352 AA 70-90 352 395 BT50-H63-315 HBIT63 13.73
36901512AA  |BT50-HBIT63-122 AA  90-110 122 165 BT50-H63-85 6.20
36901520AA  |BT50-HBIT63-202 AA 90-110 202 245 BT50-H63-165 8.10
36901525AA |BT50-HBIT63-252 AA 90-110 252 295 BT50-H63-215 SACC90110  |SACC90110 9.65
36901530AA |BT50-HBIT63-302 AA 90-110 302 345 BT50-H63-265 10.60
36901535AA |BT50-HBIT63-352 AA 90-110 352 395 BT50-H63-315 13.85
38901512AA  |BT50-HBIT80-122 AA 90-130 122 165 BT50-H63-85 6.60
38901520AA |BT50-HBIT80-202 AA 90-130 202 245 BT50-H63-165 8.50
38901525AA  |BT50-HBIT80-252 AA 90-130 252 295 BT50-H63-215 SACC90130 [SACC90130 10.05
38901530AA |BT50-HBIT80-302 AA 90-130 302 345 BT50-H63-265 11.00
38901535AA |BT50-HBIT80-352 AA 90-130 352 395 BT50-H63-315 14.25
38911512AA  |BT50-HBIT80-122 AA 130-170 122 165 BT50-H63-85 6.74
38911520AA |BT50-HBIT80-202 AA 130-170 202 245 BT50-H63-165 8.64
38911525AA  |BT50-HBIT80-252 AA 130-170 252 295 BT50-H63-215 HBIT80 SACC130170 |SACC130170 10.19
38911530AA |BT50-HBIT80-302 AA 130-170 302 345 BT50-H63-265 11.14
38911535AA  |BT50-HBIT80-352 AA 130-170 352 395 BT50-H63-315 14.39
38921512AA  |BT50-HBIT80-122 AA 170-210 124 167 BT50-H63-85 6.94
38921520AA  |BT50-HBIT80-202 AA 170-210 204 247 BT50-H63-165 8.84
38921525AA  |BT50-HBIT80-252 AA 170-210 254 297 BT50-H63-215 SACC170210 |SACC170210 10.39
38921530AA |BT50-HBIT80-302 AA 170-210 304 347 BT50-H63-265 11.34
38921535AA  |BT50-HBIT80-352 AA 170-210 354 397 BT50-H63-315 14.59
38901510EAA |BT50-HBIT80E-102 AA 90-130 102 150 BT50-H80-70 6.76
38901515EAA |BT50-HBIT80E-152 AA 90-130 152 195 BT50-H80-115 8.31
38901520EAA |BT50-HBIT80E-202 AA 90-130 202 245 BT50-H80-165 10.01
38901525EAA |BT50-HBIT80E-252 AA 90-130 252 295 BT50-H80-215 SACC90130 |SACC90130 11.76
38901530EAA |BT50-HBIT80E-302 AA 90-130 302 345 BT50-H80-265 13.51
38901535EAA |BT50-HBIT80E-352 AA 90-130 352 395 BT50-H80-315 15.21
38911510EAA |BT50-HBIT80E-102 AA 130-170 102 150 BT50-H80-70 6.88
38911515EAA |BT50-HBIT80E-152 AA 130-170 152 195 BT50-H80-115 8.43
38911520EAA |BT50-HBIT80E-202 AA 130-170 202 245 BT50-H80-165 10.13
38911525EAA |BT50-HBIT80E-252 AA 130-170 252 295 BT50-H80-215 HBIT80E SACC130170 | SACC130170 11.88
38911530EAA |BT50-HBIT80E-302 AA 130-170 302 345 BT50-H80-265 13.63
38911535EAA |BT50-HBIT80E-352 AA  130-170 352 395 BT50-H80-315 15.33
38921510EAA |BT50-HBIT80E-102 AA 170-210 104 157 BT50-H80-70 7.08
38921515EAA |BT50-HBIT80E-152 AA  170-210 154 197 BT50-H80-115 8.63
38921520EAA |BT50-HBIT80E-202 AA 170-210 204 247 BT50-H80-165 10.33
38921525EAA |BT50-HBIT80E-252 AA 170-210 254 297 BT50-H80-215 SACC170210 | SACC170210 12.08
38921530EAA |BT50-HBIT80E-302 AA 170-210 304 347 BT50-H80-265 13.83
38921535EAA |BT50-HBIT80E-352 AA 170-210 354 397 BT50-H80-315 15.53
39131515AA  |BT50-HBIT120-150 AA 130-190 150 200 BT50-H100-100 12.62
39131520AA  |BT50-HBIT120-200 AA  130-190 200 250 BT50-H100-150 15.27
39131525AA  |BT50-HBIT120-250 AA  130-190 250 300 BT50-H100-200 SACC130190 | SACC130190 18.22
39131530AA  |BT50-HBIT120-300 AA 130-190 300 350 BT50-H100-250 HBIT120 21.17
39171515AA  |BT50-HBIT120-150 AA 170-230 150 200 BT50-H100-100 12.84
39171520AA |BT50-HBIT120-200 AA 170-230 200 250 BT50-H100-150 15.49
39171525AA  |BT50-HBIT120-250 AA 170-230 250 300 BT50-H100-200 SACC170230 | SACC170230 18.44
39171530AA  |BT50-HBIT120-300 AA 170-230 300 350 BT50-H100-250 21.39

37



HBIT m*ﬁﬁgbﬂ-Bw MM type

justable Twin Cutter Roughing and Semi-Finishing Boring System
B30 ~ $EIE3IL)AEE - 80°4BIESLJEE Taper Shank, Body and 80° Cutting Insert Holder

L
‘ M
!
Te g
32 SET L1
MAS403 BT-HBIT 80" 7J#81E31,7]-MM type
MAS403 BT and HBIT Adjustable Twin Cutter Boring Head-MM type
o B RHIES
Hi=t -1 iR OAR BEB' D M L Adjustable Twin Cutter Boring System B E
- oring Range
Order No. Model oDMioDN o ELOm | EELAE 80°HRIE3L I N.W.
Taper Shank Boring Head 80° Cutting Insert Holder

32291406MM BT40-HBIT25-60 MM 29-36 60 90 BT40-H25-40 1.17
32291409MM BT40-HBIT25-90 MM 29-36 90 122 BT40-H25-72 1.29
32291412MM BT40-HBIT25-123 MM 29-36 123 150 BT40-H25-100 EMSC2936 EMSC2936 1.41
32291414MM BT40-HBIT25-145 MM 29-36 145 177 BT40-H25-127 HBIT25 ESS!
32351406 MM BT40-HBIT25-60 MM 35-42 60 90 BT40-H25-40 1.19
32351409MM BT40-HBIT25-90 MM 35-42 90 122 BT40-H25-72 1.31
32351412MM BT40-HBIT25-123 MM 35-42 123 150 BT40-H25-100 EMSC3542 EMSC3542 1.43
32351414MM BT40-HBIT25-145 MM 35-42 145 177 BT40-H25-127 1.57
33361407MM BT40-HBIT32-75 MM 36-45 75 103 BT40-H32-40 1.37
33361410MM BT40-HBIT32-102 MM 36-45 102 135 BT40-H32-72 1.57
33361415MM BT40-HBIT32-150 MM 36-45 150 183 BT40-H32-120 EMSC3645 EMSC3645 1.92
33361416MM BT40-HBIT32-165 MM 36-45 165 198 BT40-H32-135 HBIT32 2.03
33441407MM BT40-HBIT32-75 MM 44-53 75 103 BT40-H32-40 1.37
33441410MM BT40-HBIT32-102 MM 44-53 102 135 BT40-H32-72 1.57
33441415MM BT40-HBIT32-150 MM 44-53 150 183 BT40-H32-120 EMSC4453 EMSC4483 1.92
33441416MM BT40-HBIT32-165 MM 44-53 165 198 BT40-H32-135 2.03
34451407MM BT40-HBIT40-73 MM 45-56 73 103 BT40-H40-40 1.61
34451410MM BT40-HBIT40-102 MM 45-56 102 135 BT40-H40-72 1.87
34451416MM BT40-HBIT40-162 MM 45-56 162 193 BT40-H40-130 EMSC4556 EMSC4556 2.51
34451421MM BT40-HBIT40-212 MM 45-56 212 248 BT40-H40-185 HBIT40 3.08
34551407MM BT40-HBIT40-73 MM 55-66 73 103 BT40-H40-40 1.63
34551410MM BT40-HBIT40-102 MM 55-66 102 135 BT40-H40-72 1.89
34551416MM BT40-HBIT40-162 MM 55-66 162 193 BT40-H40-130 EMSCS566 EMSCS566 2.53
34551421MM BT40-HBIT40-212 MM 55-66 212 248 BT40-H40-185 3.10
35561410MM BT40-HBIT50-102 MM 56-74 102 130 BT40-H50-50 2.25
35561414MM BT40-HBIT50-142 MM 56-74 142 170 BT40-H50-90 2.82
35561418MM BT40-HBIT50-182 MM 56-74 182 210 BT40-H50-130 EMSCS674 EMSCS674 3.30
35561422MM BT40-HBIT50-222 MM 56-74 222 250 BT40-H50-170 HBIT50 417
35741410MM BT40-HBIT50-102 MM 74-92 102 130 BT40-H50-50 2.29
35741414MM BT40-HBIT50-142 MM 74-92 142 170 BT40-H50-90 2.86
35741418MM BT40-HBIT50-182 MM 74-92 182 210 BT40-H50-130 EMSC7492 EMSCT492 3.34
35741422MM BT40-HBIT50-222 MM 74-92 222 250 BT40-H50-170 4.21
36701410MM BT40-HBIT63-102 MM 70-90 102 135 BT40-H63-55 3.02
36701415MM BT40-HBIT63-152 MM 70-90 162 185 BT40-H63-105 EMSC7090 EMSC7090 4.23
36701420MM BT40-HBIT63-202 MM 70-90 202 235 BT40-H63-155 HBIT63 5.32
36901410MM BT40-HBIT63-102 MM 90-110 102 135 BT40-H63-55 3.14
36901415MM BT40-HBIT63-152 MM 90-110 162 185 BT40-H63-105 EMSC90110 |EMSC90110 4.35
36901420MM BT40-HBIT63-202 MM 90-110 202 235 BT40-H63-155 5.54
38901410MM BT40-HBIT80-102 MM 90-130 102 135 BT40-H63-55 3.54
38901415MM BT40-HBIT80-152 MM 90-130 162 185 BT40-H63-105 EMSC90130 |EMSC90130 4.75
38901420MM BT40-HBIT80-202 MM 90-130 202 235 BT40-H63-155 HBITS0 5.84
38911410MM BT40-HBIT80-102 MM 130-170 102 135 BT40-H63-55 3.68
38911415MM BT40-HBIT80-152 MM 130-170 162 185 BT40-H63-105 EMSC130170 |EMSC130170 4.89
38911420MM BT40-HBIT80-202 MM 130-170 202 235 BT40-H63-155 5.98




HIELRIRES

ISt -1 Fi=I - Bit;?in anDe M L Adjustable Twin Cutter Boring System B =
Order No. Model pros bt ELOm | el 80HEIE3L IR N.W.
Taper Shank | Boring Head 80° Cutting Insert Holder

32291510MM BT50-HBIT25-102 MM 29-36 102 165 BT50-H25-115 4.32
32291512MM BT50-HBIT25-127 MM 29-36 127 190 BT50-H25-140 EMSC2936 EMSC2936 4.47
32291515MM BT50-HBIT25-152 MM 29-36 152 215 BT50-H25-165 HBIT25 4.57
32351510MM BT50-HBIT25-102 MM 35-42 102 165 BT50-H25-115 4.32
32351512MM BT50-HBIT25-127 MM 35-42 127 190 BT50-H25-140 EMSC3542 EMSC3542 4.47
32351515MM BT50-HBIT25-152 MM 35-42 152 215 BT50-H25-165 4.57
33361513MM BT50-HBIT32-135 MM 36-45 135 198 BT50-H32-135 4.90
33361516MM BT50-HBIT32-165 MM 36-45 165 228 BT50-H32-165 EMSC3645 EMSC3645 5.15
33361520MM BT50-HBIT32-200 MM 36-45 200 263 BT50-H32-200 HBIT32 5.35
33441513MM BT50-HBIT32-135 MM 44-53 135 198 BT50-H32-135 4.92
33441516MM BT50-HBIT32-165 MM 44-53 165 228 BT50-H32-165 EMSC4453 EMSC4453 5.17
33441520MM BT50-HBIT32-200 MM 44-53 200 263 BT50-H32-200 5.37
34451513MM BT50-HBIT40-135 MM 45-56 135 198 BT50-H40-135 5.44
34451518MM BT50-HBIT40-185 MM 45-56 185 248 BT50-H40-185 5.99
34451522MM BT50-HBIT40-225 MM 45-56 225 288 BT50-H40-225 EMSC4556 EMSC4556 6.44
34451526MM BT50-HBIT40-265 MM 45-56 265 328 BT50-H40-265 HBIT4 6.84
34551513MM BT50-HBIT40-135 MM 55-66 135 198 BT50-H40-135 0 5.46
34551518MM BT50-HBIT40-185 MM 55-66 185 248 BT50-H40-185 6.01
34551522MM BT50-HBIT40-225 MM 55-66 225 288 BT50-H40-225 EMSC5566 EMSCS5566 6.46
34551526MM BT50-HBIT40-265 MM 55-66 265 328 BT50-H40-265 6.86
35561510MM BT50-HBIT50-102 MM 56-74 102 145 BT50-H50-65 4.88
35561520MM BT50-HBIT50-202 MM 56-74 202 245 BT50-H50-165 6.43
35561525MM BT50-HBIT50-252 MM 56-74 252 295 BT50-H50-215 EMSCser4 EMSCS674 7.38
35561530MM BT50-HBIT50-302 MM 56-74 302 345 BT50-H50-265 8.28
35741510MM BT50-HBIT50-102 MM 74-92 102 145 BT50-H50-65 HBITS0 4.94
35741520MM BT50-HBIT50-202 MM 74-92 202 245 BT50-H50-165 6.49
35741525MM BT50-HBIT50-252 MM 74-92 252 295 BT50-H50-215 EMSC7492 EMSCT492 7.44
35741530MM BT50-HBIT50-302 MM 74-92 302 345 BT50-H50-265 8.34
36701512MM BT50-HBIT63-122 MM 70-90 122 165 BT50-H63-85 6.08
36701520MM BT50-HBIT63-202 MM 70-90 202 245 BT50-H63-165 7.98
36701525MM BT50-HBIT63-252 MM 70-90 252 295 BT50-H63-215 EMSC7090 EMSC7090 9.53
36701530MM BT50-HBIT63-302 MM 70-90 302 345 BT50-H63-265 10.48
36701535MM BT50-HBIT63-352 MM 70-90 352 395 BT50-H63-315 HBIT63 13.73
36901512MM BT50-HBIT63-122 MM 90-110 122 165 BT50-H63-85 6.20
36901520MM BT50-HBIT63-202 MM 90-110 202 245 BT50-H63-165 8.10
36901525MM BT50-HBIT63-252 MM 90-110 252 295 BT50-H63-215 EMSC90110 |EMSC90110 9.65
36901530MM BT50-HBIT63-302 MM 90-110 302 345 BT50-H63-265 10.60
36901535MM BT50-HBIT63-352 MM 90-110 352 395 BT50-H63-315 13.85
38901512MM BT50-HBIT80-122 MM 90-130 122 165 BT50-H63-85 6.60
38901520MM BT50-HBIT80-202 MM 90-130 202 245 BT50-H63-165 8.50
38901525MM BT50-HBIT80-252 MM 90-130 252 295 BT50-H63-215 EMSC90130 |EMSC90130 10.05
38901530MM BT50-HBIT80-302 MM 90-130 302 345 BT50-H63-265 11.00
38901535MM BT50-HBIT80-352 MM 90-130 352 395 BT50-H63-315 HBITS0 14.25
38911512MM BT50-HBIT80-122 MM 130-170 122 165 BT50-H63-85 6.72
38911520MM BT50-HBIT80-202 MM 130-170 202 245 BT50-H63-165 8.62
38911525MM BT50-HBIT80-252 MM 130-170 252 295 BT50-H63-215 EMSC130170 |EMSC130170 10.17
38911530MM BT50-HBIT80-302 MM 130-170 302 345 BT50-H63-265 11.12
38911535MM BT50-HBIT80-352 MM 130-170 352 395 BT50-H63-315 14.37
38901510EMM |BT50-HBIT80E-102 MM 90-130 102 150 BT50-H80-70 6.76
38901515EMM  |BT50-HBIT80E-152 MM 90-130 152 195 BT50-H80-115 8.31
38901520EMM  |BT50-HBIT80E-202 MM 90-130 202 245 BT50-H80-165 10.01
38901525EMM | BT50-HBIT80E-252 MM 90-130 252 295 BT50-H80-215 EMSC80130 | EMSC0130 11.76
38901530EMM  |BT50-HBIT80E-302 MM 90-130 302 345 BT50-H80-265 13.51
38901535EMM  |BT50-HBIT80E-352 MM 90-130 352 395 BT50-H80-315 15.21
38911510EMM |BT50-HBIT80E-102 MM 130-170 102 150 BT50-H80-70 HBIT8O0E 6.88
38911515EMM  |BT50-HBIT80E-152 MM 130-170 152 195 BT50-H80-115 8.43
38911520EMM |BT50-HBIT80E-202 MM 130-170 202 245 BT50-H80-165 10.13
38911525EMM | BT50-HBIT80E-252 MM 130-170 252 295 BT50-H80-215 EMSC130170 | EMSC130170 11.88
38911530EMM  |BT50-HBIT80E-302 MM 130-170 302 345 BT50-H80-265 13.63
38911535EMM  |BT50-HBIT80E-352 MM 130-170 352 395 BT50-H80-315 15.33
39131515MM BT50-HBIT120-150 MM 130-190 150 200 BT50-H100-100 12.62
39131520MM BT50-HBIT120-200 MM 130-190 200 250 BT50-H100-150 15.27
39131525MM BT50-HBIT120-250 MM 130-190 250 300 BT50-H100-200 EMSC130190 | EMSC130190 18.22
39131530MM BT50-HBIT120-300 MM 130-190 300 350 BT50-H100-250 HBIT120 21.17
39171515MM BT50-HBIT120-150 MM 170-230 150 200 BT50-H100-100 12.84
39171520MM BT50-HBIT120-200 MM 170-230 200 250 BT50-H100-150 15.49
39171525MM BT50-HBIT120-250 MM 170-230 250 300 BT50-H100-200 EMSC170230 | EMSC170230 18.44
39171530MM BT50-HBIT120-300 MM 170-230 300 350 BT50-H100-250 21.39

39



H BIT }E§LD'450E,§1§“%'AW type
justable Single Cutter Roughing and Semi-Finishing Boring System

1E3L704R « $RIESLTIANEE « 45° E R BIAIESL JEE « RiE3LEEHR Taper Shank, Body, 45° Chamfer Cutting Insert Holder and Apron

Slansy BT50-H50-165 1202

37 SET L1 D:>e

MAS403 BT-HBIT#E1E3/J-45°[E R {E|E-AW type TTIE: Dx2-D>HBIT__
MAS403 BT and HBIT Adjustable 45° Chamfer Cutter Boring Head AW-type
. HIESL RIS
TEiEsE i 15 B;(;Ein %anDe " ] Adjustable Single Cuttf:r Borlmg S}:stem -
Order No. Model Jorng Pange WILM | EiEL A g%%gﬁfggﬁg RIELER | NW.
Taper Shank |Boring Head Insert Holder Apron

32291406AW  |BT40-HBIT25-60 AW 29-36 60 90  |BT40-H25-40 117
32291409AW  |BT40-HBIT25-90 AW 29-36 90 122 |BT40-H25-72 sc 1.29
32291412AW  |BT40-HBIT25-123 AW 29-36 123 150  |BT40-H25-100 IWSC2936 1.41
32291414AW  |BT40-HBIT25-145 AW 29-36 145 177  |BT40-H25-127 HBIT25 apr25 1.55
32351406AW  |BT40-HBIT25-60 AW 35-42 60 90  |BT40-H25-40 117
32351409AW  |BT40-HBIT25-90 AW 35-42 90 122 |BT40-H25-72 T 1.29
32351412AW  |BT40-HBIT25-123 AW 35-42 123 150  |BT40-H25-100 1.41
32351414AW  |BT40-HBIT25-145 AW 35-42 145 177  |BT40-H25-127 1.55
33361407AW  |BT40-HBIT32-75 AW 36-45 75 103 |BT40-H32-40 1.35
33361410AW  |BT40-HBIT32-102 AW 36-45 102 135  |BT40-H32-72 WSC3645 1.55
33361415AW  |BT40-HBIT32-150 AW 36-45 150 183  |BT40-H32-120 1.90
33361416AW  |BT40-HBIT32-165 AW 36-45 165 198  |BT40-H32-135 HBIT32 apra2 2.01
33441407AW  |BT40-HBIT32-75 AW 44-53 75 103 |BT40-H32-40 1.36
33441410AW  |BT40-HBIT32-102 AW 44-53 102 135  |BT40-H32-72 = 1.56
33441415AW  |BT40-HBIT32-150 AW 44-53 150 183  |BT40-H32-120 IWSC4453 1.91
33441416AW  |BT40-HBIT32-165 AW 44-53 165 198  |BT40-H32-135 2.02
34451407AW  |BT40-HBIT40-73 AW 45-56 73 103 |BT40-H40-40 1.58
34451410AW  |BT40-HBIT40-102 AW 45-56 102 135  |BT40-H40-72 IWSC4556 1.84
34451416AW  |BT40-HBIT40-162 AW 45-56 162 193 |BT40-H40-130 2.48
34451421AW  |BT40-HBIT40-212 AW 45-56 212 248  |BT40-H40-185 3.05
34551407AW  |BT40-HBIT40-73 AW 55-66 73 103 |BT40-H40-40 HBIT40 aprd0 1.59
34551410AW  |BT40-HBIT40-102 AW 55-66 102 135  |BT40-H40-72 W 1.85
34551416AW  |BT40-HBIT40-162 AW 55-66 162 193 |BT40-H40-130 SC5566 2.49
34551421AW  |BT40-HBIT40-212 AW 55-66 212 248  |BT40-H40-185 3.06
35561410AW  |BT40-HBIT50-102 AW 56-74 102 130 |BT40-H50-50 2.21
35561414AW  |BT40-HBIT50-142 AW 56-74 142 170  |BT40-H50-90 WSC5674 2.78
35561418AW  |BT40-HBIT50-182 AW 56-74 182 210  |BT40-H50-130 3.26
35561422AW  |BT40-HBIT50-222 AW 56-74 222 250  |BT40-H50-170 413
35741410AW  |BT40-HBIT50-102 AW 74-92 102 130 |BT40-H50-50 HBITS0 aprso 2.27
35741414AW  |BT40-HBIT50-142 AW 74-92 142 170  |BT40-H50-90 e 2.84
35741418AW  |BT40-HBIT50-182 AW 74-92 182 210  |BT40-H50-130 3.32
35741422AW  |BT40-HBIT50-222 AW 74-92 222 250  |BT40-H50-170 4.19
36701410AW  |BT40-HBIT63-102 AW 70-90 102 135  |BT40-H63-55 2.96
36701415AW  |BT40-HBIT63-152 AW 70-90 152 185  |BT40-H63-105 IWSC7090 417
36701420AW  |BT40-HBIT63-202 AW 70-90 202 235  |BT40-H63-155 HBIT63 apr6s 5.26
36901410AW  |BT40-HBIT63-102 AW 90-110 102 135  |BT40-H63-55 3.02
36901415AW  |BT40-HBIT63-152 AW 90-110 152 185  |BT40-H63-105 IWSC90110 423
36901420AW  |BT40-HBIT63-202 AW 90-110 202 235  |BT40-H63-155 5.32
38901410AW  |BT40-HBIT80-102 AW 90-130 102 135  |BT40-H63-55 3.45
38901415AW  |BT40-HBIT80-152 AW 90-130 152 185  |BT40-H63-105 IWSC90130 4.66
38901420AW  |BT40-HBIT80-202 AW 90-130 202 235  |BT40-H63-155 e aprB0 5.75
38911410AW  |BT40-HBIT80-102 AW 130-170 102 135  |BT40-H63-55 3.51
38911415AW  |BT40-HBIT80-152 AW 130-170 152 185  |BT40-H63-105 IWSC130170 4.72
38911420AW  |BT40-HBIT80-202 AW 130-170 202 235 |BT40-H63-155 5.81




BB RFEES

STEimee 8 5 B%Eingange " ] Adjustable Single Cutt:ar Borlmg S{stem = =
Order No. Model DMinoDMon mm | Emnam | SEREROE | cmnmr | MW
Taper Shank |Boring Head Insert Holder Apron

32201510AW  |BT50-HBIT25-102 AW 29-36 102 165  |BT50-H25-115 4.32
32001512AW  |BT50-HBIT25-127 AW 29-36 127 190  |BT50-H25-140 IWSC2936 4.47
32201515AW | BT50-HBIT25-152 AW 29-36 152 215  |BT50-H25-165 - apr25 457
32351510AW  |BT50-HBIT25-102 AW 35-42 102 165  |BT50-H25-115 432
32351512AW  |BT50-HBIT25-127 AW 35-42 127 190  |BT50-H25-140 IWSC3542 4.47
32351515AW  |BT50-HBIT25-152 AW 35-42 152 215  |BT50-H25-165 457
33361513AW  |BT50-HBIT32-135 AW 36-45 135 198  |BT50-H32-135 4.90
33361516AW  |BT50-HBIT32-165 AW 36-45 165 228  |BT50-H32-165 IWSC3645 5.15
33361520AW | BT50-HBIT32-200 AW 36-45 200 263 |BT50-H32-200 HBITa2 apra2 5.35
33441513AW  |BT50-HBIT32-135 AW 44-53 135 198  |BT50-H32-135 4.91
33441516AW  |BT50-HBIT32-165 AW 44-53 165 228 |BT50-H32-165 IWSC4453 5.16
33441520AW  |BT50-HBIT32-200 AW 44-53 200 263 |BT50-H32-200 5.36
34451513AW | BT50-HBIT40-135 AW 45-56 135 198  |BT50-H40-135 5.43
34451518AW  |BT50-HBIT40-185 AW 45-56 185 248  |BT50-H40-185 WSC4BSS 5.98
34451520AW | BT50-HBIT40-225 AW 45-56 225 288  |BT50-H40-225 6.43
34451526AW  |BT50-HBIT40-265 AW 45-56 265 328  |BT50-H40-265 6.83
34551513AW  |BT50-HBIT40-135 AW 55-66 135 198  |BT50-H40-135 HBIT40 aprd0 5.44
34551518AW  |BT50-HBIT40-185 AW 55-66 185 248 |BT50-H40-185 WSCB566 5.99
34551522AW  |BT50-HBIT40-225 AW 55-66 225 288 |BT50-H40-225 6.44
34551526AW  |BT50-HBIT40-265 AW 55-66 265 328  |BT50-H40-265 6.84
35561510AW | BT50-HBIT50-102 AW 56-74 102 145  |BT50-H50-65 4.86
35561520AW  |BT50-HBIT50-202 AW 56-74 202 245  |BT50-H50-165 . 6.41
35561525AW  |BT50-HBIT50-252 AW 56-74 252 295  |BT50-H50-215 IWSCs674 7.36
35561530AW  |BT50-HBIT50-302 AW 56-74 302 345  |BT50-H50-265 HBITS0 2pr50 8.26
35741510AW  |BT50-HBIT50-102 AW 74-92 102 145  |BT50-H50-65 4.89
35741520AW  |BT50-HBIT50-202 AW 74-92 202 245  |BT50-H50-165 WSG7492 6.44
35741525AW  |BT50-HBIT50-252 AW 74-92 252 295 |BT50-H50-215 7.39
35741530AW  |BT50-HBIT50-302 AW 74-92 302 345  |BT50-H50-265 8.29
36701512AW  |BT50-HBIT63-122 AW 70-90 122 165  |BT50-H63-85 6.02
36701520AW  |BT50-HBIT63-202 AW 70-90 202 245  |BT50-H63-165 7.92
36701525AW | BT50-HBIT63-252 AW 70-90 252 295  |BT50-H63-215 IWSC7090 9.47
36701530AW  |BT50-HBIT63-302 AW 70-90 302 345  |BT50-H63-265 10.42
36701535AW | BT50-HBIT63-352 AW 70-90 352 395  |BT50-H63-315 HBIT63 apr63 13.67
36901512AW  |BT50-HBIT63-122 AW 90-110 122 165  |BT50-H63-85 6.08
36901520AW  |BT50-HBIT63-202 AW 90-110 202 245  |BT50-H63-165 7.98
36901525AW  |BT50-HBIT63-252 AW 90-110 252 295 |BT50-H63-215 IWSC90110 9.53
36901530AW  |BT50-HBIT63-302 AW 90-110 302 345  |BT50-H63-265 10.48
36901535AW  |BT50-HBIT63-352 AW 90-110 352 395 |BT50-H63-315 13.73
38901512AW  |BT50-HBIT80-122 AW 90-130 122 165 |BT50-H63-85 6.51
38901520AW  |BT50-HBIT80-202 AW 90-130 202 245 |BT50-H63-165 8.41
38901525AW  |BT50-HBIT80-252 AW 90-130 252 295  |BT50-H63-215 IWSC90130 9.96
38901530AW  |BT50-HBIT80-302 AW 90-130 302 345  |BT50-H63-265 10.91
38901535AW  |BT50-HBIT80-352 AW 90-130 352 395 |BT50-H63-315 14.16
38911512AW  |BT50-HBIT80-122 AW 130-170 122 165  |BT50-H63-85 HBIT80 6.57
38911520AW  |BT50-HBIT80-202 AW 130-170 202 245  |BT50-H63-165 8.47
38911525AW  |BT50-HBIT80-252 AW 130-170 252 295  |BT50-H63-215 IWSC130170 10.02
38911530AW  |BT50-HBIT80-302 AW 130-170 302 345  |BT50-H63-265 10.97
38911535AW  |BT50-HBIT80-352 AW 130-170 352 395  |BT50-H63-315 14.22
38901510EAW |BT50-HBITSOE-102 AW 90-130 102 150  |BT50-H80-70 6.67
38901515EAW |BT50-HBITSOE-152 AW 90-130 152 195  |BT50-H80-115 aprg0 8.22
38901520EAW  |BT50-HBITBOE-202 AW 90-130 202 245  |BT50-H80-165 WSCS0130 9.92
38901525EAW  |BT50-HBIT80E-252 AW 90-130 252 295 |BT50-H80-215 SC 11.67
38901530EAW |BT50-HBITSOE-302 AW 90-130 302 345  |BT50-H80-265 13.42
38901535EAW  |BT50-HBITBOE-352 AW 90-130 352 395  |BT50-HBO-315 | oo 15.12
38911510EAW |BT50-HBITSOE-102 AW 130-170 102 150  |BT50-H80-70 6.73
38911515EAW |BT50-HBITBOE-152 AW 130-170 152 195  |BT50-H80-115 8.28
38911520EAW | BT50-HBITBOE-202 AW 130-170 202 245  |BT50-H80-165 WSC130170 9.98
38911525EAW  |BT50-HBITBOE-252 AW 130-170 252 295 |BT50-H80-215 11.73
38911530EAW  |BT50-HBITSOE-302 AW 130-170 302 345  |BT50-H80-265 13.48
38911535EAW  |BT50-HBITSOE-352 AW 130-170 352 395  |BT50-H80-315 15.18
39131515AW  |BT50-HBIT120-150 AW 130-190 150 200  |BT50-H100-100 12.43
39131520AW  |BT50-HBIT120-200 AW 130-190 200 250  |BT50-H100-150 WSG130190 15.08
39131525AW  |BT50-HBIT120-250 AW 130-190 250 300  |BT50-H100-200 18.03
39131530AW  |BT50-HBIT120-300 AW 130-190 300 350  |BTS0-H100-250 | o apr120 20.98
39171515AW  |BT50-HBIT120-150 AW 170-230 150 200  |BT50-H100-100 12.54
39171520AW  |BT50-HBIT120-200 AW 170-230 200 250  |BT50-H100-150 WSG170230 15.19
39171525AW  |BT50-HBIT120-250 AW 170-230 250 300  |BT50-H100-200 18.14
39171530AW  |BT50-HBIT120-300 AW 170-230 300 350  |BT50-H100-250 21.09

41



justable Single Cutter for Reverse Roughing and Semi-Finishing Boring System
¥ESLOR ~ $BIESL AR « BIESLRIETIEE - RIESLEER Taper Shank, Body, Reverse Cutting Insert Holder and Apron

37 SET

MAS403 BT-HBIT #8#E3L7] — R #E-AK type
MAS403 BT and HBIT Adjustable Single Reverse Cutter Boring Head

- MBS IER A S
HIi=t - G-I -4 B%?ing@Range M3 M L Adjustable Single Reverse Cutter Boring System B &

Order No. Model aDMin-oDMax BILOM | mmEslL A | mEsRiEE | RIESLER | NW

Taper Shank Boring Head | Reverse Cutting Insert Holder Apron
32291404AK  |BT40-HBIT25-48 AK 29-36 2-5 48 91 |BT40-H25-40 1.17
32291408AK  |BT40-HBIT25-82 AK 29-36 2-5 82 123 |BT40-H25-72 1.29
32291411AK  |BT40-HBIT25-111  AK 29-36 2-5 111 151 |BT40-H25-100 RKCG2936 1.41
32291413AK  |BT40-HBIT25-138 AK 29-36 2-5 138 178 |BT40-H25-127 1.55

HBIT25 apr25
32351404AK  |BT40-HBIT25-48 AK 35-42 5-8 48 91 |BT40-H25-40 1.18
32351408AK  |BT40-HBIT25-82 AK 35-42 5-8 82 123 |BT40-H25-72 1.30
32351411AK  |BT40-HBIT25-111  AK 35-42 5-8 111 151 |BT40-H25-100 RKCC3s42 1.42
32351413AK  |BT40-HBIT25-138 AK 35-42 5-8 138 178 |BT40-H25-127 1.56
33361405AK  |BT40-HBIT32-58 AK 36-45 2-6 58 101 |BT40-H32-40 1.36
33361409AK  |BT40-HBIT32-91 AK 36-45 2-6 91 133 |BT40-H32-72 1.56
33361413AK  |BT40-HBIT32-139 AK 36-45 2-6 139 181 |BT40-H32-120 RKOC3645 1.91
33361415AK  |BT40-HBIT32-154 AK 36-45 2-6 154 196 |BT40-H32-135 HBIT32 apra2 2.02
33441405AK  |BT40-HBIT32-58 AK  44-53 6-10 58 101 |BT40-H32-40 1.36
33441409AK  |BT40-HBIT32-91 AK  44-53 6-10 91 133 |BT40-H32-72 1.56
33441413AK  |BT40-HBIT32-138 AK 44-53 6-10 | 138 181 |BT40-H32-120 RKCCa453 1.91
33441415AK  |BT40-HBIT32-154 AK 44-53 6-10 | 154 196 |BT40-H32-135 2.02
34451405AK  |BT40-HBIT40-59 AK  45-56 2-8 59 103 |BT40-H40-40 1.59
34451409AK  |BT40-HBIT40-90 AK  45-56 2-8 90 135 |BT40-H40-72 1.85
34451414AK  |BT40-HBIT40-147  AK  45-56 2-8 147 193 |BT40-H40-130 RKCC4556 2.49
34451420AK  |BT40-HBIT40-202 AK 45-56 2-8 202 248 |BT40-H40-185 HBIT40 aprd0 3.06
34551405AK  |BT40-HBIT40-59 AK 55-66 7-13 59 103 |BT40-H40-40 1.60
34551409AK  |BT40-HBIT40-90 AK 55-66 7-13 90 135 |BT40-H40-72 1.86
34551414AK  |BT40-HBIT40-147 AK 55-66 7-13 | 147 193 |BT40-H40-130 RKCCo508 2.50
34551420AK  |BT40-HBIT40-202 AK 55-66 7-13 | 202 248 |BT40-H40-185 3.07
35561408AK  |BT40-HBIT50-84 AK 56-74 3-12 84 129 |BT40-H50-50 2.22
35561412AK  |BT40-HBIT50-122 AK 56-74 3-12 | 122 169 |BT40-H50-90 2.79
35561416AK  |BT40-HBITS0-162 AK 56-74 3-12 | 162 209 |BT40-H50-130 RKCCoe74 3.27
35561420AK  |BT40-HBIT50-202 AK 56-74 3-12 | 202 249 |BT40-H50-170 4.14
35741408AK  |BT40-HBIT50-84 AK 74-92 12-21 | 84 129 |BT40-H50-50 2.24
35741412AK  |BT40-HBIT50-122 AK  74-92 12-21 | 122 169 |BT40-H50-90 2.81

HBIT50 RKCC7492 apr50
35741416AK  |BT40-HBIT50-162 AK  74-92 12-21 | 162 209 |BT40-H50-130 3.29
35741420AK  |BT40-HBIT50-202 AK 74-92 12-21 | 202 249 |BT40-H50-170 4.16
35751408AK  |BT40-HBIT50-84 AK 92-110 21-30 | 84 131 |BT40-H50-50 2.28
35751412AK  |BT40-HBIT50-122 AK  92-110 21-30 | 122 171 |BT40-H50-90 2.85
35751416AK  |BT40-HBIT50-162 AK 92-110 21-30 | 162 211 |BT40-H50-130 RKCCo2110 3.33
35751420AK  |BT40-HBIT50-202 AK 92-110 21-30 | 202 251 |BT40-H50-170 4.20

42



BT50-H50-165 M:202

L1
Do>e
TTE: D2x2-D>HBIT__
U HIESLRIERES
=t G-I =4 Bi%ingange M3 M L Adjustable Single Reverse Cutter Boring System B &
Order No. Model oDMir-oDMax LM | rEsLAEE | mEsLRIE R | RIESLER | NW.
Taper Shank Boring Head | Reverse Cutting Insert Holder Apron

35761408AK  |BT40-HBIT50-84 AK 110-128 30-39 | 84 131 |BT40-H50-50 2.30
35761412AK  |BT40-HBIT50-122 AK 110-128 30-39 | 122 171 |BT40-H50-90 2.87
35761416AK  |BT40-HBIT50-162 AK 110-128 30-39 | 162 211 |BT40-H50-130 RKCCT10128 3.35
35761420AK  |BT40-HBIT50-202 AK 110-128 30-39 | 202 251 |BT40-H50-170 HBIT50 apr50 4.22
35771408AK  |BT40-HBIT50-84 AK 128-146 39-48 | 84 131 |BT40-H50-50 2.30
35771412AK  |BT40-HBIT50-122 AK  128-146 39-48 | 122 171 |BT40-H50-90 2.87
35771416AK  |BT40-HBIT50-162 AK 128-146 39-48 | 162 211 |BT40-H50-130 RKCCT28146 3.35
35771420AK  |BT40-HBIT50-202 AK 128-146 39-48 | 202 251 |BT40-H50-170 4.22
36701408AK  |BT40-HBIT63-86 AK 70-90 3-13 86 135 |BT40-H63-55 2.98
36701413AK |BT40-HBIT63-136 AK 70-90 3-13 | 136 185 |BT40-H63-105 RKCC7090 4.19
36701418AK  |BT40-HBIT63-186 AK 70-90 3-13 | 186 235 |BT40-H63-155 5.28
36901408AK  |BT40-HBIT63-86 AK 90-110 13-23 | 86 135 |BT40-H63-55 3.03
36901413AK  |BT40-HBIT63-136 AK 90-110 13-23 | 136 185 |BT40-H63-105 RKCC90110 4.24
36901418AK |BT40-HBIT63-186 AK 90-110 13-23 | 186 235 |BT40-H63-155 5.33
36911408AK  |BT40-HBIT63-86 AK 110-130 23-33 | 86 137 |BT40-H63-55 3.09
36911413AK  |BT40-HBIT63-136 AK 110-130 23-33 | 136 187 |BT40-H63-105 HBIT63 RKCC110130 apré3 4.30
36911418AK  |BT40-HBIT63-186 AK 110-130 23-33 | 186 237 |BT40-H63-155 5.39
36921408AK  |BT40-HBIT63-86 AK  130-150 33-43 | 86 137 |BT40-H63-55 3.13
36921413AK  |BT40-HBIT63-136 AK 130-150 33-43 | 136 187 |BT40-H63-105 RKCC130150 4.34
36921418AK  |BT40-HBIT63-186 AK 130-150 33-43 | 186 237 |BT40-H63-155 5.43
36931408AK  |BT40-HBIT63-86 AK 150-170 43-53 | 86 137 |BT40-H63-55 3.18
36931413AK  |BT40-HBIT63-136 AK 150-170 43-53 | 136 187 |BT40-H63-105 RKCC150170 4.39
36931418AK  |BT40-HBIT63-186 AK 150-170 43-53 | 186 237 |BT40-H63-155 5.48
38901408AK  |BT40-HBIT80-86 AK  90-130 5-25 86 135 |BT40-H63-55 3.47
38901413AK  |BT40-HBIT80-136 AK 90-130 5-25 | 136 185 |BT40-H63-105 RKCC90130 4.68
38901418AK |BT40-HBIT80-186 AK 90-130 5-25 | 186 235 |BT40-H63-155 5.77
38911408AK  |BT40-HBIT80-86 AK 130-170 25-45 | 86 135 |BT40-H63-55 3.54
38911413AK  |BT40-HBIT80-136 AK 130-170 25-45| 136 185 |BT40-H63-105 HBIT80 RKCC130170 apr80 4.75
38911418AK  |BT40-HBIT80-186 AK 130-170 25-45 | 186 235 |BT40-H63-155 5.84
38921408AK | BT40-HBIT80-86 AK 170-210 45-65 | 86 137 |BT40-H63-55 3.65
38921413AK  |BT40-HBIT80-136 AK 170-210 45-65 | 136 187 |BT40-H63-105 RKCC170210 4.86
38921418AK  |BT40-HBIT80-186 AK 170-210 45-65 | 186 237 |BT40-H63-155 5.95

43



44

HBIT

#&3L7) — RiE-AK type

justable Single Cutter for Reverse Roughing and Semi-Finishing Boring System

¥ESLOR ~ $BIESL AR « BIESLRIETIEE - RIESLEER Taper Shank, Body, Reverse Cutting Insert Holder and Apron

L |
| M |
RKCC7492 ‘
Sl
e
=3 i T
L1
- D2>e
% SET TJJE: Dox2-D>HBIT__
MAS403 BT-HBIT 1B#&3l.7] — K #E-AK type
MAS403 BT and HBIT Adjustable Single Reverse Cutter Boring Head
_ . EEIRERMES
Hi=t - G-I -4 Bic;liingRange M3 M L Adjustable Single Reverse Cutter Boring System B &
Order No. Model oDMinoDMax LM | ErEsLAeE | mEs RiE e | RESLER | NW.
Taper Shank Boring Head | Reverse Cutting Insert Holder Apron
32291509AK  |BT50-HBIT25-92 AK 29-36 2-5 92 166 |BT50-H25-115 4.32
32291511AK  |BT50-HBIT25-117 AK 29-36 2-5 117 191 |BT50-H25-140 RKCC2936 4.47
32291514AK  |BT50-HBIT25-142 AK 29-36 2-5 142 216 |BT50-H25-165 HBIT25 apr25 4.57
32351509AK  |BT50-HBIT25-92 AK  35-42 5-8 92 166 |BT50-H25-115 4.33
32351511AK  |BT50-HBIT25-117 AK 35-42 5-8 117 191 |BT50-H25-140 RKCC3542 4.48
32351514AK  |BT50-HBIT25-142 AK 35-42 5-8 142 216 |BT50-H25-165 4.58
33361512AK  |BT50-HBIT32-122 AK 36-45 2-6 122 196 |BT50-H32-135 4.91
33361515AK  |BT50-HBIT32-152 AK 36-45 2-6 152 226 |BT50-H32-165 RKCC3645 5.16
33361518AK  |BT50-HBIT32-187 AK 36-45 2-6 187 261 |BT50-H32-200 HBIT32 apra2 5.36
33441512AK  |BT50-HBIT32-122 AK 44-53 6-10 122 196 |BT50-H32-135 4.91
33441515AK  |BT50-HBIT32-152 AK 44-53 6-10 152 226 |BT50-H32-165 RKCC4453 5.16
33441518AK  |BT50-HBIT32-187 AK 44-53 6-10 187 261 |BT50-H32-200 5.36
34451512AK  |BT50-HBIT40-120 AK 45-56 2-8 120 198 |BT50-H40-135 5.44
34451517AK  |BT50-HBIT40-170 AK 45-56 2-8 170 248 |BT50-H40-185 RKCCA556 5.99
34451521AK  |BT50-HBIT40-210 AK 45-56 2-8 210 288 |BT50-H40-225 6.44
34451525AK  |BT50-HBIT40-250 AK 45-56 2-8 250 328 |BT50-H40-265 6.84
34551512AK |BT50-HBIT40-120 AK 55-66 7-13 | 120 | 198 |BT50-H40-135 HBIT40 aprd0 5.45
34551517AK  |BT50-HBIT40-170 AK 55-66 7-13 170 248 |BT50-H40-185 RKCC5566 6.00
34551521AK  |BT50-HBIT40-210 AK 55-66 7-13 | 210 288 |BT50-H40-225 6.45
34551525AK  |BT50-HBIT40-250 AK 55-66 7-13 | 250 328 |BT50-H40-265 6.85
35561508AK  |BT50-HBIT50-84 AK 56-74 3-12 84 144 |BT50-H50-65 4.87
35561518AK |BT50-HBIT50-184 AK 56-74 3-12 184 244 |BT50-H50-165 cc 6.42
35561523AK |BT50-HBIT50-234 AK 56-74 3-12 234 294 |BT50-H50-215 RKCCS674 7.37
35561528AK  |BT50-HBIT50-284 AK 56-74 3-12 284 344 |BT50-H50-265 8.27
35741508AK  |BT50-HBIT50-84 AK 74-92 12-21 84 144 |BT50-H50-65 4.89
35741518AK  |BT50-HBIT50-184 AK 74-92 12-21| 184 244 |BT50-H50-165 RKCC7492 6.44
35741523AK  |BT50-HBIT50-234 AK 74-92 12-21| 234 294 |BT50-H50-215 7.39
35741528AK  |BT50-HBIT50-284 AK 74-92 12-21| 284 344 |BT50-H50-265 8.29
35751508AK |BT50-HBIT50-86 AK  92-110 21-30 | 86 146 |BT50-H50-65 4.93
35751518AK  |BT50-HBIT50-186 AK 92-110 21-30 | 186 246 |BT50-H50-165 6.48
35751523AK  |BT50-HBIT50-236 AK 92-110 21-30 | 236 296 |BT50-H50-215 HBITS0 RKCCo2110 apra0 7.43
35751528AK |BT50-HBIT50-286 AK 92-110 21-30 | 286 346 |BT50-H50-265 8.33
35761508AK  |BT50-HBIT50-86 AK 110-128 30-39 | 86 146 |BT50-H50-65 4.95
35761518AK |BT50-HBIT50-186 AK 110-128 30-39 | 186 246 |BT50-H50-165 RKCC110128 6.50
35761523AK |BT50-HBIT50-236 AK 110-128 30-39 | 236 296 |BT50-H50-215 7.45
35761528AK |BT50-HBIT50-286 AK 110-128 30-39 | 286 346 |BT50-H50-265 8.35
35771508AK |BT50-HBIT50-86 AK 128-146 39-48 | 86 146 |BT50-H50-65 4.97
35771518AK  |BT50-HBIT50-186 AK 128-146 39-48 | 186 246 |BT50-H50-165 RKCC128146 6.52
35771523AK  |BT50-HBIT50-236 AK 128-146 39-48 | 236 296 |BT50-H50-215 7.47
35771528AK |BT50-HBIT50-286 AK 128-146 39-48 | 286 346 |BT50-H50-265 8.37




BB ERRES

Hi=t - G-I -4 Bifrin anDe M3 M L Adjustable Single Reverse Cutter Boring System B &
Order No. Model aDMi aDMar IO | A0SR | RESURIEDE | SmIlER | NW.
Taper Shank Boring Head | Reverse Cutting Insert Holder Apron

36701510AK  |BT50-HBIT63-100 AK 70-90 3-13 | 100 165 |BT50-H63-85 6.04
36701518AK |BT50-HBIT63-180 AK 70-90 3-13 | 180 | 245 |BT50-H63-165 7.94
36701523AK  |BT50-HBIT63-230 AK 70-90 3-13 | 230 295 |BT50-H63-215 RKCC7090 9.49
36701528AK  |BT50-HBIT63-280 AK 70-90 3-13 | 280 345 |BT50-H63-265 10.44
36701533AK  |BT50-HBIT63-330 AK 70-90 3-13 | 330 | 395 |BT50-H63-315 13.69
36901510AK  |BT50-HBIT63-100 AK 90-110 13-23 | 100 165 |BT50-H63-85 6.09
36901518AK  |BT50-HBIT63-180 AK 90-110 13-23 | 180 245 |BT50-H63-165 7:99
36901523AK  |BT50-HBIT63-230 AK 90-110 13-23 | 230 295 |BT50-H63-215 RKCC90110 9.54
36901528AK  |BT50-HBIT63-280 AK 90-110 13-23 | 280 345 |BT50-H63-265 10.49
36901533AK  |BT50-HBIT63-330 AK 90-110 13-23 | 330 395 |BT50-H63-315 13.74
36911510AK  |BT50-HBIT63-102 AK  110-130 23-33 | 102 167 |BT50-H63-85 6.15
36911518AK  |BT50-HBIT63-182 AK 110-130 23-33 | 182 247 |BT50-H63-165 8.05
36911523AK  |BT50-HBIT63-232 AK 110-130 23-33 | 232 297 |BT50-H63-215 HBIT63 RKCC110130 apré3 9.60
36911528AK  |BT50-HBIT63-282 AK 110-130 23-33 | 282 347 |BT50-H63-265 10.55
36911533AK  |BT50-HBIT63-332 AK 110-130 23-33 | 332 397 |BT50-H63-315 13.80
36921510AK  |BT50-HBIT63-102 AK 130-150 33-43 | 102 167 |BT50-H63-85 6.19
36921518AK  |BT50-HBIT63-182 AK  130-150 33-43 | 182 247 |BT50-H63-165 8.09
36921523AK  |BT50-HBIT63-232 AK  130-150 33-43 | 232 297 |BT50-H63-215 RKCC130150 9.64
36921528AK  |BT50-HBIT63-282 AK 130-150 33-43 | 282 347 |BT50-H63-265 10.59
36921533AK  |BT50-HBIT63-332 AK 130-150 33-43 | 332 397 |BT50-H63-315 13.84
36931510AK  |[BT50-HBIT63-102 AK 150-170 43-53 | 102 167 |BT50-H63-85 6.24
36931518AK  |BT50-HBIT63-182 AK 150-170 43-53 | 182 247 |BT50-H63-165 8.14
36931523AK  |BT50-HBIT63-232 AK 150-170 43-53 | 232 297 |BT50-H63-215 RKCC150170 9.69
36931528AK  |BT50-HBIT63-282 AK 150-170 43-53 | 282 347 |BT50-H63-265 10.64
36931533AK  |BT50-HBIT63-332 AK 150-170 43-53 | 332 397 |BT50-H63-315 13.89
38901510AK  |BT50-HBIT80-100 AK 90-130 5-25 | 100 165 |BT50-H63-85 6.53
38901518AK  |BT50-HBIT80-180 AK 90-130 5-25 | 180 245 |BT50-H63-165 8.43
38901523AK  |BT50-HBIT80-230 AK 90-130 5-25 | 230 295 |BT50-H63-215 RKCC90130 9.98
38901528AK  |BT50-HBIT80-280 AK 90-130 5-25 | 280 345 |BT50-H63-265 10.98
38901533AK |BT50-HBIT80-330 AK 90-130 5-25 | 330 395 |BT50-H63-315 14.18
38911510AK  |BT50-HBIT80-100 AK 130-170 25-45 | 100 165 |BT50-H63-85 6.60
38911518AK  |BT50-HBIT80-180 AK 130-170 25-45| 180 245 |BT50-H63-165 8.50
38911523AK  |BT50-HBIT80-230 AK 130-170 25-45 | 230 295 |BT50-H63-215 HBIT80 RKCC130170 apr80 10.05
38911528AK  |BT50-HBIT80-280 AK 130-170 25-45 | 280 345 |BT50-H63-265 11.00
38911533AK  |BT50-HBIT80-330 AK 130-170 25-45 | 330 395 |BT50-H63-315 14.25
38921510AK  |BT50-HBIT80-102 AK 170-210 45-65 | 102 167 |BT50-H63-85 6.71
38921518AK  |BT50-HBIT80-182 AK 170-210 45-65 | 182 247 |BT50-H63-165 8.61
38921523AK  |BT50-HBIT80-232 AK 170-210 45-65 | 232 297 |BT50-H63-215 RKCC170210 10.16
38921528AK  |BT50-HBIT80-282 AK 170-210 45-65 | 282 347 |BT50-H63-265 11.11
38921533AK  |BT50-HBIT80-332 AK 170-210 45-65 | 332 397 |BT50-H63-315 14.36
38901508EAK |BT50-HBIT80E-85 AK 90-130 5-25 85 150 |BT50-H80-70 6.67
38901513EAK |BT50-HBIT80E-130 AK 90-130 5-25 | 130 195 |BT50-H80-115 8.22
38901518EAK |BT50-HBIT80E-180 AK 90-130 5-25 | 180 245 |BT50-H80-165 RKCC90130 9.92
38901523EAK |BT50-HBIT80E-230 AK 90-130 5-25 | 230 295 |BT50-H80-215 11.67
38901528EAK |BT50-HBIT80E-280 AK 90-130 5-25 | 280 345 |BT50-H80-265 13.42
38901533EAK |BT50-HBIT80E-330 AK 90-130 5-25 | 330 395 |BT50-H80-315 15.12
38911508EAK |BT50-HBIT80E-85 AK 130-170 25-45| 85 150 |BT50-H80-70 6.73
38911513EAK |BT50-HBIT80E-130 AK 130-170 25-45| 130 195 |BT50-H80-115 8.28
38911518EAK |BT50-HBIT80E-180 AK 130-170 25-45| 180 245 |BT50-H80-165 9.98
38911523EAK |BT50-HBIT80E-230 AK 130-170 25-45 | 230 295 |BT50-H80-215 HBITE0E RKCC130170 apré0 11.73
38911528EAK |BT50-HBIT80E-280 AK 130-170 25-45 | 280 345 |BT50-H80-265 13.48
38911533EAK |BT50-HBIT80E-330 AK 130-170 25-45| 330 395 |BT50-H80-315 15.18
38921508EAK |BT50-HBIT80E-87 AK 170-210 45-65 | 87 152 |BT50-H80-70 6.87
38921513EAK |BT50-HBIT80E-132 AK 170-210 45-65 | 132 197 |BT50-H80-115 8.42
38921518EAK |BT50-HBIT80E-182 AK 170-210 45-65 | 182 247 |BT50-H80-165 RKCC170210 10.12
38921523EAK |BT50-HBIT80E-232 AK 170-210 45-65 | 232 297 |BT50-H80-215 11.87
38921528EAK |BT50-HBIT80E-282 AK 170-210 45-65 | 282 347 |BT50-H80-265 13.62
38921533EAK |BT50-HBIT80E-332 AK 170-210 45-65 | 332 397 |BT50-H80-315 15.32
39131515AK  |BT50-HBIT120-150 AK 130-190 5-35 | 150 200 |BT50-H100-100 12.44
39131520AK  |BT50-HBIT120-200 AK 130-190 5-35 | 200 250 |BT50-H100-150 RKCC130190 15.09
39131525AK  |BT50-HBIT120-250 AK 130-190 5-35 | 250 300 |BT50-H100-200 18.04
39131530AK  |BT50-HBIT120-300 AK 130-190 5-35 | 300 350 |BT50-H100-250 HBIT120 apri20 20.99
39171515AK  |BT50-HBIT120-150 AK 170-230 25-55 | 150 200 |BT50-H100-100 12.54
39171520AK  |BT50-HBIT120-200 AK 170-230 25-55 | 200 250 |BT50-H100-150 RKCG170230 15.19
39171525AK  |BT50-HBIT120-250 AK 170-230 25-55 | 250 300 |BT50-H100-200 18.14
39171530AK  |BT50-HBIT120-300 AK 170-230 25-55 | 300 350 |BT50-H100-250 21.09

45



46

Stann y

1143 5&#Esl
High Speed Cutting Bar Fine Boring System

1. #$BCM ~ BRM ~ BIMIREBRABMEIESHIVIERIETA) - #1IZHHIEREEBCM ~ BRM ~ BJM °

2. I8 RERAEBCM * BRM ~ BIMEB(ER7) » EE6IZH -

3. liEiE iR E(B7m8) - FIEEERS -

4.7%BCM ~ BRM * BIMIRBRABMAI 2 EHIVIEN QB RB)FAE 11%4# - THEIEBCM ~ BRM » BIMEITJR &RARTY » EEE19%#H
5. TRERTHSIRA, - SAEE T REENA2E3IRAR - CIPIFA4IR R o

6. AKIETREFRFR TR IBEE » FERB[EFEN LHTEREAIBIEIE - EERR I EHERRM -

1. BCM, BRM or BJM put into the measure instrument, tighten bolt 1. (Fig. A)

2. Dial Indicator move to BCM, BRM or BJM, tighten bolt 6. (Fig. 7)

3. Indicator make zero. (Fig. 8)

4. BCM, BRM or BJM put into the measure instrument, loosen bolt 1. After adjust tighten bolt 1.(Fig. B)

5. Loosen bolt 5, adjust cutting insert holder. Increase size adjust bolt 2 or bolt 3. Decrease size adjust bolt 4. (Fig 5)

6

. The size show in dial indicator is radius.
(r-2=D) D+BCM, BRM or BJM=Boring Cutting Diameter

After, tighten Bolt 5.

-5~ 1 L

’T[ﬂﬂ B‘..

¢




Stann y

=RESL )
High Speed Cutting Bar Fine Boring System

47



48

- R
uring, Shank

8
Adjustable Measuring
R FEIE BISEEE -
ST i _ SSaE AU PE
Order No Model Diameter Range Boring Range NW
: oDMin~gDMax DMin~@DMax o
45900000 |ABM1025 10-25 11-43 0.55
45902046MI |ABM1025+Mitutoyo 10-25 11-43 0.69
45900810MA |ABM1025+Mahr 10-25 11-43 0.73
L
DM
N
o »\/#«
.‘5‘ St (B0 E—g—#—ﬂtﬂ*
33 al
C
Zig
Shank
gy | omes | RED e L« TIHE cuiEmE | B " % =
Order No. Model oDMin-aDMax Insert Holder C-NUT B-Bolt Wrench N.W.
45901010 |BCM1010-40 11-14 40 10 10 96 90 MR/MK 11 NUT6 SLCS-M3 T8 0.050
45901212 |BCM1212-50 13-17 50 12 12 107 100 MR/MK 13 0.087
45901414 |BCM1414-55 15-22 55) 14 14 127 120 MR/MK 15 NUT7 SLCS-M4 T15 0.131
45901615 |BCM1615-65 16-23 65 16 15 139 130 MR/MK 16 0.178
45901616 |BCM1616-65 17-23 65 16 16 139 130 MR/MK 17 0.184
45902019 |BCM2019-80 20-30 80 20 19 159 150 MR/MK 20 0.324
45902020 |BCM2020-80 23-33 80 20 20 159 150 MR/MK 23 NUT9 SLCS-M5 T25 0.341
45902524 |BCM2524-100 26-40 100 25 24 199 190 MR/MK 26 0.661
45902525 |BCM2525-100 29-43 100 25 25 199 190 MR/MK 29 0.668




EAHSET ABC1143 JREN.W. 7.0 kg

STE#RSR : 45901143
Order No. 45901143

DM50  g15-22
DM55

BM+BCM+MR &3]

1143 Semi-Finishing Boring System

XGTVI00vIT ATUBIC
9-sT9TINOg LBS I]

216~23
DM65

917~23
DM65

XQTVI00VIT ( DI
69-9T9TWOg LY

DM80

XETYT00VIT KTLBIC
08-6T0zW0g LUBS

XGTYT00V9T (\
08-020zn0g LUBS

XGTVT00Y9T (‘
00T-v¢SeN0g LUuet

XETVYT00v9T (‘
00T-G¢GgN0g LUUBIS

RS &%

DM

49



MR (HBOR50P, HBORG63P) S ®HE3L./)
tting Bar Fine Boring System

4HSET ABR1143 ;REN.W. 6.3 kg

STEHRSR : 50171143
Order No. 50171143

L

XBTVI00¥8T (HOH)|

07-STITNY

0S-6T9TINHG

XETVI00V8T (MO8H)

XETVI0OVST (4O8H)

S9-919TINYE
X8TVI00V8T (JO&H)
€9-7¢9TINH4

DM

$11-14
DM40
$13-17
DM50
DMS5 ¢ 16~23
DM40
@ 17~23
M85~ 4 20-30
DMS0 "~ ¢ 23-33
DMB8O 4 26-40
DM63 ~ 4 29-43
DM100

PS. 552 P53, 59.
PS. Specification please refer to P53, 59.

50



1143 LUt

FYHSET ABJ1143  JBEN.W. 6.5 kg

STEMRSR : 16171143
Order No. 16171143

R (HNBJ16P)SixHE3L/)
ing Bar Fine Boring System

07-STITINCH

XEIVI0OVET (910aNH)

XETVIO0VT (9TCENH).
ST €

PS. 552 P53, 89.
PS. Specification please refer to P53, 89.

X81Y100V81 (9TrBNH)

| =

G9-9T9TINCE

€9-VZ9TINCE

XETYT00V8T (9TCENH)

¢ 23~33
DM80

¢ 26~40

DM63

¢ 29~43
DM100

DM

51



ing Bar Fine Boring System

. w
oi ED R0 3 ! E @—-H»LB
4# | = G)
SEEUH X T 3
Carbide Shank DM=7xC
Hth A8 c X d =12 BE
Order No. Model Shank N.W.
45071007 |SC10M5-75 75 0.069
45071010 |SC10M5-100 10 100 5.5 SM5BCM10 0.098
45071015 [SC10M5-150 150 0.149
45071207 |SC12M6-75 75 0.106
45071210 [SC12M6-100 12 100 6.5 SM6BCM12 0.140
45071215  |SC12M6-150 150 0.216
45071410 [SC14M8-100 100 0.190
45071415 |SC14M8-150 14 150 8.5 SM8BCM14 0.300
45071420 |SC14M8-200 200 0.410
45071610 |SC16M8-100 100 0.254
45071615 |SC16M8-150 16 150 8.5 SM8BCM16 0.377
45071620 |SC16M8-200 200 0.517
45072015 |SC20M10-150 150 0.589
45072020 |SC20M10-200 20 200 10.5 SM10BCM20 0.802
45072025 |SC20M10-250 250 1.006
45072515 |SC25M12-150 150 0.922
45072520 |SC25M12-200 o5 200 125 SM12BCM25 1.253
45072525 |SC25M12-250 250 1.575
45072530 |SC25M12-300 300 1.908
[ DM
| |
O SSaNaz-200
MIREE(C /=)L) | X

Exchangeable Head BIT

mmms | mis | SARED g | s E | s | mF |8E
Order No. Model . Flutes Carbide Shank Insert Bolt Wrench | N.W.
- oDMin-oDMax
31081416 |SM8BIT1416 15.7 24 0.026
31081417 |SM8BIT1417 16.7 25 | SC14M8-100 0.027
31081618 |SM8BIT1618 17.7 26 | SC14M8-150 0.036
31081619 [SM8BIT1619 | 18.7 M8 | 27 | So1aMe-200 0.038
31081620 |SM8BIT1620 19.7 » 28 | SG16M8-150 0.040
31081621 |SM8BIT1621 20.7 29 | SC16M8-200 0.043
31081622 |SM8BIT1622 21.7 30 0.046
31102021 |SM10BIT2021 |  20.7 29 0.064
31102022 |SM10BIT2022 | 21.7 30 0.068
31102023 |SM10BIT2023 | 22.7 31 | 5c20M10-150 0.068
31102024 |SM10BIT2024 | 23.7 M10 | 32 |SC20M10-200 | CCMTO0602.. | TS25-M2.5| T8 |0.070
31102025 |SM10BIT2025 | 24.7 33 | SC20M10-250 0.071
31102026 |SM10BIT2026 | 25.7 34 0.076
31102027 |SM10BIT2027 | 26.7 35 0.079
31122526 |SM12BIT2526 | 25.7 34 0.113
31122527 |SM12BIT2527 |  26.7 3 35 0.118
31122528 |SM12BIT2528 | 27.7 36 | SC25M12-150 0.122
31122529 |SM12BIT2529 | 28.7 M12 | 37 2832%13228 0.127
31122530 |SM12BIT2530 | 29.7 38 | SCo5M12-300 0.130
31122531 |SM12BIT2531 |  30.7 39 0.136
31122532 |SM12BIT2532 | 31.7 40 0.141

52



e
Shank
I EHROR R8s m X TIEE CEIZIFIE BiF#H FES b ==2]
Order No. Model Insert Holder C-NUT B-Bolt Wrench N.W.
45090510 |SM5BCM10 M5 19 MR/MK 11 NUT6 SLCS-M3 T8 0.011
45090612 |SM6BCM12 M6 22 MR/MK 13 NUT7 SLCS-M4 T15 0.019
45090814 |SM8BCM14 M8 23 MR/MK 15,16 NUT7 SLCS-M4 T15 0.028
45090816 |SM8BCM16 M8 26 MR/MK 17. 20 NUT9 SLCS-M5 T25 0.039
45091020 |[SM10BCM20| M10 27 23 96 2’9 ’ NUT9 SLCS-M5 T25 0.063
45091225 |SM12BCM25| M12 29 T NUT9 SLCS-M5 T25 0.105
‘ V/
30 b
® % ©s
,\0 — ~
e Q)
MR¥5EHE3|, T EE
Cutting Insert Holder
I EHRR A8 B oérp?n garl? ge W e =2 2 yalay %k ES BB
Order No. Model oDMin-aDMax BCM |BRM/BJM Insert Bolt Wrench N.W.
50061114 MR11 11-14 6 10.6 1010 1610 CCGT0301..L SB-1630TR-M1.6 0.002
50061317 MR13 13-17 12.6 1212 1612 T6 0.003
50061522 MR15 15-22 ! 14.4 1414 1614 ceaToaot. L SB-2040TR-M2 0.008
50061623 MR16 16-23 15.4 1615 1615 0.005
50061723 MR17 17-23 16.6 1616 1616 0.005
50062026 MR20 20-30 19.4 2019 1619 0.006
50062329 MR23 23-33 9 22.4 2020 1620 ceaToso2..L TS25-M2.5 8 0.008
50062632 MR26 26-40 25.4 2524 1624 0.010
50062943 MR29 29-43 28.4 2525 1625 0.013
—aW o
&,
‘\)o \
BN S
® = ©s O
30 o
RICE: O] B,
e }
MKABEHESL R i TIRE
Reverse Cutting Insert Holder
mEms | ome R BD L | . | R e TE it wF | BE
Order No. Model oDMin-oDMax BCM |BRM/BJM Insert Bolt Wrench N.W.
50051114 MK11 11-14 2.5 6 10.6 1010 1610 CCGTO0301..R SB-1630TR-M1.6 0.002
50051317 MK13 13-17 2.8 12.6 1212 1612 T6 0.003
50051522 MK15 15-22 4.4 ! 14.4 1414 1614 CCaT0401.R SB-2040TR-M2 0.004
50051623 MK16 16-23 4.5 15.4 1615 1615 0.005
50051723 MK17 17-23 4 16.6 1616 1616 0.005
50052026 MK20 20-30 5.4 19.4 2019 1619 0.007
9 10602..R TS25-M2.5 T8
50052329 MK23 23-33 6.6 22.4 2020 1620 cea S 0.009
50052632 MK26 26-40 8.1 25.4 2524 1624 0.011
50052943 MK29 29-43 9 28.4 2525 1625 0.014




I

¥ N
N\ I
ol =
\ Y M5*12CAP
——t— X —f——
1218
Shank
Hi=td AR 3 B
Order No. Model H X OM MA N.W.
44002530 |BMH25-30 25 20 30 M5x12 0.084
44003237  |BMH32-37 32 25 37 M6x12 0.164
44004044 |BMH40-44 40 32 44 M6x12 0.309
44005060 |BMHS50-60 50 42 61 M8x20 0.640
44006370 |BMH63-70 63 52 71 M8x20 1.290

CSTRBIIZ (B

50  sRTP4488
’ @8%

¥EIB3L O
Cutting Insert Holder
ETEIRSE e | e B0 w | e i 12 7K ® RT | #E
Order No. Model oDMin-aDMax Shank Insert Bolt Wrench N.W.
50252938 SRTP2938 29-38 11 28 BMH25-30 0.01
50323652 SRTP3652 36-52 13 35 BMH32-37 0.02
BMH32-37
50404468 SRTP4468 44-68 13 43 BMH40-44 TPGH0902..L SB-2TR-M2.5 0.03
BMH32_37 (TPGX0902..L) (CS250T)
- i T8 .
50406690 SRTP6690 66-90 13 54 BMH40-44 0.04
50408811 SRTP88112 88-112 13 65 BMH40-44 0.05
50505790 SRTP5790 57-90 20 54 BMH50-60 TPGH1103.L SB-3TR-M3 0.10
50637011 SRTP70110 70-110 20 67 BMH63-70 (TPGX11 03.-.-L) (CS300T) 0.10
50637115 SRTP110150 110-150 20 107 BMH63-70 0.21

PS.(CSRIIZHH » 5EE] EIFBNSH)
PS.Order bolt CS series, please advise in advance.

54



TSRIIIEHR(Bolt)

HHHHWHH A
o g
50 @ ’ (@)= BN
SR AEIESL I RE
Rhombus Cutting Insert Holder
mEmy | omm (g @O i 12 0K B4 R T |5 E
Order No. Model oDMin-oDMax Shank Insert Bolt Wrench | N.W.
50252938CC |SRCC2938 29-38 11 26 BMH25-30 0.01
50323652CC |SRCC3652 36-52 13 35 BMH32-37 0.02
BMH32-37
50404468 RCC4468 44-68 13 43 0.03
CC |SRCC BMH40-44 CCGT0602..L TS25-M2.5 T8
BMH32-37
50406690CC |SRCC6690 66-90 13 54 BMHA40-44 0.04
50408811CC |SRCC88112 88-112 13 65 BMH40-44 0.05
50505790CC |SRCC5790 57-90 20 54 BMH50-60 0.09
50637011CC |SRCC70110 70-110 20 67 BMH63-70 0.10
50637115CC |SRCC110150 110-150 20 107 BMH63-70 CCGTO09T3..L TS4-M4 T15 0.20
50637159CC |SRCC150190 150-190 22 149 BMH63-70 0.36
50637193CC |SRCC190230 190-230 22 189 BMH63-70 0.48
aw
Sl
T ° SBRTIIRH(Bol) CSSRBIMEH%(Bolt)
© x &(% < 5 <
FKTP4468 50 B @ @ \ | o \ “
\
— € —
YetEIL R g I RE
Reverse Cutting Insert Holder
gEme | omog R BEDL L L] Be A g4 (R T | BB
Order No. Model g hang Shank Insert Bolt Wrench | N.W.
oDMin-oDMax
50252938K |FKTP2938 29-38 9.5 11 27 BMH25-30 0.01
50323652K |FKTP3652 36-52 11.1 11 35 BMH32-37 0.02
BMH32-37 TPGH0902..R | SB-2TR-M2.5
50404468K |FKTP4468 44-68 186 | 11 | 43 | guiioas | (TPGX0902.R) |  (CS250T) 0.03
BMH32-37
50406690K |FKTP6690 66-90 17 14 54 BMH40-44 T8 0.05
50408811K |FKTP88112 88-112 172 | 14 65 BMH40-44 0.06
50505790K |FKTP5790 57-90 14 15 54 BMH50-60 TPGH1103.R | SB-3TR-M3 0.10
50637115K |FKTP70110 70-110 16 15 66 BMH63-70 ('FPGX1103::R) (CS300T) 0.10
50637115K |FKTP110150 110-150 25 15 106 BMH63-70 0.21
PS.(CSHRIIFHH » BRI BTSN SH)
PS.Order bolt CS series, please advise in advance.
aw
o3
e =Y TSTRBIIZH4(Bolt)
o S =
O X o lhi
|| FxcCaze 50 = @“’( E @ L!% ~
|
EREEILRIET)E - e -
Rhombus Reverse Cutting Insert Holder
gEmy | oms BEDL L moae il B M RT3 E
Order No. Model g Rang Shank Insert Bolt Wrench | N.W.
oDMin-oDMax
50252938KC |FKCC2938 29-38 8.2 11 26 BMH25-30 0.01
50323652KC |FKCC3652 36-52 11.1 11 35 BMH32-37 0.02
BMH32-37
50404468KC |FKCC4468 44-68 139 | 11 43 0.03
BMH40-44 CCGT0602..R TS25-M2.5 T8
BMH32-37
50406690KC |FKCC6690 66-90 17 14 54 BMH40-44 0.05
50408811KC |FKCC88112 88-112 175 | 14 65 BMH40-44 0.06
50505790KC |FKCC5790 57-90 14 15 54 BMH50-60 0.09
50637011KC |FKCC70110 70-110 16 15 67 BMH63-70 0.10
50637115KC |FKCC110150 | 110-150 28 15 107 BMH63-70 | CCGT09T3..R TS4-M4 T15 0.20
50637159KC |FKCC150190 | 150-190 | 31.5| 19 105 BMH63-70 0.24
50637193KC |FKCC190230 | 190-230 32 19 125 BMH63-70 0.31

55



HBOR

56

M EEASIESL R IR -ES LS E

Micro-Finishing Cutter for Fine Boring System - lllustration Diagram

& BT50-H63-85 M:122

& BT50-H63-85 M:122

& BT50-H63-85 M:122

& BT50-H63-85 M:122

N
N
o
=
n
ot
[32}
©
T
o
n
[
[aa]

S BT50-H63-85 M:122

L

)
0«%@0 002mm
o)
[o]o

~~ DM — |

s
El[| S@®sri616-60 <
Bll| asmmiaia N\, (@)

oRx 18

90.002mm
(T

HBORG63
lock
©

T
110 90 70 sgrp7o1A(,

— 9

0.002mm

HBORG63
lock
©

HBORG3P
lock
©

e

Q -@/ 0.002
{0} S90.002mm

8l © : o)
| 6
\
. DM |
© 3@%@ @ G @
©5 -

@ BRM1625-100

(HBORJ)L9A001A1BX

A

Q -@/ 0.002
{0} S90.002mm

(HBOR}QAOOlAlBX
l

D4

HEEIAL

Cutting Bar

HBORS0
HBORG63

YaiE 3L E

Cutting Insert Holder

HBOR

EIESLR BT E

Reverse Cutting Insert Holder

HBOR

TTI&

D2>e
D2x2-D>HBOR__

=R U HIESL &A%
High Speed Cutting Boring System
HBOR25P

HBOR32P

HBOR40P

HBORS50P

HBOR63P

HBOR50P-BRM16
HBORG63P-BRM16

BN E R - EE" DR

Outer Diameter Boring
System Cutting

HBORG63-BM16D



Stann y

HBOR &8ss 1=, )%k

Micro-Finishing Cutter Fine Boring System

TEYERR T ERRE » RN\ EhiRESETD »
1EELOCKIZ % » 2MEEIESLR Y » B
LLOCKIZEHH » EITERLDH -

The boring tools are pre-balance.

1. Loosen locking bolt

2. Rotate the graduation to adjust the size,
then tighten the locking bolt.

—— —
starny 37063 P

MERRIREIR
@@ Adjust the Graduation

SEZENIR
Vice Graduation

+

## Lock

B Open

57



HBOR

58

¥51E3LT)AEE Body
¥51E3L /)12 Cutting Bar

MR RS E S /)

Micro-Finishing Cutter Fine Boring System

HBOR 1l Ea#51E3l ) -+51E3L ) A4E

Body for HBOR Micro-Finishing Cutter Fine Boring

%Qo.lmm

SEYEIR
Vice Graduation

~ HBOR“

RIS
Body

Rear max

Sgifﬁl\fff ﬁodﬁ h d |Front| Rear| X IngAI\t Igllo?t /ﬁ.wii
51000025 |HBOR25 25 14 1 1 42 | M5x12 0.15
51000032 |HBOR32 32 18 2 2 52 | M6x12 0.35
51000040 |HBOR40 40 22 2 2 53 | M6x12 0.50
51000050 |HBOR50 50 28 2 2 63 ¢ 16 0.92
51000063 |HBORG63 63 36 4 4 63 ¢ 16 M8x14 1.52

—
Front max

MA MB

[—-—

HHRR IZBIR
Adjust the Graduation

——~=—MA

M6*20CAP

——f~—MA

@0.002MM

M8*20CAP
L
~— DM
P o
L
DM
L ~— 60/88 —

© 7 [55_. wsocep

© i oo (] g MR

> |

HBOR (T FREIE3L - B34S .
Cutting Bar for HBOR50 and HBOR63 Micro-Finishing Cutter Fine Boring
ol = pras) —

STHRSE mom | B R FE il . ® wE | %=
Order No. Model oDMin-oDMax DM System Insert Bolt Wrench N.W.
50160621 |BR1606-21 6-9 21 WBGTO0601..LL 54 0.04
50160828 |BR1608-28 8-11 28 59 SB-1STR-M2 T6 0.04
50161035 |BR1610-35 10-13 35 TBGTO601. L 65 0.05
50161242 |BR1612-42 12-15 42 HBORS50 TPGHO902.L 70 SBOTRM2.5 0.06
50161450 |BR1614-50 14-17 50 HBOR63 (TPGX0902.1) 77 (CS2507T) 0.07
50161660 |BR1616-60 16-20 60 85 T8 0.09
50162065 |BR1620-65 20-24 65 TPGH1103..L 88 SB-3TR-M3 0.11
50162468 |BR1624-68 24-28 68 (TPGX11083..L) 91 (CS300T) 0.12
50162505 |BM5 60 + SRTP2938 or SRTP3652 or SRTP4468 80+ M5x12 O4 0.25
50162510 |BMS5-100L 88 + SRTP2938 or SRTP3652 or SRTP4468 116+ 0.40
50501608 |BMS8 +SRTP5790 or SRTP70110 or SRTP110150 M8x20 O6 0.03
50501606 |BM6 +SRTP4468 or SRTP6690 or SRTP88112 M6x20 O5 0.03

PS.(CSHRINRHH - /] BIFRNSH)
PS.Order bolt CS series, please advise in advance.



L
DM

| —

St BEMMERARD

l
! A B-Bolt
(SLCS-M5)

ﬂﬂlﬁf

HBOR RifiaASHESL/)-1212 ‘ X

Shank for HBOR50(P) - HBOR63(P) Micro-Finishing Cutter Fine Boring ! !
STER " « | ZE| | | 4 | coEmE | BEm RF | B B
Order No. Model DM C-NUT B-Bolt Wrench N.W.
50171004 BRM1610-40 45 41 71 10 NUT6 SLCS-M3 T8 0.07
50171205 BRM1612-50 54 51 81 12 0.09
50171405 BRM1614-55 59 56 86 14 0.11
50171504 BRM1615-40 42 41 71 15 NUT7 SLCS-M4 s 0.10
50171506 BRM1615-65 67 66 96 15 0.13
50171606 BRM1616-65 67 66 96 16 0.14
50171905 BRM1619-50 52 51 81 19 0.14
50171908 BRM1619-80 82 81 111 19 0.20
50172008 BRM1620-80 82 81 111 20 NUT9 SLCS-M5 T25 0.22
50172406 BRM1624-63 65 64 94 24 0.26
50172410 BRM1624-100 102 | 101 131 24 0.38
50172510 BRM1625-100 102 | 101 131 25 0.41

.-'\ V/
£ ) I >
o:i= @ k.
HBOR 1R HER E 23l /J-MRIGHESL T EE &
Cutting Insert Holder
B g | e @D . 12 al 2 #4 "E | #E
Order No. Model g hang Shank Insert Bolt Wrench N.W.
oDMin-gDMax

50061114 |MR11 11-14 6 10.6 BRM1610-40 CCGT0301..L SB-1630TR-M1.6 0.002
50061317 |MR13 13-17 12.6 BRM1612-50 T6 0.003
50061522 |MR15 15-22 7 14.4 BRM1614-55 ceaTodot..L SB-2040TR-M2 0.003

BRM1615-40
50061623 |MR16 16-23 15.4 BRM1615.65 0.005
50061723 |MR17 17-23 16.6 BRM1616-65 0.005

BRM1619-50
50062026 |MR20 20-30 0 19.4 BRIM1619.80 COGTOB02.L T825.M2.5 T8 0.006
50062329 |MR23 23-33 22.4 BRM1620-80 0.008

BRM1624-63
50062632 |MR26 26-40 25.4 BRI1624-100 0.009
50062943 | MR29 29-43 28.4 BRM1625-100 0.009

“)‘m
/ \l ——
ﬁ’ S

T ~ “ N
’ gw L :
HBOR fEHEAEBYAIE3L7)-MKFS 832 8 DS ¢ e
Reverse Cutting Insert Holder
g | omre X B0 | e 212 K o7 " | BE
Order No. Model oDMin-aDMax Shank Insert Bolt Wrench NW.
50051114  |MK11 11-14 2.5 6 10.7 BRM1610-40 CCGT0301..R SB-1630TR-M1.6 0.002
50051317 |MK13 13-17 2.8 12.6 BRM1612-50 T6 0.003
50051522 |MK15 15-22 4.4 ! 14.4 BRM1614-55 CCGT0401.R SB-2040TR-M2 0.004
BRM1615-40
50051623 |MK16 16-23 4.5 15.4 BRM1615-65 0.005
50051723 |MK17 17-23 4 16.6 BRM1616-65 0.006
BRM1619-50
50052026 |MK20 20-30 5.4 9 19.4 BRM1619-80 CCGT0602. R TS25-M2.5 T8 0.007
50052329 |MK23 23-33 6.6 22.4 BRM1620-80 0.009
BRM1624-63
50052632 |MK26 26-40 8.1 25.4 BRM1624-100 0.011
50052943 |MK29 29-43 9 28.4 BRM1625-100 0.014




60

HBOR

YSHESL I EE
Cutting Insert Holder

110 90 70 SSRJ!(:?nOHO ;“ SBIRTIIR Ak (Bolt) CSFRBIIZHR(Bolt)
I o= « [, of 4 |
‘:; »"%,
— € —
HBOR 1l MERE1E3L /] -FE 1831 I EE
Cutting Insert Holder for HBOR Micro-Finishing Cutter Fine Boring
[y i8] D -
STEREE gy | e O R vl B R TP E
Order No. Model gg&?ﬁ_{?g&%ﬁ w e System MA Insert Bolt Wrench | N.W.
50252938 |SRTP2938 29-38 11 28 HBOR25 M5 0.01
50323652 |SRTP3652 36-52 13 | 35 HBOR32 M6 0.02
50404468 |SRTP4468 44-68 13 | 43 HBOR40 M6 TPGH0902..L | SB-2TR-M2.5 0.03
50406690 |SRTP6690 66-90 13 | 54 | HBORS0 | pve | (TPGX0902.L) | (CS250T) 0.04
HBORS50 i
50408811 |SRTP88112 88-112 13 | 65 HBORG63 BM6 0.05
50505790 |SRTP5790 57-90 20 | 54 HBOR50 | BM8 0.10
50637011 |SRTP70110 | 70-110 | 20 | 67 | HBOR63 | BMS g’;‘ég} }82"'[) szac-gggté%/ls 0.10
50637115 |SRTP110150 110-150 20 | 107 | HBOR63 | BM8 "’ 0.21
PS.(CSRIiZHE » FEETEFSNESH) PS.Order bolt CS series, please advise in advance.
TSHRINEZ R
T i \
10 90 70 grrern = @ 3
° Y
A
HBOR 1l MERE1E3L /] -f5 1831 I B
Cutting Insert Holder for HBOR Micro-Finishing Cutter Fine Boring
I i B D =
Sgiﬁ\ff ﬁodﬁ Boring Rangs | W e S/_ﬁ\ stiﬁw MA Ese)i mioﬁﬁ‘\ V;tjlirenfh /fl WE
) oDMin-gDMax 4 i
50323652TC |SRTC3652 36-52 15 | 35 HBOR32 M6 0.02
50404468TC |SRTC4468 44-68 15 | 43 HBOR40 M6 0.03
50505790TC |[SRTC5790 57-90 20 | 54 HBOR50 | BM8 | TCGT1102..L TS25-M2.5 T8 0.09
50637011TC |[SRTC70110 70-110 20 | 67 HBOR63 | BM8 0.10
50637115TC |[SRTC110150 110-150 20 | 107 | HBOR63 | BM8 0.20
[T r= PR iy
110 90 70 e 7 i
SRECTOL0 ‘r/ 8 iﬁé‘
HBOR 1Tl EAEIESL /] -ZRAEIESL T EE
Rhombus Cutting Insert Holder for HBOR Micro-Finishing Cutter Fine Boring
gEms | omos L BDL L o mm el PH % M R TP E
Order No. Model eDMir?—raDMgax System Insert Bolt Wrench | N.W.
50252938CC |SRCC2938 29-38 11 26 | HBOR25 M5 0.01
50323652CC |[SRCC3652 36-52 13 | 35 HBOR32 M6 0.02
50404468CC |SRCC4468 44-68 13 | 43 HBOR40 M6 0.03
HBORS50 CCGT0602..L TS25-M2.5 T8
50406690CC |SRCC6690 66-90 13 | 54 HBOR63 BM6 0.04
HBOR50
50408811CC |[SRCC88112 88-112 13 | 65 HBOR63 BM6 0.05
50505790CC |SRCC5790 57-90 20 | 54 HBOR50 | BM8 0.09
50637011CC |[SRCC70110 70-110 20 | 67 HBOR63 | BM8 0.10
50637115CC |[SRCC110150 110-150 20 | 107 | HBOR63 | BM8 | CCGTO09T3..L TS4-M4 T15 0.20
50637159CC |[SRCC150190 150-190 22 | 149 | HBOR63 | BM8 0.36
50637193CC |[SRCC190230 190-230 22 | 189 | HBOR63 | BM8 0.48




G N | TSRS BN
TSR 4 s
O Bk b
e $
) HBOR 1B #A MRS E 3L /]-90° EAZ 5 HESL ] EE i o
3 90° Rhombus Cutting Insert Holder for HBOR Micro-Finishing Cutter Fine Boring
y —
gy umm | omr RBC | | Ry | DA M (R TP E
] Order No. Model aDMir?—@DMgax System Insert Bolt Wrench | N.W.
50252938C9 |SR9C2938 29-38 11 26 HBOR25 M5 0.01
= % 50323652C9 |SR9C3652 36-52 13 | 35 HBOR32 Mé CCGT0602..L TS25-M2.5 T8 0.02
50404468C9 |SR9C4468 44-68 13 | 43 | HBOR40 M6 0.03
50505790C9 |SR9C5790 57-90 20 | 54 HBOR50 | BM8 0.09
50637011C9 |SR9C70110 70-110 20 | 67 HBOR63 | BM8 | CCGT09T3..L TS4-M4 T15 0.10
50637115C9 |SR9C110150 110-150 20 | 107 | HBOR63 | BM8 0.20
aw
S, v
= SBZRIUIFHk(Bolt CSFRFIERHR(Bolt
J’l 1!\(\)\\“\&\!\\“\\7\\(\)@ é ! (Bolt) . (Bolt)
FKTPTOLLD @ %% \~@ @3 \~
I\ 4 1= i
— e —

HBOR 1Rl {HlEREIE 3L /J- 1B SL R T EE

Reverse Cutting Insert Holder for HBOR Micro-Finishing Cutter Fine Boring

gEmse | om@ | e BD L L | s 7B 2% (R BE

Order No. Model eDMirg-@DM%x System Insert Bolt Wrench | N.W.
50252938K |FKTP2938 29-38 6 11 | 27 | HBOR25 TPGHO902.R | SB-2TR-M2.5 0.01
50323652K |FKTP3652 36-52 10 | 11 35 | HBOR32 (TPGXOQOZ::R) (CS250T) ’ 0.02
50404468K |FKTP4468 44-68 12 | 11 | 43 | HBOR40 T8 0.03
50505790K |FKTP5790 57-90 14 | 15 | 54 | HBORS50 TPGH1103.R | SB-3TR-M3 0.10
50637011K |FKTP70110 70-110 16 | 15 | 66 HBOR63 | (TPGX11 03.'..R) (CS300T) 0.10
50637115K |FKTP110150 110-150 25 | 15 | 106 0.21

PS.(CSHRIiZHH » FBETEIFRENEX])  PS.Order bolt CS series, please advise in advance.

-
S,
T o V TSRIIEZHA(Bolt)
(T ® ~ -
10 90 70 G = @8@ \‘
A
J—1 e —
HBOR Tl G 1E 3 /)-SR G IE L R i T EE
"' Rhombus Reverse Cutting Insert Holder for HBOR Micro-Finishing Cutter Fine Boring
gEmse | om@ e BDL | A 7 K B M R T B E
Order No. Model ﬂDMiI’?— 0DMgax System Insert Bolt Wrench | N.W.
50252938KC |FKCC2938 29-38 7 | 11 | 26 | HBOR25 0.01
50323652KC |FKCC3652 36-52 10 | 11 | 35 | HBOR32 | CCGT0602..R TS25-M2.5 T8 0.02
50404468KC |FKCC4468 44-68 13 | 11 | 43 | HBOR40 0.03
50505790KC |FKCC5790 57-90 14 | 15 | 54 | HBOR50 0.09
50637011KC |FKCC70110 70-110 16 | 15 | 67 0.10
50637115KC |[FKCC110150 110-150 28 | 15 | 107 HBORG3 CCGTO09T3..R TS4-M4 T15 0.20
50637159KC |FKCC150190 150-190 |31.5| 20 | 105 0.24
50637193KC |FKCC190230 190-230 32 | 20 | 125 0.31
- .
o)
T Rd ! ISR Eol)
@® x > A
j 110 90 70%% = @@ e
—1" e —
HBOR AR E3L7)-00 B IABIE3L I E
90° Rhombus Reverse Cutting Insert Holder for HBOR Micro-Finishing Cutter Fine Boring
TR wE g BD o | R vl w MR T B E
Order No. Model ﬂDMir?— 0DMgax System Insert Bolt Wrench | N.W.
50252938K9 |FK9C2938 29-38 7 | 11 | 26 | HBOR25 0.01
50323652K9 |FK9C3652 36-52 10 | 11 | 35 | HBOR32 | CCGT0602..R TS25-M2.5 T8 0.02
50404468K9 |FK9C4468 44-68 13 | 11 | 43 | HBOR40 0.03
50505790K9 |FK9C5790 57-90 14 | 15 | 54 | HBOR50 0.09
50637011K9 |FK9C70110 70-110 16 | 15 | 67 HBORG3 CCGTO09T3..R TS4-M4 T15 0.10
50637115K9 |FK9C110150 110-150 28 | 15 | 107 0.20

61



HBOR

62

YeiEIL A EE - FBHESL R
Body and Cutting Insert Holder

=
=
N
oS
<
o
IS

[}
o
@)
m
T
]
HBOR 1&ilEEE 3]
HBOR Micro-Finishing Cutter Fine Boring Head
. b TEESLRRIES
IEiRYE H O B%Ein Ran . M1 h Micro-Finishing Cutter Fine Boring and Cutting System B E
Order No. Model 19 mang YEIES A MA MB YEEIL IR N.W.
oDMin-gDMax : !
Boring Head Bolt Bolt Cutting Insert Holder
52290000 |HBOR25 M 29-38 50 25 HBOR25 M5x12 SRTP2938 0.16
53360000 |HBOR32 M 36-52 63 32 HBOR32 M6x12 SRTP3652 0.37
54440000 |HBOR40 M 44-68 63 40 HBOR40 M6x12 SRTP4468 0.53
55570000 |[HBOR50 BM 57-90 80 50 HBOR50 BM8x20 SRTP5790 1.05
56700000 |[HBOR63 BM  70-110 80 63 HBOR63 BM8x20 M8x14 SRTP70110 1.65
56710000 |HBOR63 BM 110-150 80 63 HBOR63 BM8x20 M8x14 SRTP110150 1.76
=
S ~—wm1 ——I
) 1 g—_
x| T . & CK—~MB
853‘ O|| LBi0 k| R-wA o
I ' L ) i
Y =]
HBOR {&if(Ea#51E3./] — E£h2
HBOR Micro-Finishing Cutter for Rhombus Fine Boring Head
& D 1EIESLRIRIES
EIEiRYE B Bo%in Ran . MA h Micro-Finishing Cutter Fine Boring and Cutting System BB
Order No. Model o Oiiax BESLAR | MA MB | sERmmsLm | NW.
Boring Head Bolt Bolt Rhombus Cutting Insert Holder
52290000CC |HBOR25 MCC  29-38 50 25 HBOR25 M5x12 SRCC2938 0.16
53360000CC |HBOR32 MCC  36-52 63 32 HBOR32 M6x12 SRCC3652 0.37
54440000CC |HBOR40 MCC 44-68 63 40 HBOR40 M6x12 SRCC4468 0.53
55570000CC |HBOR50 BMCC 57-90 80 50 HBOR50 BM8x20 SRCC5790 1.06
56700000CC |HBOR63 BMCC 70-110 80 63 HBOR63 BM8x20 M8x14 SRCC70110 1.65
56710000CC |HBOR63 BMCC 110-150 80 63 HBORG63 BM8x20 M8x14 SRCC110150 1.75
56720000CC |HBOR63 BMCC 150-190 82 63 HBORG63 BM8x20 M8x14 SRCC150190 1.91
56730000CC |HBOR63 BMCC 190-230 82 63 HBOR63 BM8x20 | M8x14 SRCC190230 2.03
HBOR 1AHillFA#51E31/0 — 90°=H?
HBOR Micro-Finishing Cutter for 90° Rhombus Fine Boring Head
52290000C9 |HBOR25 MC9 29-38 50 25 HBOR25 M5x12 SR9C2938 0.16
53360000C9 |HBOR32 MC9 36-52 63 32 HBOR32 M6x12 SR9C3652 0.37
54440000C9 |HBOR40 MC9 44-68 63 40 HBOR40 M6x12 SR9C4468 0.53
55570000C9 |HBOR50 BMC9 57-90 80 50 HBOR50 BM8x20 SR9C5790 1.06
56700000C9 |HBOR63 BMC9 70-110 80 63 HBORG63 BM8x20 M8x14 SR9C70110 1.65
56710000C9 |HBOR63 BMC9 110-150 80 63 HBOR63 BM8x20 | M8x14 SR9C110150 1.75




HBOR

HBOR fRfi{HlEA#51E3L 7] — RR#E

HBOR Micro-Finishing Cutter for Reverse Fine Boring Head

BIESLOAEE  FBIESLRIETIRE
Body and Reverse Cutting Insert Holder

20.002MM

~HBOR~|

D2>e
TJJ{E: D2x2-D>HBOR__

e 5 B D o BELRBRRES .
STEHRSE O Boring Range | M3 M2 h Micro-Finishing Cutter for Reverse Fine Boring and Cutting System BB
Order No. Model oDMin-aDMax L EARN MA MB FEESL B D N.W.
Boring Head Bolt Bolt Reverse Cutting Insert Holder
52290000K |[HBOR25 MK 29-38 2-6 42 25 HBOR25 M5x12 FKTP2938 0.16
53360000K |[HBOR32 MK  36-52 2-10 52.5 32 HBOR32 M6x12 FKTP3652 0.37
54440000K |HBOR40 MK  44-68 2-14 53 40 HBOR40 M6x12 FKTP4468 0.53
55570000K |[HBOR50 BMK 57-90 3-20 64.5 50 HBORS50 BM8x20 FKTP5790 1.05
56700000K [HBOR63 BMK 70-110 3-23 62.5 63 HBOR63 BM8x20 M8x14 FKTP70110 1.65
56710000K |HBOR63 BMK 110-150 23-43 | 62.5 63 HBORG63 BM8x20 M8x14 FKTP110150 1.76
=
S
i
x f T —&~wB
8 = T ‘ m‘-MA o
Ili_
A

HBOR Bl 1ESLT]) — SRR IE

HBOR Micro-Finishing Cutter for Rhombus Reverse Fine Boring Head

D2>e
TJI{E: D2x2-D>HBOR__

U 1BIESLRIBRIFES
Hi=t = H O Bf)%ingantg)e M3 M2 h Micro-Finishing Cutter for Reverse Fine Boring and Cutting System BB
Order No. Model oDMim-oDMax BEsL AR MA MB EfREARIEDE N.W.
Boring Head Bolt Bolt Rhombus Reverse Cutting Insert Holder
52290000KC |HBOR25 MKC  29-38 2-6 42 25 HBOR25 M5x12 FKCC2938 0.16
53360000KC |HBOR32 MKC  36-52 2-10 52.5 32 HBOR32 M6x12 FKCC3652 0.37
54440000KC |HBOR40 MKC  44-68 2-14 53 40 HBOR40 M6x12 FKCC4468 0.53
55570000KC |HBOR50 BMKC 57-90 3-20 64.5 50 HBOR50 BM8x20 FKCC5790 1.06
56700000KC |HBOR63 BMKC 70-110 3-23 62.5 63 HBOR63 BM8x20 | M8x14 FKCC70110 1.65
56710000KC |HBOR63 BMKC 110-150 23-43 | 62.5 63 HBOR63 BM8x20 | M8x14 FKCC110150 1.75
56720000KC |HBOR63 BMKC 150-190 43-63 | 62.5 63 HBOR63 BM8x20 | M8x14 FKCC150190 1.79
56730000KC  |HBOR63 BMKC 190-230 63-83 | 62.5 63 HBOR63 BM8x20 | M8x14 FKCC190230 1.86
HBOR 1&if{HEE+E1E3L) — 90° S R &
HBOR Micro-Finishing Cutter for 90° Rhombus Reverse Fine Boring Head

52290000K9 |[HBOR25 MK9 29-38 2-6 42 25 HBOR25 M5x12 FK9C2938 0.16
53360000K9 |HBOR32 MK9 36-52 2-10 52.5 32 HBOR32 M6x12 FK9C3652 0.37
54440000K9 |[HBOR40 MK9 44-68 2-14 53 40 HBOR40 M6x12 FK9C4468 0.53
55570000K9 |HBOR50 BMK9 57-90 3-20 64.5 50 HBOR50 BM8x20 FK9C5790 1.06
56700000K9 |HBOR63 BMK9  70-110 3-23 62.5 63 HBORG63 BM8x20 | M8x14 FK9C70110 1.65
56710000K9 |HBOR63 BMK9 110-150 23-43 | 62.5 63 HBOR63 BM8x20 | M8x14 FK9C110150 1.75

63



HBOR MR RS ESL /)

Micro-Finishing Cutter Fine Boring System
B3N -~ FEIESL)ASEE - #51E3LJJEE Taper Shank, Body and Cutting Insert Holder

52 SET .
MAS403 BT-HBOR 1@ {ilaAE1E3L./]
MAS403 BT and HBOR Micro-Finishing Cutter Fine Boring Head

BRILAHES
=T=ymg & E Micro-Finishing Cutter Fine Boring System -
SRS 8 13 Bona e | M . 9 | ® B
Order No. Model 9 IO | EEL AR | B RiE N.W.
oDMin-gDMax . Cutting Insert
Taper Shank |Boring Head | Connector Holder
52291306 BT30-HBOR25-60 M 29-38 60 85 BT30-H25-35 0.56
52291307 BT30-HBOR25-75 M 29-38 75 105 BT30-H25-55 HBOR25 M5 SRTP2938 0.62
53361307 BT30-HBOR32-75 M 36-52 98 BT30-H32-35 0.82
53361309 BT30-HBOR32-93 M 36-52 93 118 BT30-H32-55 HBORS32 M6 SRTP3652 0.79
54441307 BT30-HBOR40-75 M 44-68 75 98 BT30-H40-35 0.98
54441309 BT30-HBOR40-93 M 44-68 118 BT30-H40-55 HBOR40 SRTP4468 0.95
55571309 BT30-HBOR50-93 BM  57-90 93 125 BT30-H50-45 HBOR50 BM8 SRTP5790 1.33
56701309 BT30-HBOR63-93 BM  70-110 145 BT30-H63-65 HBORG63 SRTP70110 2.18
52291406 BT40-HBOR25-60 M 29-38 60 90 BT40-H25-40 1.16
52291409 BT40-HBOR25-90 M 29-38 90 122 BT40-H25-72 1.28
52291412 BT40-HBOR25-123 M 29-38 123 150 BT40-H25-100 HBOR25 MS SRTP2938 1.40
52291414 BT40-HBOR25-145 M 29-38 145 177 BT40-H25-127 1.54
53361407 BT40-HBOR32-75 M 36-52 75 103 BT40-H32-40 1.37
53361410 BT40-HBOR32-102 M 36-52 102 135 BT40-H32-72 1.57
53361415 BT40-HBOR32-150 M 36-52 150 183 BT40-H32-120 HBOR32 SRTP3652 1.92
53361416 BT40-HBOR32-165 M 36-52 165 198 BT40-H32-135 M6 2.03
54441407 BT40-HBOR40-73 M 44-68 73 103 BT40-H40-40 1.58
54441410 BT40-HBOR40-102 M 44-68 102 135 BT40-H40-72 1.84
54441416 BT40-HBOR40-162 M 44-68 162 193 BT40-H40-130 HBORA40 SRTP4468 2.48
54441421 BT40-HBOR40-212 M 44-68 212 248 BT40-H40-185 3.05
55571410 BT40-HBOR50-102 BM  57-90 102 130 BT40-H50-50 1.91
55571414 BT40-HBOR50-142 BM  57-90 142 170 BT40-H50-90 2.48
55571418 BT40-HBOR50-182 BM  57-90 182 210 BT40-H50-130 HBORS0 SRTPS790 3.25
55571422 BT40-HBOR50-222 BM  57-90 222 250 BT40-H50-170 4.12
56701410 BT40-HBOR63-102 BM  70-110 102 135 BT40-H63-55 BMS 2.51
56701415 BT40-HBOR63-152 BM 70-110 152 185 BT40-H63-105 SRTP70110 3.72
56701420 BT40-HBOR63-202 BM 70-110 202 235 BT40-H63-155 HBORG3 4.81
56711410 BT40-HBOR63-102 BM 110-150 102 135 BT40-H63-55 2.60
56711415 BT40-HBOR63-152 BM  110-150 162 185 BT40-H63-105 SRTP110150 3.81
56711420 BT40-HBOR63-202 BM  110-150 202 235 BT40-H63-155 4.90




L
‘ M
1
L1 ‘
FEIESLRIRIES

e T B Micro-Finishing Cutter Fine Boring System o

BTSSR =18 B%Eingange M L : N : y‘*’*;)igbjj EE -
Order No. Model i WEILOM | fRIESLOAEE | EiEER He N.W.

oDMin-gDMax ; Cutting Insert
Taper Shank |Boring Head | Connector Holder

52291510 BT50-HBOR25-102 M 29-38 102 165 BT50-H25-115 4.31
52291512 BT50-HBOR25-127 M 29-38 127 190 BT50-H25-140 HBOR25 M5 SRTP2938 4.46
52291515 BT50-HBOR25-152 M 29-38 152 215 BT50-H25-165 4.56
53361513 BT50-HBOR32-135 M 36-52 135 198 BT50-H32-135 4.92
53361516 BT50-HBOR32-165 M 36-52 165 228 BT50-H32-165 HBOR32 SRTP3652 517
53361520 BT50-HBOR32-200 M 36-52 200 263 BT50-H32-200 5.37
54441513 BT50-HBOR40-135 M 44-68 135 198 BT50-H40-135 M6 5.43
54441518 BT50-HBOR40-185 M 44-68 185 248 BT50-H40-185 5.98
54441522 BT50-HBOR40-225 M 44-68 225 288 BT50-H40-225 HBOR40 SRTP4468 6.43
54441526 BT50-HBOR40-265 M 44-68 265 328 BT50-H40-265 6.83
55571510 BT50-HBOR50-102 BM 57-90 102 145 BT50-H50-65 4.56
55571520 BT50-HBOR50-202 BM 57-90 202 245 BT50-H50-165 6.11
55571525 BT50-HBOR50-252 BM 57-90 252 295 BT50-H50-215 HBORSO SRTP5790 7.06
55571530 BT50-HBOR50-302 BM 57-90 302 345 BT50-H50-265 8.22
56701512 BT50-HBOR63-122 BM 70-110 122 165 BT50-H63-85 5.57
56701520 BT50-HBOR63-202 BM 70-110 202 245 BT50-H63-165 7.47
56701525 BT50-HBOR63-252 BM 70-110 252 295 BT50-H63-215 BM8 SRTP70110 9.02
56701530 BT50-HBOR63-302 BM 70-110 302 345 BT50-H63-265 9.97
56701535 BT50-HBOR63-352 BM 70-110 352 395 BT50-H63-315 HBORG3 13.22
56711512 BT50-HBOR63-122 BM 110-150 122 165 BT50-H63-85 5.66
56711520 BT50-HBOR63-202 BM 110-150 202 245 BT50-H63-165 7.56
56711525 BT50-HBOR63-252 BM 110-150 252 295 BT50-H63-215 SRTP110150 9.11
56711530 BT50-HBOR63-302 BM  110-150 302 345 BT50-H63-265 10.06
56711535 BT50-HBOR63-352 BM 110-150 352 395 BT50-H63-315 13.31

Stann y

65



HBOR Ml ER SR SL ) — = A2

Micro-Finishing Cutter for Rhombus Fine Boring System
HE3LJ0MR ~ FEESL )RS « ERCAETESLJEE Taper Shank, Body and RhombusSiCutinginSErat Gl e

-

BZ SET )

MAS403 BT-HBOR &l a5 131, /]-= /2

MAS403 BT and HBOR Micro-Finshing Rhombus Cutter Fine Boring Head

. b BRI RRES
Hi=t H OB Bi?in Ran o M L Micro-Finishing Cutter Fine Boring and Cutting System B &
Order No. Model et BIOW | BELOAE | EEs EMARESLOE | NW.
Taper Shank Boring Head | Connector | Rhombus Cutting Insert Holder

52291306CC BT30-HBOR25-60 MCC 29-38 60 85 |BT30-H25-35 0.56
52291307CC BT30-HBOR25-75 MCC 29-38 75 105 |BT30-H25-55 HBOR25 M3 SRCC2938 0.62
53361307CC BT30-HBOR32-75 MCC  36-52 98  |BT30-H32-35 0.82
53361309CC BT30-HBOR32-93 MCC  36-52 93 118 |BT30-H32-55 HBORS32 M6 SRCC3652 0.79
54441307CC BT30-HBOR40-75 MCC  44-68 75 98  |BT30-H40-35 0.98
54441309CC BT30-HBOR40-93 MCC  44-68 118 |BT30-H40-55 HBOR40 SRCCades 0.95
55571309CC BT30-HBOR50-93 BMCC 57-90 93 125 |BT30-H50-45 HBOR50 BMS SRCC5790 1.33
56701309CC BT30-HBOR63-93  BMCC 70-110 145 |BT30-H63-65 HBOR63 SRCC70110 2.18
52291406CC BT40-HBOR25-60 MCC 29-38 60 90 |BT40-H25-40 1.16
52291409CC BT40-HBOR25-90 MCC  29-38 90 122 |BT40-H25-72 1.28
52291412CC BT40-HBOR25-123 MCC  29-38 123 150 |BT40-H25-100 HBOR25 MS SRCC2938 1.40
52291414CC BT40-HBOR25-145 MCC  29-38 145 177 |BT40-H25-127 1.54
53361407CC BT40-HBOR32-75 MCC  36-52 75 103 |BT40-H32-40 1.37
53361410CC BT40-HBOR32-102 MCC  36-52 102 135 |BT40-H32-72 1.57
53361415CC BT40-HBOR32-150 MCC  36-52 150 183 |BT40-H32-120 HBORS32 SRCC3652 1.92
53361416CC BT40-HBOR32-165 MCC  36-52 165 198 |BT40-H32-135 M6 2.03
54441407CC BT40-HBOR40-73 MCC  44-68 73 103 |BT40-H40-40 1.58
54441410CC BT40-HBOR40-102 MCC  44-68 102 135 |BT40-H40-72 1.84
54441416CC BT40-HBOR40-162 MCC  44-68 162 193 |BT40-H40-130 HBOR40 SRCCades 2.48
54441421CC BT40-HBOR40-212 MCC  44-68 212 248 |BT40-H40-185 3.05
55571410CC BT40-HBOR50-102 BMCC 57-90 102 130 |BT40-H50-50 1.91
55571414CC BT40-HBOR50-142 BMCC 57-90 142 170 |BT40-H50-90 2.48
55571418CC BT40-HBOR50-182 BMCC 57-90 182 210 |BT40-H50-130 HBORSO SRCC5790 3.25
55571422CC BT40-HBOR50-222 BMCC 57-90 222 250 |BT40-H50-170 412
56701410CC BT40-HBOR63-102 BMCC 70-110 102 135 |BT40-H63-55 2.51
56701415CC BT40-HBOR63-152 BMCC 70-110 152 185 |BT40-H63-105 SRCC70110 3.72
56701420CC BT40-HBOR63-202 BMCC 70-110 202 235 |BT40-H63-155 4.81
56711410CC BT40-HBOR63-102 BMCC 110-150 102 135 |BT40-H63-55 BMS 2.60
56711415CC BT40-HBOR63-152 BMCC 110-150 152 185 |BT40-H63-105 SRCC110150 3.81
56711420CC BT40-HBOR63-202 BMCC 110-150 202 235 |BT40-H63-155 HBOR63 4.90
56721410CC BT40-HBOR63-102 BMCC 150-190 102 139 |BT40-H63-55 2.76
56721415CC BT40-HBOR63-152 BMCC 150-190 152 189 |BT40-H63-105 SRCC150190 3.97
56721420CC BT40-HBOR63-202 BMCC 150-190 202 239 |BT40-H63-155 5.06
56731410CC BT40-HBOR63-102 BMCC 190-230 102 139 |BT40-H63-55 2.88
56731415CC BT40-HBOR63-152 BMCC 190-230 152 189 |BT40-H63-105 SRCC190230 4.09
56731420CC BT40-HBOR63-202 BMCC 190-230 202 239 |BT40-H63-155 5.18

66



M
%
2 !
: TO
@ ¢
L1
- & @ D N S .
H=t -5 =g Boring Range M L Micro-Finishing Cutter Fine Boring and Cutting System B E
Order No. Model oDMin-oDMax 1E3L0AR 1EiEsL ) e | EREER ERAEIESLTIEE N.W.
Taper Shank Boring Head | Connector | Rhombus Cutting Insert Holder
52291510CC BT50-HBOR25-102 MCC  29-38 102 165 |BT50-H25-115 4.31
52291512CC BT50-HBOR25-127 MCC  29-38 127 190 |BT50-H25-140 HBOR25 M5 SRCC2938 4.46
52291515CC BT50-HBOR25-152 MCC  29-38 152 215 |BT50-H25-165 4.56
53361513CC BT50-HBOR32-135 MCC  36-52 135 198 |BT50-H32-135 4.92
53361516CC BT50-HBOR32-165 MCC  36-52 165 228 |BT50-H32-165 HBOR32 SRCC3652 5.17
53361520CC BT50-HBOR32-200 MCC  36-52 200 263 |BT50-H32-200 5.37
54441513CC BT50-HBOR40-135 MCC  44-68 135 198 |BT50-H40-135 M6 5.43
54441518CC BT50-HBOR40-185 MCC  44-68 185 248 |BT50-H40-185 5.98
54441522CC BT50-HBOR40-225 MCC  44-68 225 288 |BT50-H40-225 HBOR40 SRCC4468 6.43
54441526CC BT50-HBOR40-265 MCC  44-68 265 328 |BT50-H40-265 6.83
55571510CC BT50-HBOR50-102 BMCC 57-90 102 145 |BT50-H50-65 4.56
55571520CC BT50-HBOR50-202 BMCC 57-90 202 245 |BT50-H50-165 6.11
55571525CC BT50-HBOR50-252 BMCC 57-90 252 295 |BT50-H50-215 HBORS0 SRCCS790 7.06
55571530CC BT50-HBOR50-302 BMCC 57-90 302 345 |BT50-H50-265 8.22
56701512CC BT50-HBOR63-122 BMCC 70-110 122 165 |BT50-H63-85 5.57
56701520CC BT50-HBOR63-202 BMCC 70-110 202 245 |BT50-H63-165 7.47
56701525CC BT50-HBOR63-252 BMCC 70-110 252 295 |BT50-H63-215 SRCC70110 9.02
56701530CC BT50-HBOR63-302 BMCC 70-110 302 345 |BT50-H63-265 9.97
56701535CC BT50-HBOR63-352 BMCC 70-110 352 395 |BT50-H63-315 13.22
56711512CC BT50-HBOR63-122 BMCC 110-150 122 165 |BT50-H63-85 5.66
56711520CC BT50-HBOR63-202 BMCC 110-150 202 245 |BT50-H63-165 7.56
56711525CC BT50-HBOR63-252 BMCC 110-150 252 295 |BT50-H63-215 SRCC110150 9.11
56711530CC BT50-HBOR63-302 BMCC 110-150 302 345 |BT50-H63-265 BMg 10.06
56711535CC BT50-HBOR63-352 BMCC 110-150 352 395 |BT50-H63-315 13.31
56721512CC BT50-HBOR63-122 BMCC 150-190 122 169 |BT50-H63-85 HBOR63 5.82
56721520CC BT50-HBOR63-202 BMCC 150-190 202 249 |BT50-H63-165 7.72
56721525CC BT50-HBOR63-252 BMCC 150-190 252 299 |BT50-H63-215 SRCC150190 9.27
56721530CC BT50-HBOR63-302 BMCC 150-190 302 349 |BT50-H63-265 10.22
56721535CC BT50-HBOR63-352 BMCC 150-190 352 399 |BT50-H63-315 13.47
56731512CC BT50-HBOR63-122 BMCC 190-230 122 169 |BT50-H63-85 5.94
56731520CC BT50-HBOR63-202 BMCC 190-230 202 249 |BT50-H63-165 7.84
56731525CC BT50-HBOR63-252 BMCC 190-230 252 299 |BT50-H63-215 SRCC190230 9.39
56731530CC BT50-HBOR63-302 BMCC 190-230 302 349 |BT50-H63-265 10.34
56731535CC BT50-HBOR63-352 BMCC 190-230 352 399 |BT50-H63-315 13.59

67



68

HBOR

Ml EREESL ) — i

Micro-Finishing Cutter for Reverse Fine Boring System

YE3LJAR ~ ¥5HESL ) ARE - #5E3L R EJJEE Taper Shank, Body and Reverse Cutting Insert Holder

B SET

MAS403 BT-HBOR &l filla8 52 &5 &30
MAS403 BT and HBOR Micro-Finishing Cutter for Reverse Fine Boring Head

RIEFRIESLRIIES

Hi=t =6 HORg B%Ein anDe M3 M L Micro-Finishing Cutter for Reverse Fine Boring and Cutting System | ;& &
Order No. Model oy LM | EENLAE| EEeE | BELREDE | NW.
Taper Shank | Boring Head | Connector | Reverse Cutting Insert Holder

52291305K | BT30-HBOR25-51 MK 29-38 2-6 51 87 |BT30-H25-35 0.56
52291307K | BT30-HBOR25-71 MK  29-38 2-6 71 107 |BT30-H25-55 HBOR25 M5 FKTP2938 0.65
53361306K | BT30-HBOR32-61 MK  36-52 2-10 61 99 |BT30-H32-35 0.82
53361308K | BT30-HBOR32-84 MK  36-52 2-10 84 119 |BT30-H32-55 HBORS32 M6 FKTP3652 0.91
54441306K | BT30-HBOR40-67 MK 44-68 2-14 67 99 |BT30-H40-35 HBOR40 FKTP4468 0.98
54441308K | BT30-HBOR40-85 MK  44-68 2-14 85 119 |BT30-H40-55 1.16
55571308K | BT30-HBOR50-85 BMK 57-90 3-20 85 124 |BT30-H50-45 HBOR50 BMS FKTP5790 1.59
56701310K | BT30-HBOR63-105 BMK 70-110 3-23 105 142 |BT30-H63-65 HBOR63 FKTP70110 2.53
52291405K | BT40-HBOR25-50 MK  29-38 2-6 50 92 |BT40-H25-40 1.16
52291408K | BT40-HBOR25-84 MK  29-38 2-6 84 124 |BT40-H25-72 1.28
52291411K | BT40-HBOR25-113 MK  29-38 2-6 113 152 |BT40-H25-100 HBOR25 MS FKTP2938 1.40
52291414K | BT40-HBOR25-140 MK  29-38 2-6 140 179 |BT40-H25-127 1.54
53361406K | BT40-HBOR32-60 MK  36-52 2-10 60 104 |BT40-H32-40 1.37
53361409K | BT40-HBOR32-93 MK 36-52 2-10 93 136 |BT40-H32-72 1.57
53361414K | BT40-HBOR32-141 MK  36-52 2-10 141 184 |BT40-H32-120 HBORS2 FKTP3652 1.92
53361415K | BT40-HBOR32-156 MK 36-52 2-10 156 199 |BT40-H32-135 M6 2.03
54441406K | BT40-HBOR40-64 MK  44-68 2-14 64 106 |BT40-H40-40 1.58
54441409K | BT40-HBOR40-95 MK 44-68 2-14 95 136 |BT40-H40-72 1.84
54441415K | BT40-HBOR40-152 MK  44-68 2-14 152 194 |BT40-H40-130 HBOR40 FKTP4468 2.48
54441420K | BT40-HBOR40-207 MK 44-68 2-14 207 249 |BT40-H40-185 3.05
55571408K | BT40-HBOR50-84 BMK 57-90 3-20 84 129 |BT40-H50-50 1.91
55571412K | BT40-HBOR50-123 BMK 57-90 3-20 123 169 |BT40-H50-90 2.48
55571416K | BT40-HBOR50-163 BMK 57-90 3-20 163 209 |BT40-H50-130 HBORSO FKTPS790 3.25
55571420K | BT40-HBOR50-203 BMK 57-90 3-20 203 249 |BT40-H50-170 4.12
56701409K | BT40-HBOR63-90 BMK 70-110 3-23 90 133 |BT40-H63-55 BMS 2.89
56701414K | BT40-HBOR63-140 BMK 70-110 3-23 140 183 |BT40-H63-105 FKTP70110 4.10
56701419K | BT40-HBOR63-190 BMK 70-110 3-23 190 233 |BT40-H63-155 HBORG3 5.19
56711409K | BT40-HBOR63-90 BMK 110-150 23-43 90 133 |BT40-H63-55 2.99
56711414K | BT40-HBOR63-140 BMK 110-150 23-43 140 183 |BT40-H63-105 FKTP110150 4.20
56711419K | BT40-HBOR63-190 BMK 110-150 23-43 190 233 |BT40-H63-155 5.29




<

~—H—

o
S
S
=
0
<]
hry
1)
3
By
S
3
2
o

L1

D.>e
TJJE: Dax2-D>HBOR__

B R ES

Hi=t =6 O B%Eingange M3 M L Micro-Finishing Cutter for Reverse Fine Boring and Cutting System | ;2 &=

Order No. Model DM abhag BILOM | BELAE | BEE | EELREIE | NW.
Taper Shank | Boring Head | Connector | Reverse Cutting Insert Holder

52291509K | BT50-HBOR25-94 MK  29-38 2-6 94 168 |BT50-H25-115 4.31
52291511K | BT50-HBOR25-119 MK  29-38 2-6 119 193 |BT50-H25-140 HBOR25 M5 FKTP2938 4.46
52291514K | BT50-HBOR25-144 MK 29-38 2-6 144 218 |BT50-H25-165 4.56
53361512K | BT50-HBOR32-124 MK 36-52 2-10 124 198 |BT50-H32-135 4.92
53361515K | BT50-HBOR32-154 MK 36-52 2-10 154 228 |BT50-H32-165 HBOR32 FKTP3652 5.17
53361518K | BT50-HBOR32-189 MK 36-52 2-10 189 263 |BT50-H32-200 5.37
54441512K | BT50-HBOR40-125 MK 44-68 2-14 125 199 |BT50-H40-135 M6 5.43
54441517K | BT50-HBOR40-175 MK 44-68 2-14 175 249 |BT50-H40-185 5.98
54441521K | BT50-HBOR40-215 MK 44-68 2-14 215 289 |BT50-H40-225 HBOR40 FKTP4468 6.43
54441525K | BT50-HBOR40-255 MK 44-68 2-14 255 329 |BT50-H40-265 6.83
55571508K | BT50-HBOR50-86 BMK 57-90 3-20 86 143 |BT50-H50-65 4.82
55571518K | BT50-HBOR50-186 BMK 57-90 3-20 186 243 |BT50-H50-165 6.37
55571523K | BT50-HBOR50-236 BMK 57-90 3-20 236 293 |BT50-H50-215 HBORSO FKTPS790 7.32
55571528K | BT50-HBOR50-286 BMK 57-90 3-20 286 343 |BT50-H50-265 8.22
56701510K | BT50-HBOR63-105 BMK 70-110 3-23 105 163 |BT50-H63-85 5.95
56701518K | BT50-HBOR63-185 BMK 70-110 3-23 185 243 |BT50-H63-165 7.85
56701523K | BT50-HBOR63-235 BMK 70-110 3-23 235 293 |BT50-H63-215 BMS FKTP70110 9.40
56701528K | BT50-HBOR63-285 BMK 70-110 3-23 285 343 |BT50-H63-265 10.35
56701533K | BT50-HBOR63-335 BMK 70-110 3-23 335 393 |BT50-H63-315 HBORG3 13.60
56711510K | BT50-HBOR63-104 BMK 110-150 23-43 104 163 |BT50-H63-85 6.05
56711518K | BT50-HBOR63-184 BMK 110-150 23-43 184 243 |BT50-H63-165 7.95
56711523K | BT50-HBOR63-234 BMK 110-150 23-43 234 293 |BT50-H63-215 FKTP110150 9.50
56711528K | BT50-HBOR63-284 BMK 110-150 23-43 284 343 |BT50-H63-265 10.45
56711533K | BT50-HBOR63-334 BMK 110-150 23-43 334 393 |BT50-H63-315 13.70

69



HBOR I ER S IESL ) — =R R IE

Micro-Finishing Cutter for Rhombus Reverse Fine Boring System
E3LTDMA ~ $BEIESLTARE « SHiEE3L R ETIE Taper Shank, Body andiRRombUSIREYerSeloUtUONNEE i B) Eie

B SET

MAS403 BT-HBOR &l iEA =7 & & 18317
MAS403 BT and HBOR Micro-Finishing Cutter for Rhombus Reverse Fine Boring Head

o % WD  mEmElRmED .

H=t -1 R OAg Boring Range | M3 M L Micro-Finishing Cutter for Reverse Fine Boring and Cutting System B &

Order No. Model DMmoDlox BILOM | BEALOAE | SR | EURELREDE | NW

Taper Shank | Boring Head | Connector | Rhombus Reverse Cutting Insert Holder

52291305KC | BT30-HBOR25-51 MKC  29-38 2-6 51 87 |BT30-H25-35 0.56
52291307KC | BT30-HBOR25-71 MKC  29-38 2-6 71 107 |BT30-H25-55 HBOR25 M3 FKCC2938 0.65
53361306KC | BT30-HBOR32-61 MKC  36-52 2-10 61 99 |BT30-H32-35 0.82
53361308KC | BT30-HBOR32-84 MKC  36-52 2-10 84 119 |BT30-H32-55 HBORS2 M6 FKCC3652 0.91
54441306KC | BT30-HBOR40-67 MKC  44-68 2-14 67 99 |BT30-H40-35 HBOR40 FKCC4468 0.98
54441308KC | BT30-HBOR40-85 MKC  44-68 2-14 85 119 |BT30-H40-55 1.16
55571308KC | BT30-HBOR50-85 BMKC 57-90 3-20 85 124 |BT30-H50-45 HBOR50 BMS FKCC5790 1.59
56701310KC | BT30-HBOR63-105 BMKC 70-110 3-23 | 105 142 |BT30-H63-65 HBOR63 FKCC70110 2.53
52291405KC | BT40-HBOR25-50 MKC  29-38 2-6 50 92 |BT40-H25-40 1.16
52291408KC | BT40-HBOR25-84 MKC  29-38 2-6 84 124 |BT40-H25-72 1.28
52291411KC | BT40-HBOR25-113 MKC  29-38 2-6 113 152 |BT40-H25-100 HBOR25 M3 FKCC2938 1.40
52291414KC | BT40-HBOR25-140 MKC  29-38 2-6 140 179 |BT40-H25-127 1.54
53361406KC | BT40-HBOR32-60 MKC  36-52 2-10 60 104 |BT40-H32-40 1.37
53361409KC | BT40-HBOR32-93 MKC  36-52 2-10 93 136 |BT40-H32-72 1.57
53361414KC | BT40-HBOR32-141 MKC  36-52 2-10 | 141 184 |BT40-H32-120 HBOR32 FKCC3652 1.92
53361415KC | BT40-HBOR32-156 MKC  36-52 2-10 | 156 199 |BT40-H32-135 M6 2.03
54441406KC | BT40-HBOR40-64 MKC  44-68 2-14 64 106 |BT40-H40-40 1.58
54441409KC | BT40-HBOR40-95 MKC  44-68 2-14 95 136 |BT40-H40-72 1.84
54441415KC | BT40-HBOR40-152 MKC  44-68 2-14 | 152 194 |BT40-H40-130 HBOR40 FKCCades 2.48
54441420KC | BT40-HBOR40-207 MKC  44-68 2-14 | 207 249 |BT40-H40-185 3.05
55571408KC | BT40-HBOR50-84 BMKC 57-90 3-20 84 129 |BT40-H50-50 1.91
55571412KC | BT40-HBOR50-123 BMKC 57-90 3-20 123 169 |BT40-H50-90 2.48
55571416KC | BT40-HBOR50-163 BMKC 57-90 3-20 | 163 209 |BT40-H50-130 HBORSO FKCCS790 3.25
55571420KC | BT40-HBOR50-203 BMKC 57-90 3-20 203 249 |BT40-H50-170 4.12
56701409KC | BT40-HBOR63-90 BMKC 70-110 3-23 90 133 |BT40-H63-55 2.89
56701414KC | BT40-HBOR63-140 BMKC 70-110 3-23 | 140 183 |BT40-H63-105 FKCC70110 4.10
56701419KC | BT40-HBOR63-190 BMKC 70-110 3-23 | 190 233 |BT40-H63-155 5119
56711409KC | BT40-HBOR63-90 BMKC 110-150 23-43 | 90 133 |BT40-H63-55 2.99
56711414KC | BT40-HBOR63-140 BMKC 110-150 23-43 | 140 183 |BT40-H63-105 BM8 FKCC110150 4.20
56711419KC | BT40-HBOR63-190 BMKC 110-150 23-43 | 190 233 |BT40-H63-155 5.29
56721409KC | BT40-HBOR63-90 BMKC 150-190 43-63 | 90 138 |BT40-H63-55 HBORG3 3.03
56721414KC | BT40-HBOR63-140 BMKC 150-190 43-63 | 140 188 |BT40-H63-105 FKCC150190 4.24
56721419KC | BT40-HBOR63-190 BMKC 150-190 43-63 | 190 238 |BT40-H63-155 5.33
56731409KC | BT40-HBOR63-90 BMKC 190-230 63-83 | 90 138 |BT40-H63-55 3.10
56731414KC | BT40-HBOR63-140 BMKC 190-230 63-83 | 140 188 |BT40-H63-105 FKCC190230 4.31
56731419KC | BT40-HBOR63-190 BMKC 190-230 63-83 | 190 238 |BT40-H63-155 5.40

70



M3,

H?O(CJPSG

o
S
]
=
8
]
=
s
3
I
3
3
2
o

L1
_ D.>e
TJJ#E: Dax2-D>HBOR__

- % WD  mEmElRmED .

H=t -5 HOg Boring Range | M3 M L Micro-Finishing Cutter for Reverse Fine Boring and Cutting System B OE

Order No. Model oDMin-oDMax 3L AR TEIESLIARE | B SRR IETIE N.W.

Taper Shank | Boring Head | Connector | Rhombus Reverse Cutting Insert Holder

52291509KC | BT50-HBOR25-94 MKC  29-38 2-6 94 168 |BT50-H25-115 4.31
52291511KC | BT50-HBOR25-119 MKC  29-38 2-6 119 193 |BT50-H25-140 HBOR25 M5 FKCC2938 4.46
52291514KC | BT50-HBOR25-144 MKC  29-38 2-6 144 218 |BT50-H25-165 4.56
53361512KC | BT50-HBOR32-124 MKC  36-52 2-10 | 124 198 |BT50-H32-135 4.92
53361515KC | BT50-HBOR32-154 MKC  36-52 2-10 | 154 228 |BT50-H32-165 HBOR32 FKCC3652 5.17
53361518KC | BT50-HBOR32-189 MKC  36-52 2-10 | 189 263 |BT50-H32-200 5.37
54441512KC | BT50-HBOR40-125 MKC  44-68 2-14 | 125 199 |BT50-H40-135 M6 5.43
54441517KC | BT50-HBOR40-175 MKC  44-68 2-14 175 249 |BT50-H40-185 5.98
54441521KC | BT50-HBOR40-215 MKC  44-68 2-14 215 289 |BT50-H40-225 HBOR40 FKCCa4es 6.43
54441525KC | BT50-HBOR40-255 MKC  44-68 2-14 | 255 329 |BT50-H40-265 6.83
55571508KC | BT50-HBOR50-86 BMKC 57-90 3-20 86 143 |BT50-H50-65 4.82
55571518KC | BT50-HBOR50-186 BMKC 57-90 3-20 | 186 243 |BT50-H50-165 6.37
55571523KC | BT50-HBOR50-236 BMKC 57-90 3-20 | 236 293 |BT50-H50-215 HBORSO FKCC5790 7.32
55571528KC | BT50-HBOR50-286 BMKC 57-90 3-20 | 286 343 |BT50-H50-265 8.22
56701510KC | BT50-HBOR63-105 BMKC 70-110 3-23 | 105 163 |BT50-H63-85 5.95
56701518KC | BT50-HBOR63-185 BMKC 70-110 3-23 | 185 243 |BT50-H63-165 7.85
56701523KC | BT50-HBOR63-235 BMKC 70-110 3-23 | 235 293 |BT50-H63-215 FKCC70110 9.40
56701528KC | BT50-HBOR63-285 BMKC 70-110 3-23 | 285 343 |BT50-H63-265 10.35
56701533KC | BT50-HBOR63-335 BMKC 70-110 3-23 | 335 393 |BT50-H63-315 13.60
56711510KC | BT50-HBOR63-104 BMKC 110-150 23-43 | 104 163 |BT50-H63-85 6.05
56711518KC | BT50-HBOR63-184 BMKC 110-150 23-43 | 184 243 |BT50-H63-165 7.95
56711523KC | BT50-HBOR63-234 BMKC 110-150 23-43 | 234 293 |BT50-H63-215 FKCC110150 9.50
56711528KC | BT50-HBOR63-284 BMKC 110-150 23-43 | 284 343 |BT50-H63-265 BM8 10.45
56711533KC | BT50-HBOR63-334 BMKC 110-150 23-43 | 334 393 |BT50-H63-315 13.70
56721510KC | BT50-HBOR63-104 BMKC 150-190 43-63 | 104 168 |BT50-H63-85 HBORG63 6.09
56721518KC | BT50-HBOR63-184 BMKC 150-190 43-63 | 184 248 |BT50-H63-165 7.99
56721523KC | BT50-HBOR63-234 BMKC 150-190 43-63 | 234 298 |BT50-H63-215 FKCC150190 9.54
56721528KC | BT50-HBOR63-284 BMKC 150-190 43-63 | 284 348 |BT50-H63-265 10.49
56721533KC | BT50-HBOR63-334 BMKC 150-190 43-63 | 334 398 |BT50-H63-315 13.74
56731510KC | BT50-HBOR63-104 BMKC 190-230 63-83 | 104 168 |BT50-H63-85 6.16
56731518KC | BT50-HBOR63-184 BMKC 190-230 63-83 | 184 248 |BT50-H63-165 8.06
56731523KC | BT50-HBOR63-234 BMKC 190-230 63-83 | 234 298 |BT50-H63-215 FKCC190230 9.61
56731528KC | BT50-HBOR63-284 BMKC 190-230 63-83 | 284 348 |BT50-H63-265 10.56
56731533KC | BT50-HBOR63-334 BMKC 190-230 63-83 | 334 398 |BT50-H63-315 13.81




HBOR25P

MRS TE SRR

Micro-Finishing Cutter Fine Boring System

EHASET G2.5 12000rpm

SIEHRIR
Order No.

RS
Model

52161303P

BT30-HBOR25P

MR Y 28R
Adjust the Graduation

MAX 1mm —-——— MAX 1mm

52161404P | BT40-HBOR25P 40 | 1.22 'éj i
52162303P | SK30-HBOR25P 30 | 0.58 DY V.’%%é*”dg”iﬁ
52162403P | SK40-HBOR25P 30 | 0.72 i ice Graduation
52164604P | HSK63-HBOR25P 40 | 0.92
54 7J1F Carbide Bar
ETEW=E 4 & D|: =y
raer No. ode oDMin-eDMax )
50060209T | CA0602-09T | 2-3.2 9 | 0.0t | 26
50060316T | CA0603-16T | 3-4.2 16 | 0.01 i
500604227 |CA0604-22T | 4-5.2 22 | 0.02
50060527T | CA0605-27T | 5-6.2 27 | 0.02
500606327 | CA0606-32T | 6-7.2 32 | 0.02 =
$58f7J42 Carbide Cutting Bar _
aemsr | omom (LB Diaml  p 7 wF | BE D
Order No. Model oDMin-ooMax | PM Insert Bolt Wrench | N.W
5006605021 | CB06050-21 | 5-6 21 0.0078
5006605526 | CB06055-26 | 5.5-6.5 | 26 0.0100
5006606026 | CB06060-26 | 6-7 op |CCGTO01.L| SBAGSOTR-MIE | 15 | 5106
5006606531 | CB06065-31 | 6.5-7.5 | 31 0.0142
5006607031 | CB06070-31 | 7-8 31 |CCGT0401..L| SB-2040TR-M2 0.0146
#5810 /J4% Carbide Cutting Bar
STEIRS more (BB Dl 7m S5 | BE
Order No. Model oDMin-oDMax | PM Insert Bolt Wrench | N.W
5006605026 | CB06050-26 | 5-6 26 0.0090
5006605531 | CB06055-31 | 5.5-6.5 | 31 0.0112
5006606031 | CB06060-31 | 6-7 31 |CCGTOS0T.L | SBABSOTR-MIE | 15 160104
5006606536 | CB06065-36 | 6.5-7.5 | 36 0.0162
5006607036 | CB06070-36 | 7-8 36 |CCGT0401.L| SB-2040TR-M2 0.0160

72




R ERE IR SL SRR
HBOR32P Micro-Finis':ing Cutter Fine Boring System

EHASET G2.5 12000rpm

A jlaO 1mm
ERR = s L [FE o ] gdroay
Order No. Model N.W v 035
53181303P | BT30-HBOR32P 35 | 0.76
53181404P | BT40-HBOR32P 40 | 1.35 ? e © 0
53182303P | SK30-HBOR32P 35 | 0.71 N fﬂ i )
53182403P | SK40-HBOR32P 35 | 1.3 SEZIENR = MR T ZIEIR
53184604P | HSK63-HBOR32P 40 | 1.32 ﬂ Vice Graduation _[] © [; Ad]USt the Graduation
58 /)42 Carbide Bar

ETSIRE moe BB D s

Order No. Model oDMin-ooMax | PM | N-W
50080209T | CA0802-09T | 2-3.2 9 |0.03
50080316T | CA0803-16T | 3-4.2 16 | 0.03
50080422T | CA0804-22T | 4-5.2 22 | 0.03
50080527T | CA0805-27T | 5-6.2 27 | 0.04
50080632T | CA0806-32T | 6-7.2 32 | 0.04
50080737T | CA0807-37T | 7-8.2 37 | 0.04
50080842T | CA0808-42T | 8-9.2 42 | 0.05

58 7J1F Carbide Cutting Bar

g | om i |T B Dige vl el R | BB
Order No. Model oDMin-ooMax | PM Insert Bolt Wrench | N.W
5008807031 | CB08070-31 | 7-8 31 0.0200
5008807536 | CB08075-36 | 7.5-8.5 | 36 0.0232
5008808036 | CB08080-36 | 8-9 36 0.0264
5008808541 | CB08085-41 | 8.5-9.5 | 41 0.0332
5008809041 |CB08090-41 | 9-10 41 | CCGT0401.L | SB-2040TR-M2 | T6 |0.0334
5008809541 | CB08095-41 | 9.5-10.5 | 41 0.0338
5008810041 | CB08100-41 | 10-11 4 0.0340
5008810541 | CB08105-41 | 10.5-11.5 | 41 0.0334
5008811041 | CB08110-41 | 11-12 4 0.0344




HBOR40P

EHASET G2.5 12000rpm

74

MRS TE SRR

Micro-Finishing Cutter Fine Boring System

SEYENIR
Vice Graduation

20.002MM

e MARTZIEIR
© [| Adjustthe Graduation

—— MAX 2mm

TSR "1 EE: I

Order No. Model N.W -
54181303P | BT30-HBOR40P 35 | 0.95
54181404P | BT40-HBOR40P 40 | 1.34 v
54182303P | SK30-HBOR40P 35 | 0.9 ? 4
54182403P | SK40-HBOR40P 35 | 1.29 ™ /\\
54184604P | HSK63-HBOR40P 45 1 0.92 0 %\ﬁ

58 /)42 Carbide Bar }
=T1=¢ED i) E D N Ny
ThAE | BB | Swwe BEE
oDMin-gDMax
50080209T | CA0802-09T |2-3.2 9 |0.03
50080316T | CA0803-16T |3-4.2 16 | 0.03
50080422T | CA0804-22T |4-5.2 22 | 0.03
50080527T | CA0805-27T |5-6.2 27 | 0.04
50080632T | CA0806-32T |6-7.2 32 | 0.04
50080737T | CA0807-37T |7-8.2 37 | 0.04
50080842T | CA0808-42T |8-9.2 42 | 0.05
58 7J1F Carbide Cutting Bar

aemsr | omom (LB Dimml  p | RS | PE

Order No. Model oDMin-ooMax | PM Insert Bolt Wrench | N.W
5008807041 | CB08070-41 |7-8 41 0.0234
5008807541 | CB08075-41 |7.5-8.5 41 0.0262
5008808046 | CB08080-46 |8-9 46 0.0326
5008808551 | CB08085-51 |8.5-9.5 51 0.0396
5008809051 | CB08090-51 |9-10 51 | CCGTO0401.L | SB-2040TR-M2 | T6 |0.0404
5008809551 | CB08095-51 |9.5-10.5 51 0.0402
5008810051 | CB08100-51 | 10-11 51 0.0402
5008810551 | CB08105-51 | 10.5-11.5 | 51 0.0406
5008811051 | CB08110-51 | 11-12 51 0.0404




HBORS50P

BRI EAR RS LR IR

Micro-Finishing Cutter Fine Boring System

EYHSET G2.5 12000rpm 95~011

1 60.002MM
|

SRS e BB D msmmawmws || 8E o

Order No. Model oDMinoDVax Taper Shank N.W. s218R HERIIEE
55801304CR |BT30-HBOR50P 5-11 MAS403 BT30-H50-45 | 45 | 5.84 Vice Graduaton Adjstthe Gradiation
55801405CR |BT40-HBOR50P  5-11 MAS403 BT40-H50-50 |50 | 6.42 MAX 2mm ————=MAX 2mm
55801506CR |BT50-HBORS0P  5-11 MAS403 BT50-H50-65 | 65 | 9.07

55802305CR |SK30-HBOR50P  5-11 DING9871A 1SO30-H50-55| 55 | 5.97

55802405CR |SK40-HBOR50P  5-11 DIN69871A 1SO40-H50-50| 50 | 6.39

55802505CR |SK50-HBOR50P  5-11 DING9871A 1SO50-H50-50| 50 | 8.62

55804605CR |HSK63-HBORSOP 5-11 DIN69893A HSK6E3-H50-57 | 57 |6.13 A==
Ef& Sleeve

SEMRE | R OB RE AIRHR | SRIEVDAR 3B

Order No. Model | Inner A-Bolt | Carbide Cutting Bar|  N.W. |I I I

50081606 |BC1606 | 06 | ,,| M5 CRO6-- | 0.0542 ]

50081608 |BC1608 | 08 M6 CRO8:- | 0.0484 Ig E i

‘ 4

$58f JJ1F Carbide Cutting Bar

ST moe B EDgsl =@ TR it wF

Order No. Model ' DM Sleeve Insert Bolt Wrench

oDMin-gDMax

5007605021 | CR06050-21  |5-6 21

5007605526 | CR06055-26  |5.5-6.5

5007606026 | CR06060-26  |6-7 26 | Boyeos | CCOTOS0T-L| SB-1630TR-M1.6

5007606531 | CROGO65-31  |65-7.5 | .o

5007607031 | CR06070-31 |7-8

5009807031 | CR08070-31 |7-8

5009807536 | CR08075-36 |7.5-8.5 | 36 6

5009808036 | CR08080-36  |8-9

5009808541 | CR08085-41  |8.5-9.5

5009809041 | CR08090-41  [9-10 BC1eog | COCT040T-L | SB-2040TR-M2

5009809541 | CR0B095-41  [9.5-105 |

5009810041 | CR08100-41  |10-11

5009810541 | CR08105-41  [10.5-11.5

5009811041 | CR08110-41  [11-12

75



HBORS50P

FHHSET G2.5 12000rpm ¢11~090

iR IESLRIT — =/

Micro-Finishing Cutter Fine Boring System

HRERIZEE
Adjust the Graduation

TSR moe LB D wmsmpawmws |, |2

Order No. Model oDMin-oDMax Taper Shank N.W.

55801304RM |BT30-HBOR50P  11-90 MAS403 BT30-H50-45 | 45| 6.85

55801405RM |BT40-HBOR50P  11-90 MAS403 BT40-H50-50 |50 | 7.43

55801506RM |BT50-HBOR50P  11-90 MAS403 BT50-H50-65 |65 |10.08

55802305RM | SK30-HBOR50P  11-90 DIN69871A 1SO30-H50-55| 55 | 6.98

55802405RM |SK40-HBOR50P  11-90 DIN69871A 1SO40-H50-50| 50 | 7.40

55802505RM | SK50-HBOR50P  11-90 DIN69871A 1SO50-H50-50| 50 | 9.63

55804605RM | HSK63-HBOR50P 11-90 DING9893A HSK63-H50-57 | 57 | 7.14
112 Shank

Hi=t-h4 RO X RE | CEIZIZEIE I wF | RE

Order No. Model DM C-NUT B-Bolt Wrench | N.W

50171004 | BRM1610-40 45 | 41 NUT6 SLCS-M3 | T8 | 0.07

50171205 | BRM1612-50 54 | 51 0.09

50171405 | BRM1614-55 59 | 56 NUT7 SLCS-M4 | 15 | 4

50171606 | BRM1616-65 67 | 66 0.14

50172008 | BRM1620-80 82 | 81 NUT9 SLCS-M5 | T25 | 0.22

50172510 |BRM1625-100 | 102 | 101 0.41

50162510 | BM5-100L 96 |88+ M5x12 | O4| 0.40

50501608 | BMS M8x20 | (6| 0.03
E3L7JEE Cutting Insert Holder

ETEIRSE g BB Diymemm  ome palsy ] R | PE

Order No. Model ng hang w Shank Insert Bolt wrench | N.W

oDMin-gDMax
50061114 MR11 11-14 6 |BRM1610-40 | CCGT0301..L | SB-1630TR-M1.6 0.002
BRM1612-50 T6

50061317 MR13 13-17 7 |BRAVHeisss | CCGT0401.L | SB-2040TR-M2 0.003
50061723 MR17 17-23 0.005
50062026 MR20 20-26 0 ggmg;g:gg 0.006
50062329 MR23 23-29 BRM1625-100 0.008
50062632 MR26 26-32 CCGT0602..L TS25-M2.5 T8 | 0.009
50252938CC | SRCC2938 |29-38 11 0.010
50323652CC | SRCC3652  |36-52 13 |BM5-100L 0.020
50404468CC | SRCC4468 |44-68 13 0.030
50505790CC | SRCC5790  |57-90 20 |BMS CCGTO09TS..L TS4-M4 T15 | 0.100

76




M RS I SLAR TR
HBORS0 Micro-Finis':ing Cutter Fine Boring System

F4HSET 06~090

=
e S

N i ’x "
,’ L

£0.002MM

:.. :

gsse | om0 B Dl wmong amng 58 | Vit G i e Gt
Order No. Model Boring Range Taper Shank L1 N.W.

oDMin-gDMax MAX 2mm ————=MAX 2mm
55901309 | BT30-HBOR50 6-90 MAS403 BT30-H50-45 45 | 6.7
55901410 | BT40-HBOR50 6-90 MAS403 BT40-H50-50 50 | 7.3
55901510 | BT50-HBOR50  6-90 MAS403 BT50-H50-65 65 | 9.9
55902309 | SK30-HBOR50 6-90 DIN69871A ISO30-H50-55 | 55 | 6.8
55902410 | SK40-HBOR50 6-90 DIN69871A 1ISO40-H50-50 | 50 | 7.3
55902510 | SK50-HBOR50  6-90 DIN69871A ISO50-H50-50 | 50 9.5
55904610 | HSK63-HBOR50 6-90 DIN69893A HSK63-H50-57 | 57 | 7.0
megr | m s TED zE i B[R T
Order No. Model oDMin-oDMax DM Insert Bolt Wrench
50160621 | BR1606-21| 6-9 21 WBGT0601..L
50160828 | BR1608-28| 8-11 28 SB-1STR-M2| T6
50161035 | BR1610-35| 10-13 35 TBGTO601..L
50161242 | BR1612-42| 12-15 42
50161450 | BR1614-50| 14-17 50 TPGH0902..L SB-2TR-M2.5 0.07
50161660 | BR1616-60| 16-20 60 T8 0.09
50162065 | BR1620-65| 20-24 65 0.11
50162468 | BR1624-68| 24-28 68 TPGH1103.L SB-3TR-M3 0.12
50162505 | BM5 60 + SRTP2938 or SRTP3652 or SRTP4468 M5x12 O4 |0.25
50252938 | SRTP2938 | 29-38 10 0.01
50323652 | SRTP3652 | 36-52 12 TPGHO0902..L SB-2TR-M2.5| T8 0.02
50404468 | SRTP4468 | 44-68 12 0.03
50501608 | BM8 +SRTP5790 M8x20 O6 | 0.03
50505790 | SRTP5790 | 57-90 20 TPGH1103..L SB-3TR-M3 T8 0.10




HBORG63P

EYHSET G2.5 12000rpm 95~011

78

MRl RS A S LR R

Micro-Finishing Cutter Fine Boring System

Gl

~— 62 —= L1

Stani> -H63

0.002MM

9

‘Samy
HBORESP
e

[ AR IUBIR

Adjust the Graduation

MAX 4mm ————= MAX4mm

TEEs % s B B Dl pesmg mmes 5E &
Boring Range L1 SZYEE

Order No. Model oDMin-oDMax Taper Shank N.W. Vice%rxalddaitzion
56801405CR |BT40-HBOR63P 5-11 MAS403 BT40-H63-55 55|72
56801506CR |BT50-HBOR63P 5-11 MAS403 BT50-H63-65 65| 9.8
56801508CR |BT50-HBOR63P 5-11 MAS403 BT50-H63-85 85(10.3
56802406CR |SK40-HBOR63P 5-11 DIN69871A 1SO40-H63-60 |60 | 7.2
56802506CR |SK50-HBOR63P 5-11 DIN69871A 1ISO50-H63-65 |65 | 9.0 A _
56804606CR |HSK63-HBOR63P 5-11 DIN69893A HSK63-H63-67 | 67 | 7.0 —e
E& Sleeve

EIEHROR RO RE L AF#H bishr AL 2 E ol

Order No. Model | Inner A-Bolt | Carbide Cutting Bar | N.W. 7 ]
50081606 BC1606 | o6 34 M5 CRO06--- 0.0542 E
50081608 BC1608 | o8 M6 CRO08:-- 0.0484 i v

v

#5851 /J1% Carbide Cutting Bar

ISR ] %Erin an 2 = EE ilay IR RF BE

Order No. Model IR | DM | Sleeve Insert Bolt Wrench | N.W

oDMin-eDMax

5007605026 | CR06050-26 5-6 26 0.0192
5007605531 | CR06055-31 5.5-6.5 0.0216
5007606031 | CR06060-31 6-7 81 BC1606 CCGTO301..L| SB-1630TR-M1.6 T6 0.0228
5007606536 | CR06065-36 6.5-7.5 36 0.0268
5007607036 | CR06070-36 7-8 CCGT0401..L | SB-2040TR-M2 0.0268
5009807041 | CR08070-41 7-8 1 0.0424
5009807541 | CR08075-41 7.5-8.5 0.0448
5009808046 | CR08080-46 8-9 46 0.0512
5009808551 | CR08085-51 8.5-9.5 0.0586
5009809051 | CR08090-51 9-10 BC1608 |CCGT0401..L| SB-2040TR-M2 T6 0.0586
5009809551 | CR08095-51 9.5-10.5 51 0.0590
5009810051 | CR08100-51 10-11 0.0590
5009810551 | CR08105-51 10.5-11.5 0.0592
5009811051 | CR08110-51 11-12 0.0592




HBORG63P

ER4HSET G2.5 12000rpm 511~032

MRl RS A S LR R

Micro-Finishing Cutter Fine Boring System

f
=%

©0.002MM

Stand i3
meEmse | omom BED 1 wexgrammas || o
Order No. Model ) Taper Shank =
oDMin-oDMax €o}-
56801405 |BT40-HBOR63P  11-32 MAS403 BT40-H63-55 55 o ) ~
56801506 |BT50-HBOR63P  11-32 MAS403 BT50-H63-65 65 -] Ad_ﬁﬁﬂtﬁ%ﬁ”ﬁm
56801508 |BT50-HBOR63P  11-32 MAS403 BT50-H63-85 85 MAX 4mm WA dm n'q
56802406 | SK40-HBOR63P  11-32 DIN69871A 1SO40-H63-60 | 60 R
56802506 | SK50-HBOR63P  11-32 DIN69871A ISO50-H63-65 | 65
56804606 |HSK63-HBOR63P 11-32 DIN69893A HSK63-H63-67 | 67
EF Sleeve
SIEiRSR | MRS PO || ASRRR FSHHA BE
Order No.| Model |Inner A-Bolt | Carbide Shank | N.W.
50081610/BC1610 |210 CM10 0.06
50081612|BC1612 |@12| 34 | M8 CM12 0.05
50081614 /BC1614 |o14 CM14 0.04
584 Carbide Shank
EIEWRSE | R 8 || , | CBIZIRIE | B | B
Order No.| Model |Outer C-NUT B-Bolt | N.W.
50071009|CM10 10| 99 NUT6 |SLCS-M3| 0.10
50071211|CM12 012|112 NUT7 |SLCS-M4| 0.16 -
50071411 |CM14 014|115 NUT7 |SLCS-M4| 0.21 i e R
50071613 CM16 016|135 NUT9 |SLCS-M5] 0.35
MR (IE#E) FIMK (R 1) B3, &
MR and MK(Reverse) Cutting Insert Holder
gaey | | LED |TERE ge |\ BEA| gy 0k ® # AT
OrderNo. | Model | ovin-odMax | W | WK | DM Shank Sleeve Insert Bolt Wrench | N.W.
50061114 |IMR11 11-14 |6 72 105|CM10| BC1610 CCGTO0301..L SB-1630TR-M1.6 0.002
86|119|CM12| BC1612 T6
50061317 |[MR13 18-17 |7 89 122 CM14| BC1614 CCGTO0401..L SB-2040TR-M2 0.003
50061723 |MR17 17-23 0.005
50062026 |MR20 20-26 0.006
50062329 |MR23 5329 9 124|144 | CM16 CCGTO0602..L TS25-M2.5 T8 0.008
50062632 |MR26 26-32 0.009
50051114 |MK11 11-14 |7 | 6 |59|106|CM10| BC1610 CCGT0301..R SB-1630TR-M1.6 0.002
CM12| BC1612 T6
50051317 |MK13 13-17 |8| 7 |72 (120 oMi4| BGC1614 CCGTO0401..R SB-2040TR-M2 0.003
50051723 |MK17 17-23 0.005
50052026 |MK20 20-26 0.007
50052329 |MK23 5329 10| 9 [115/145|CM16 CCGT0602..R TS25-M2.5 T8 0.009
50052632 |MK26 26-32 0.011

79



tiR e TS IESLRR — =2
HBORG63P Micro-Finishing Cutter for Rhombus Fine Boring System

FHHSET G2.5 12000rpm ¢11~0150

HERVZEE
Adjust the Graduation

STEIRSE mg BB D psmgrwmeg | | 9E T
Order No. Model g rang Taper Shank N.W. e
oDMin-oDMax E =
56801405RM |BT40-HBOR63P 11-150 | MAS403 BT40-H63-55 55 | 8.4
56801506RM |BT50-HBOR63P 11-150 | MAS403 BT50-H63-65 65 | 10.9 ™=

56801508RM |BT50-HBORG3P  11-150 MAS403 BT50-H63-85 85 | 11.4
56802406RM |SK40-HBOR63P 11-150 DIN69871A 1SO40-H63-60| 60 | 8.4
56802506RM |SK50-HBOR63P 11-150 DIN69871A ISO50-H63-65| 65 | 10.0
56804606RM |HSK63-HBOR63P 11-150 DIN69893A HSK63-H63-67 | 67 | 8.3

M8+20CAP |

Me—g— |

1#12 Shank

SIER ] x | AE | CEiZIRIg e wF | BE

Order No. Model DM C-NUT B-Bolt Wrench | N.W
50171004 BRM1610-40 45 | 41 NUT6 SLCS-M3 | T8 0.07
50171205 BRM1612-50 54 | 51 0.09
50171405 BRM1614-55 59 | 56 NUT? SLCS-M4 | T15 0.11
50171606 BRM1616-65 67 | 66 0.14
50172008 BRM1620-80 82 | 81 NUT9 SLCS-M5 | T25 | 0.22
50172510 BRM1625-100 | 102 | 101 0.41
50162510 BM5-100L 96 | 88+ M5x12 O4 ] 040
50501608 BM8 M8x20 6| 0.03

1E3L7JEE Cutting Insert Holder

ETESHRSE 18 18 e.B D neae e s e R | PE
Order No. Model oDMin-oDMax W Shank Insert Bolt Wrench | N.W
50061114 | MR11 11-14 6 BRM1610-40 CCGT0301.L | SB-1630TR-M1.6 0.002
50061317 | MR13 13-17 7 ng g] i:gg CCGT0401..L SB-2040TR-M2 | '© | 0.003
50061723 | MR17 17-23 0.005
50062026 MR20 20-26 0 ggmg;g:gg 0.006
50062329 | MR23 23-29 BRM1825-100 0.008
50062632 MR26 26-32 CCGT0602..L TS25-M2.5 T8 | 0.009
50252938CC | SRCC2938 29-38 11 0.010
50323652CC | SRCC3652 36-52 13 | BM5-100L 0.020
50404468CC | SRCC4468 44-68 13 0.030
50637011CC | SRCC70110 70-110 20 0.100
50637115CC | SRCC110150 110-150 o0 | BM8 CCGTO9TS..L TS4-M4 51 210

80



HBORG63

FIHSET 06~0150

MRS TE SRR

Micro-Finishing Cutter Fine Boring System

\

P

MAX 4mm~—'——MAx 4mm

20.002MM

HRERIZEE
Adjust the Graduation

ETES iR m o NED | memm-EmmRE |, |38

Order No. Model oDMim-oDMax Taper Shank N.W.

56900410 | NT40-HBOR63 6-150 | DIN2080 ISO40-H63-55 55 | 8.4 Pl
56900510 | NT50-HBOR63  6-150 | DIN2080 ISO50-H63-65 65 | 10.4 Vice Graduation
56901410 | BT40-HBOR63 6-150  |MAS403 BT40-H63-55 55 | 8.2

56901510 | BT50-HBOR63  6-150  |MAS403 BT50-H63-65 65 | 10.8

56901512 | BT50-HBOR63 6-150  |MAS403 BT50-H63-85 85 | 11.3

56902410 | SK4A0-HBOR63 6-150 | DING9871A 1ISO40-H63-60 | 60 | 8.3

56902510 | SK50-HBOR63 6-150 | DING9871A ISO50-H63-65 | 65 | 10.0

56904610 | HSK63-HBOR63 6-150 | DING9893A HSK63-H63-67 | 67 | 8.2

aEms | m | BED g g il % M R T
Order No. Model oDMin-oDMax DM Insert Bolt Wrench
50160621 | BR1606-21 6-9 21 WBGT0601..L

50160828 | BR1608-28 8-11 28 SB-1STR-M2 | T6
50161035 | BR1610-35 10-13 35 TBGTO601..L

50161242 | BR1612-42 12-15 42

50161450 | BR1614-50 14-17 50 TPGH0902..L SB-2TR-M2.5
50161660 | BR1616-60 16-20 60 T8
50162065 | BR1620-65 20-24 65

50162468 | BR1624-68 24-28 68 TPGH1103..L SB-3TR-M3
50162505 | BM5 60 + SRTP2938 or SRTP3652 or SRTP4468 M5x12 O4
50252938 | SRTP2938 29-38 +10

50323652 | SRTP3652 36-52 +12 TPGH0902..L SB-2TR-M2.5 | T8
50404468 | SRTP4468 44-68 +12

50501608 | BM8 +SRTP70110 or SRTP110150 M8x20 O6
50637011 | SRTP70110 70-110 +20

50637115 | SRTP110150  |110-150 | +20 TPGH1103..L SB-3TR-M3 T8

M5*12CAP
M5——B—

81



HBORG3 B ERlit iR Iy s = pA e
"821\" R[50 Micro-Finishing Cutter Fine Boring System - Cutting Outer Diameter

0~2100

Sgann
HBOR63

ock

REMITSE

BB E
MAX 4mm © MAX 4mm

BML40SE AR BML40fiI#S & V‘% %ﬁgajt_i% - Agﬂﬂﬁgﬁg%{%
[RE 1= ice Graduation o just the Graduation
MAX‘—{5mm b ; MAX 20mm | P * MAX Amm—r‘fa MAX 4mm
(woamsns| =
X [} =x
|_ | B@ﬁigi g % E i@BMlGD " & M10T18L
@Dmin-gDmax % - E(T' A T MP
MAX 5mm —4— E o —= MAX 20mm
g g
I ‘;“ﬁ TS PRR IR
@Dmin-pDmax
<
=

MB—§

0

]
L |
¥

MA g
M8*20CAP

82



BM16D+BM8

#\:‘\’ siccroug 70 90 110 I

TSRIF

=

BHNE
Outter Diameter Boring
UEER | R 6 A N MA TE | RT | BE
Order No. Model oDMin-oDMax DM Bolt Insert Bolt Wrench| N.W
50630160 | BM16D BM8 0.460
50630336 | SLCC3652 60-120 10 M6x12 0.020
50630444 | SLCC4468 45-120 10 M6x12 CCaT0602.R T525-M2.5 8 0.025
50630557 | SLCC5790 0-50-90 17 M8x20 0.089
50630770 | SLCC70110 0-60-100 17 M8x20 CCGT09T3..R TS4-M4 T15 | 0.098
50630771 | SLCC110150 0-20-60 17 M8x20 0.200
50501606 | BM6 +SLCC3652 or +SLCC4468 M6x20 0.030
50630336 | +SLCC3652 15-85 10 BM6 0.020
50630444 | +SLCC4468 30-95 10 BM6 CceaTos02.R T525-M2.5 8 0.025
50501608 | BM8 +SLCC5790 or +SLCC70110 or SLCC110150 | M8x20 0.030
50630557 | +SLCC5790 0-40-80 17 BM8 0.089
50630770 | +SLCC70110 0-50-90 17 BM8 CCGTO09T3..R TS4-M4 T15 | 0.098
50630771 | +SLCC110150 0-10-50 17 BM8 0.200
AT D LD R MA il i | RS | BE
Order No. Model oDMin-0DMax DM Bolt Insert Bolt Wrench| N.W
50630160 | BM16D BM8 0.460
50162505 | BM5 60 M5x12 0.250
50630229 | +SLCC2938 45-100 70 0.008
50630336 | +SLCC3652 30-95 70 CCGT0602..R TS25-M2.5 T8 | 0.020
50630444 | +SLCC4468 10-90 70 0.025
TSR R
N
GE(l=
AN

ERE | R R AR R MA TR i | RS | BE
Order No. Model oDMin-oDMax DM Bolt Insert Bolt Wrench| N.W
50630160 | BM16D BM8 0.460
50171504 | BRM1615-40 41 0.100
50171506 | BRM1615-65 66 0.130
50171606 | BRM1616-65 66 SLCS-M4 s 0.140
50171905 | BRM1619-50 51 0.140
50171908 | BRM1619-80 81 0.200
50172008 | BRM1620-80 81 0.220
50172406 | BRM1624-63 64 SLCS-MS 25 0.260
50172410 | BRM1624-100 101 0.380
50172510 | BRM1625-100 101 0.410
50630716 | ML16 58-74-114 BRM1615 0.006
50630717 | ML17 57-73-113 BRM1616 0.006
50630720 | ML20 50-70-110 BRM1619 0.007
50630723 | ML23 47-67-107 BRM1620 CCaT0602. R T525-M2.5 8 0.009
50630726 | ML26 40-64-104 BRM1624 0.010
50630729 | ML29 37-61-101 BRM1625 0.012

83



84

®

Stanny

NEHESLT]

Outter Diameter Boring Head




Stann y

H N BJ 1 6 eri%lfﬁri%tg}l Iiéiﬁfgé System

TEFASRFEARE - FEPINERIREIETD - A
1IFALOCKIRH » 2fERIESLR Y » Bl
ELOCKIRH » ET=ELH -

The boring tools are pre-balance.

1. Loosen locking bolt

2. Rotate the graduation to adjust the size,
then tighten the locking bolt.

85



INEFEIESLT)
HNBJ16 Small l%Diameter Boring System

¥51E3L7)AE2 Body
¥51E3L /)12 Cutting Bar

T
< T
4
LR AR BRI 2 &R
Body Adjust the Graduation

HNBJ16 /)\EAB1E3T) — BBl )T

Body for HNBJ16 Boring System

SIEHRIE RS h d 712 VARRES W F P B
Order No. Model Front Cutting Bar |  Wrench N.W.
16300050 |HNBJ16 63 36 6 216 O4 1.20

| L
T &< o
f

— =016

RBIESLIR
Cutting Bar
\
Q L
S i DM
D Slany BJ1635-90 ()
HNBJ16 /)\iEA5HE3LT) —151E3L 7018 —*
Cutting Bar for HNBJ16 Boring System

ey | m s | oE B0 oz . RH | DK i ® T | B E
Order No. Model raDmir?—raDmgx DM System Insert Bolt Wrench N.W.
16010624 | BJ1606-24 6-9 24 73 WBGTO0601..L 0.08
16010832 | BJ1608-32 8-11 32 80 SB-1STR-M2 T6 0.08
16011040 | BJ1610-40 10-13 40 87 TBGTO601..L 0.08
16011253 | BJ1612-53 12-15 53 98 0.10
16011460 | BJ1614-60 14-17 60 103 TPGHO0902..L | SB-2TR-M2.5 0.10
16011668 | BJ1616-68 16-21 68 110 HNBJ16 0.12
16012083 | BJ1620-83 20-26 83 125 0.20
16012590 | BJ1625-90 25-31 90 128 T8 0.30
16013090 | BJ1630-90 30-36 90 128 0.32
16013590 | BJ1635-90 35-41 90 128 TPGHT103.L| ~ SB-3TR-M3 0.32
16014090 | BJ1640-90 40-46 90 128 0.38
16014590 | BJ1645-90 45-51 90 128 0.38

86



HNBJ16P

INEFBIESLARTR

Small Diameter Boring System

E4HSET G2.5 12000rpm 95~011

R TED - )

TSR Mo ED | msmmrmimeg | |B S MERTEE

Order No. Model oDMin-gDMax Taper Shank N.W. Adjust the Graduation
16811410CR |BT40-HNBJ16P 5-11 MAS403 BT40-H63-55 55| 6.85
16811510CR |BT50-HNBJ16P 5-11 MAS403 BT50-H63-65 65| 9.41
16811512CR |BT50-HNBJ16P 5-11 MAS403 BT50-H63-85 85| 9.91
16812410CR |SK40-HNBJ16P 5-11 DIN69871A ISO40-H63-60 | 60 | 6.89
16812510CR |SK50-HNBJ16P 5-11 DIN69871A ISO50-H63-65 | 65 | 8.61
16814610CR |HSK63-HNBJ16P 5-11 DIN69893A HSK63-H63-67| 67 | 6.74

EfF Sleeve

I EHRR ] NE 35 1% BE

Order No. Model |Inner| Carbide Cutting Bar | N.W.

16081606 |C1606 06 40 CRO06:"* 0.0542

16081608 | C1608 08 CRO08--- 0.0484

#5810 /J1% Carbide Cutting Bar

I BRI RO Bfﬁa?ge rE| EE VARNY 0% R | P

Order No. Model oMinooMax | PM | Sleeve Insert Bolt Wrench | N.W.
5007605026 | CR06050-26 5-6 26 0.0192
5007605531 | CR06055-31 5.5-6.5 31 0.0216
5007606031 | CRO6060-31 | 6-7 sl 06| SCET0S01-L|SBRGSOTRIMIS| 5 yoipsog
5007606536 | CR06065-36 6.5-7.5 36 0.0268
5007607036 | CR06070-36 7-8 36 CCGT0401..L | SB-2040TR-M2 0.0268
5009807041 | CR08070-41 7-8 41 0.0424
5009807541 | CR08075-41 7.5-8.5 41 0.0448
5009808046 | CR08080-46 8-9 46 0.0512
5009808551 | CR08085-51 8.5-9.5 51 0.0586
5009809051 | CR08090-51 9-10 51 |C1608| CCGTO0401..L | SB-2040TR-M2 | T6 | 0.0586
5009809551 | CR08095-51 9.5-10.5 51 0.0590
5009810051 | CR08100-51 10-11 51 0.0590
5009810551 | CR08105-51 10.5-11.5 | 51 0.0592
5009811051 | CR08110-51 11-12 51 0.0592

87



INEFEIESLT)
HNBJ16P Small l%Diameter Boring System

EZ4HSET G2.5 12000rpm 511~032

HEER T ZIBIR
Adjust the Graduation

gaEmE | m o JED | psmig tenmigs

Order No. Model g ang Taper Shank N.W.
oDMin-oDMax

16811410|BT40-HNBJ16P  11-32 MAS403 BT40-H63-55 55 | 7.50

16811510|BT50-HNBJ16P  11-32 MAS403 BT50-H63-65 65 [10.10

16811512 |BT50-HNBJ16P  11-32 MAS403 BT50-H63-85 85 |10.60
16812410|SK40-HNBJ16P  11-32 DIN69871A 1ISO40-H63-60 | 60 | 7.60
16812510 |SK50-HNBJ16P  11-32 DIN69871A ISO50-H63-65 | 65 | 9.30
16814610 |HSK63-HNBJ16P 11-32 DIN69893A HSK63-H63-67 | 67 | 7.40

E(F Sleeve
SISiRIR | RS | | FSHAT FE
Order No.| Model |Inner| Carbide Shank | N.W. Bl = .
16081610(C1610 |10 CM10-125L | 0.0360 o Q
16081612|C1612 |@12| 40 | CM12-150L | 0.0264 4 g
16081614|C1614 | o14 CM14-185L |0.0142
- . O
#58l4W Carbide Shank

L1

SEmRE| m B [E , | CBERE | BEmM | AE
Order No.| Model |Outer C-NUT B-Bolt N.W.
50071012|CM10-125L|@10| 125 NUT6 SLCS-M3|0.1282
50071215|CM12-150L | @12 | 150 NUT7 SLCS-M4|0.2244

‘E&E’ﬂ
50071619|CM16-190L|216[190] NUT9 |SLCS-M5] 0.5006 =

M4*16L

50071418|CM14-185L|@14|185| NUT7 |SLCS-M4|0.3818 :

MR (LEHE) MK (1) #&3L 708
MR and MK(Reverse) Cutting Insert Holder

STEIRSE R 18| o D |TEEE x| m@m | EE i % wE| 3@
Order No.  Model| oy ovax | W | WK | DM Carbide Shank | Sleeve Insert Bolt Wrench | N.W.
50061114 | MR11| 11-14 |6 72|131| CM10-125L | C1610 CCGTO0301..L SB-1630TR-M1.6 0.002

157| CM12-150L | C1612 T6
50061317 |[MR13| 13-17 |7 86 192| CM14-185L | C1614 CCGT0401..L SB-2040TR-M2 0.003
50061723 |MR17| 17-23 0.005
50062026 |MR20| 20-26 0.006
50062329 |MR23| 23-29 9 124{199| CM16-190L CCGTO0602..L TS25-M2.5 T8 0.008
50062632 |IMR26| 26-32 0.009
50051114 |MK11| 11-14 | 7| 6 |59|132| CM10-125L | C1610 CCGT0301..R SB-1630TR-M1.6 0.002

158| CM12-150L | C1612 T6
50051317 |MK13| 13-17 |8 |7 |72 193| CM14-185L | C1614 CCGT0401..R SB-2040TR-M2 0.003
50051723 |MK17| 17-23 0.005
50052026 |MK20| 20-26 0.007
50052329 |MK23| 23-29 10| 9 [115/200| CM16-190L CCGT0602..R TS25-M2.5 T8 0.009
50052632 |IMK26| 26-32 0.011

88



HNBJ16P

EZ4HSET G2.5 12000rpm 511~068

INERBIESLARIT — =2

Small Diameter for Rhombus Boring System

TSR m o ED | msmm-wmRs || |88

Order No. Model oDMin-gDMax Taper Shank N.W.

16811410JM |BT40-HNBJ16P 11-68 | MAS403 BT40-H63.55 |55 | 8.50 JomR g AR
16811510JM |BT50-HNBJ16P 11-68 | MAS403 BT50-H63-65 | 65 |11.05 !
16811512JM |BT50-HNBJ16P 11-68 | MAS403 BT50-H63-85 | 85 |11.55

16812410JM |SK40-HNBJ16P 11-68 | DING9871A ISO40-H63-60| 60 | 8.53

16812510JM |SK50-HNBJ16P 11-68 | DIN69871A ISO50-H63-65| 65 |10.25

16814610JM |HSK63-HNBJ16P 11-68 | DING9893A HSK63-H63-67 | 67 | 8.38
112 Shank

HEEL 5 O X FE | CEIZIRIE B RF | PR E

Order No. Model DM C-NUT B-Bolt | Wrench | N.W

16171004 |BJM1610-40 | 45 | 41 NUT6 |SLCS-M3| T8 | 0.12

16171205 |BJM1612-50 | 54 | 51 0.14

16171405 |BJM1614-55 | 59 | 56 NUT7  |SLCS-M4| TS | 16

16171606 |BJM1616-65 | 67 | 66 0.19

16172008 |BJM1620-80 | 82 | 81 NUT9  |SLCS-M5| T25 | 0.27

16172510 | BJM1625-100 | 102 | 101 0.46

16025040 | BM1625-40 36 | 40 0.20

16025063 | BM1625-63 60 | 63 M5x12 | O 4 | 0.29 - =
16025100 |BM1625-100 | 96 | 100 0.43 2
#E3L7JEE Cutting Insert Holder

ETEIRSE o (BB Dinmmm e s i R | PE
Order No. Model ) W Shank Insert Bolt Wrench | N.W

oDMin-eDMax
50061114 MR11 11-14 6 |BJM1610-40 | CCGTO0301.L | SB-1630TR-M1.6 0.002
BJM1612-50 T6

50061317 MR13 13-17 7 |BIMieiascs | CCGTO401.L SB-2040TR-M2 0.003
50061723 MR17 17-23 9 0.005
50062026 MR20 20-26 9 ng]g;g:gg 0.006
50062329 MR23 23-29 9 |BIM1625-100 0.008
50062632 MR26 26-32 9 CCGT0602..L TS25-M2.5 T8 | 0.009
50252938CC | SRCC2938 29-38 1 |BM1625-40 0.010
50323652CC | SRCC3652 36-52 13 |BM1625-63 0.020
50404468CC | SRCC4468 44-68 13 |BM1625-100 0.030

M5*12CAP

——f

W,

M5*12CAl

—8

BM1625-63

W

BM1625-100

W,l:_L

M5*12CAP

——

89



INEFBIESLARTR
HNBJ16 Small l%Diameter Boring System

#2410 SET 06~051

AR YZIBIE
Adjust the Graduation

bred

— ]
mEms | om0 B0 msmgrwmee || |98
Order No. Model oDMin-oDMax Taper Shank N.W
16910410 | NT40-HNBJ16  6-51 DIN2080 1SO40-H63-55 55| 9.3
16910510 | NT50-HNBJ16  6-51 DIN2080 ISO50-H63-65 65 | 11.2 )
16911410 | BT40-HNBJ16  6-51 MAS403 BT40-H63-55 55 | 9.1 ﬁ ]
16911510 | BT50-HNBJ16 ~ 6-51 MAS403 BT50-H63-65 65| 11.7 ]
16911512 | BT50-HNBJ16 ~ 6-51 MAS403 BT50-H63-85 85 | 12.2
16912410 | SK40-HNBJ16  6-51 DIN69871A 1SO40-H63-60 | 60 | 9.1
16912510 | SK50-HNBJ16  6-51 DIN69871A ISO50-H63-65 | 65 | 10.9
16914610 | HSK63-HNBJ16 6-51 DIN69893A HSK63-H63-67 | 67 | 9.0
g | om s | LD mel o7 A ® & | T PE
Order No. Model oDMin-oDMax DM Insert Bolt Wrench | N.W
16010624 | BJ1606-24 | 6-9 24 | WBGTO0601..L 0.08
16010832 | BJ1608-32 | 8-11 32 SB-1STR-M2| T6 |0.08
16011040 | BJ1610-40 | 10-13 40 | TBGTO601-L 0.08
16011253 | BJ1612-53 | 12-15 53 0.10
16011460 | BJ1614-60 | 14-17 60 | TPGH0902..L |SB-2TR-M2.5 0.10
16011668 | BJ1616-68 | 16-21 68 0.12
16012083 | BJ1620-83 | 20-26 83 0.20
16012590 | BJ1625-90 | 25-31 90 T8 |0.30
16013090 | BJ1630-90 | 30-36 90 0.32
16013590 | BJ1635-90 | 35-41 0 T TEE 0.32
16014090 | BJ1640-90 | 40-46 90 0.38
16014590 | BJ1645-90 | 45-51 90 0.38

90



h100-B72

RILERESLTDHEES RR

Large Diameter Boring System

>

91



h100-B72

92

RILEREILIIBE R

Large Diameter Boring System

13 7)#% Taper Shank

HERIZIT Extension Spacer

1E82 Adapter

B{EIBEE Plate

RILEHEESLJIAEE Large Diameter Body
$E1E3L7JE Cutting Insert Holder
80°#A#E3L7JEE 80° Cutting Insert Holder

45°1F % B FE#EE3LJJEE 45° Chamfer Cutting Insert Holder
$EIESLR ETJEE Reverse Cutting Insert Holder
RILENEIEIL T AEE Large Diameter Body
F{&iEEBalance Holder

¥51E3L ) Cutting Insert Holder

¥EIESLR ETJEE Reverse Cutting Insert Holder

BBORT2 BEAE  mmiiE  EELREIE
BBOR72 Body Cutting Insert Holder ~ Reverse Cutting Insert Holder
ME'B0CAP-2PCS wk Wk
ER E|

R TZIBIR

Adjust the Graduation — —

5
= a
—f~MmC
[a) 4
= —f~MC
A2 M85CAP-4PCS
[a)

H100 FRFI-ESLIR

Taper Shank

h100-B72 1%
Adapter

B72 BT
B72 Plate

ﬁﬁiﬁ

B72W E{EEE  vgascarapcs
B72W Balance Holder

itER AR

Cutting Insert Holder

*‘ :w

80°fEHEL IR

80° Cutting Insert Holder

DBT50-H100-100

g : FSREP19
Specification please refer to P.19

S -

Specification please refer to P.23

E2FEP23

wa |

MA ©
MB‘lGCAP-ZPCﬂ

g T M8*30CAP
. B~ MB
(@ © B~ MA
L M8*16CAP
ME'60CAP-2PCS LR B 45 ER IR
Reverse Cutting Insert Holder 45° Chamfer Cutting Insert Holder
o 2 ] ’\5) ] M8*16CAP
g | o 5 ol 3 —-MA
®: : 0 : —f- M8
] @g 4 M8*30CAP
BBIT72 fEEARE RESLER RESLER
BBIT72 Body Apron Apron

DING9871A

1ISO50-H100-100

S -

Specification please refer to P.26

52£FEP26

h100H100-100



h100-B72

13 7)#% Taper Shank

HERIEIE Extension Spacer

1E82 Adapter

B{EIBEE Plate

RIL{EHEHESLJIAREE Large Diameter Body
$E1E3L7JE Cutting Insert Holder
80°4H1E3L/JEE 80° Cutting Insert Holder

RILERESLDBE R

Large Diameter Boring System

45°TF 2 {B|E4E1E3L/JEE 45° Chamfer Cutting Insert Holder

$E1E3L 2 ETIE Reverse Cutting Insert Holder
KILEZFEIEILTIAEE Large Diameter Body
E{&iEEBalance Holder

¥51E3L ) Cutting Insert Holder
¥EIESLR ) Reverse Cutting Insert Holder

h100-B72 ##
Adapter

BBORT2ISEAR g e EELREDE
BBOR7Z Body Cutting Insert Holder ~~ Reverse Cutting Insert Holder
M'60CAP-2PCS oy e ki wk
3 3
? 6 SE0 7 Mﬂ
5 4 4 4 MA ©
- [ : MB*lGCAP-ZPﬂ
= e f-mB
==
% e r—f-mB
a B72W SEEEE  wesca2pcs
= —f~Mc B72W Balance Holder
T LTS 8013 IS
—f-mC Cutting Insert Holder 80° Cutting Insert Holder
H wk,
= M8*25CAP-4PCS *‘ w
g =
T ©LJ Mg30CAP
(B ,a l M8*16CAP
— RS R 45° IER BT
B72 Eﬁ@/ﬁ@ Reverse Cutting Insert Holder 45° Chamfer Cutting Insert Holder
B72 Plate ° M M MB*16CAP
. MA
@ E " MB
o M8*30CAP
BBIT72 fEiEAEE RIS ER RIS ER
BBIT72 Body Apron Apron
h100-B72 (0") h100-B72X90 (90")
@63
7‘-!v
®0®©0 (@l ®0®0

h100-B72i582

Adapter for BBIT and BBOR Large Diameter Boring System

ETE R " L MCEF## 3 B
Order No. Model MC Bolt N.W.
41720000 |h100-B72 50 CAP M8x25-4PCS| 4.80
41720000x9 | h100-B72x90° 50 CAP M8x25-4PCS| 4.80

B72 #TiBEE

Plate for BBIT and BBOR Large Diameter Boring System
Sziﬁst i/lﬁod}rfl EDEF BEOR Dor BBIT Dit i.w%
70172148 |B72-148 148 40 35 2.15
70272198 |B72-198 198 65 60 3.00
70372248 |B72-248 248 90 85 3.80
70472298 |B72-298 298 115 110 4.60
70572348 |B72-348 348 140 135 5.40
70672398 |B72-398 398 165 160 6.20

SHAEIBEEEEMARIAISL - ABEE10mm » TIENle20mmiE3LEE - {FIES EEEHBENE -
Remark : Plate has four holes,distance 10mm and the boring range increase 20mm.

93



RILEEILIBEES R
h100-B72 Large Diameter Boring System

13, 7J#8 Taper Shank

HERIEIT Extension Spacer

1£82 Adapter

B{EIBEE Plate

RILEHENESLT)AEE Large Diameter Body

$E1E3LTJEE Cutting Insert Holder

$EIE3L R ETJEE Reverse Cutting Insert Holder
80°#8#E3JJEE 80° Cutting Insert Holder

45°1F [ BIE#RE3SLTJEE 45° Chamfer Cutting Insert Holder

FEHESL T 801, IR
Cutting Insert Holder ‘ 80° Cutting Insert Holder
]
] MB
g i MA
/ P
’* L1~ L
— 5 M8'60CAP-2PCS B R IE e 45°IE R B T)RE
[ ;}7 = Reverse Cutting Insert Holder  45° Chamfer Cutting Insert Holder
g == —ff—nc
% | I
H Py o €
o | 1S
@ B = —&-mc
B‘ S M8*25CAP-4PCS
H100 R3I-HE3, T4 h100-B72 & ° [ } | ME16CAP
Taper Shank Adapter o | s - sl - A
tH 05 MB
© 2 M8*30CAP
P — @ B L
B72 B{TBRE BBIT72 EIEAEE RIESL B RIES B
B72 Plate BBIT72 Body Apron Apron
BBIT72 K3|L{EAEEFL 488
Body for Large Diameter Adjustable Twin Cutter Roughing
Hi=t RO KEE MA MB wmF B B
Order No. Model Mobile Bolt Bolt Wrench N.W.
70007372 |BBIT72 20 M8x16 M8x30 0406 1.44
BBIT72 $8YEFLJEE
Cutting Insert Holder for BBIT Large Diameter Adjustable Twin Cutter Roughing
EEE | W B w . TR | &% | ®3 | »8
Order No. Model Insert Bolt Wrench N.W.
30809013A |SACC90130 795 0.17
30809013B |SBCC90130 ’ 0.18
30813017A |SACC130170 226 99.5 CCMT1204.. | TS5-M5 25 0.23
30813017B |SBCC130170 ) 0.24
BBIT72 {BYEILR TR
Reverse Cutting Insert Holder for BBIT Large Diameter Adjustable Single Cutter Roughing
ETERE w1 aw wk . TF | &% [ Ry |28
Order No. Model Insert Bolt Wrench N.W.
30809013K |RKCC90130 22 22 79.5 0.18
30813017K |RKCC130170 44 22 99.5 CCMT1204.. | TS5-M5 25 0.25
BBIT72 80°#8#E3 /&
80° Cutting Insert Holder for BBIT Adjustable Twin Cutter Roughing
Hi=t ]R8 W e VAR 0% w F P E
Order No. Model Insert Bolt Wrench N.W.
30809013M |EMSC90130 80.5 0.17
30813017M |EMSC130170 231 100.5 SCMT1204.. | TS5-MS 25 0.23
L BBIT72 45°IERZ I HEIESL I RE
;_]_21 45° Chamfer Cutting Insert Holder for BBIT Adjustable Single Cutter Roughing
; STEHRIE RO W o VAR 1% Hh R F 2 B
Order No. Model Insert Bolt Wrench N.W.
30809013W |IWSC90130 80.5 0.16
30813017W |IWSC130170 231 100.5 SCMT1204.. | TS5-MS 25 0.22

94



h100-B72

RILEEILIBEES R

Large Diameter Boring System

13, 7J#8 Taper Shank

HERIEIT Extension Spacer

1£82 Adapter

$#1T/BEE Plate

KILEFEHESL /A8 Large Diameter Body

g EEBalance Holder

¥51E3LJJEE Cutting Insert Holder

ZR2¥E1E3LTIEE Rhombus Cutting Insert Holder
¥51E3L 2 ETIEE Reverse Cutting Insert Holder

ZEMAEIESLR EJJEE Rhombus Reverse Cutting Insert Holder

BBORT2 fEEARE WELIE  BELREIE
BBOR72 Body Cutting Insert Holder ~ Reverse Cutting Insert Holder
) M'60CAP-2PCS w v, wk wk
MRARTZIBNR T :g el E T
Adjust the Graduation =4 Q| Gl G (T MQ L
2 R @} : Ll =l M816CAP-2PCS L
’f L1~ o
| =
2 ko O T
5 | [N
@ = —f-mcC
5 NewCHCS
H100 REI-EALM  h100-B72 R g ° = —g-w
Taper Shank Adapter = =
_8 o |e=—C—f-wv8B
— MB125CAP-2PCS
B72 BB B72W FEE
B72 Plate B72W Balance Holder
BBOR72 K3 M IEI 452 +B72W &
Body and Balance Holder for Large Diameter Finishing Cutter Fine Boring System
TSR RS BEE MA MB wF B B
Order No. Model Mobile Bolt Bolt Wrench N.W.
70007572 |BBOR72 M8x16 1.65
70007472 |B72W 285 M8x25 05 Os 1.59
BBOR72 #51&3, JJEE
Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
OEmE | W R w . 7R A | w3 | # B
Order No. Model Insert Bolt Wrench N.W.
50637011 |SRTP70110 20 66 0.10
50637115 |SRTP110150 20 106 | PGH1103.L| SB-STR-M3 8 0.21
BBOR72 £/ t51E31 B
Rhombus Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
EmE | R 1 w . il B wmy | 2 ®
Order No. Model Insert Bolt Wrench N.W.
50637011CC [SRCC70110 20 67 0.10
50637115CC [SRCC110150 20 107 CCGTO9T3.L|  TS4-M4 15 0.20
BBOR?72 #51&3L R &I EE
Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
OERE | R 8 aw wk . R i mE | 28
Order No. Model Insert Bolt Wrench N.W.
50637011K |FKTP70110 16 15 66 0.10
50637115K |FKTP110150 25 15 106 | 'CGH1108.R| SB-3TR-M3 8 0.21
BBOR72 ZAEHELRIETIRE
Rhombus Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
ERE | R R . WK . DR B "3 | # B
Order No. Model Insert Bolt Wrench N.W.
50637011KC |[FKCC70110 16 15 67 0.10
50637115KC |FKCC110150 28 15 107 CCGTO9TS. R TS4-M4 5 0.20

95



RILEEETDHEIESLIIB S R#%-AB type

Large Diameter Adjustable Twin Cutter Roughing and Semi-Finishing Boring System

PEILOAR ~ 1EER ~ BB « KILIEHEIESLDAEE - 1BIESLE
Taper Shank, Adapter, Plate, Large Diameter Body and Cutting Insert Holder

//-_-'_:f ®
£ &%

¥

2 SET 3
MAS403 DBT-BBIT72 A3|,{E%7)181E3.7]-AB type
MAS403 DBT and BBIT72 Large Diameter Adjustable Twin Cutter Roughing and Semi-Finishing Boring System

o & b . RIERIBILRIAES B

Hi=¢t B Boring Range| M L Large Diameter Adjl{stgble Twin Cuiter Boring System pe==
Order No. Model oDMin-eDMax =X ALl 1 RE EMIGBEE | K3LEARIES| A EE FBIESL TIEE N.W.

Taper Shank Adapter Plate Boring Head Cutting Insert Holder

83108520AB | DBT50-BBIT72-202 AB 160-220 B72-148 16.13
83208520AB | DBT50-BBIT72-202 AB 210-270 B72-198 16.98
83308520AB | DBT50-BBIT72-202 AB 260-320 B72-248 SACC90130 17.78
83408520AB | DBT50-BBIT72-202 AB 310-370 B72-298 SBCC90130 18.58
83508520AB | DBT50-BBIT72-202 AB 360-420 B72-348 19.38
83608520AB | DBT50-BBIT72-202 AB 410-470 B72-398 20.18
83118520AB | DBT50-BBIT72-202 AB 200-260 202 | 245 | DBT50-H100-100 B72-148 16.25
83218520AB | DBT50-BBIT72-202 AB 250-310 B72-198 17.10
83318520AB | DBT50-BBIT72-202 AB 300-360 B72-248 SACC130170 | 17.90
83418520AB | DBT50-BBIT72-202 AB 350-410 B72-298 SBCC130170 | 18.70
83518520AB | DBT50-BBIT72-202 AB 400-460 B72-348 19.50
83618520AB | DBT50-BBIT72-202 AB 450-510 B72-398 20.30
83108525AB | DBT50-BBIT72-252 AB 160-220 B72-148 18.78
83208525AB | DBT50-BBIT72-252 AB 210-270 B72-198 19.63
83308525AB | DBT50-BBIT72-252 AB 260-320 B72-248 SACC90130 20.43
83408525AB | DBT50-BBIT72-252 AB 310-370 B72-298 SBCC90130 21.23
83508525AB | DBT50-BBIT72-252 AB 360-420 B72-348 22.03
83608525AB | DBT50-BBIT72-252 AB 410-470 B72-398 22.83
83118525AB | DBT50-BBIT72-252 AB 200-260 252 | 295 | DBTS0-H100-150 | h100-B72 B72-148 BBIT72 18.90
83218525AB | DBT50-BBIT72-252 AB 250-310 B72-198 19.75
83318525AB | DBT50-BBIT72-252 AB 300-360 B72-248 SACC130170 | 20.55
83418525AB | DBT50-BBIT72-252 AB 350-410 B72-298 SBCC130170 | 21.35
83518525AB | DBT50-BBIT72-252 AB 400-460 B72-348 22.15
83618525AB | DBT50-BBIT72-252 AB 450-510 B72-398 22.95
83108530AB | DBT50-BBIT72-302 AB 160-220 B72-148 21.73
83208530AB | DBT50-BBIT72-302 AB 210-270 B72-198 22.58
83308530AB | DBT50-BBIT72-302 AB 260-320 B72-248 SACC90130 23.38
83408530AB | DBT50-BBIT72-302 AB 310-370 B72-298 SBCC90130 24.18
83508530AB | DBT50-BBIT72-302 AB 360-420 B72-348 24.98
83608530AB | DBT50-BBIT72-302 AB 410-470 B72-398 25.78
83118530AB | DBT50-BBIT72-302 AB 200-260 302 | 345 | DBT50-H100-200 B72-148 21.85
83218530AB | DBT50-BBIT72-302 AB 250-310 B72-198 22.70
83318530AB | DBT50-BBIT72-302 AB 300-360 B72-248 SACC130170 | 23.50
83418530AB | DBT50-BBIT72-302 AB 350-410 B72-298 SBCC130170 | 24.30
83518530AB | DBT50-BBIT72-302 AB 400-460 B72-348 25.10
83618530AB | DBT50-BBIT72-302 AB 450-510 B72-398 25.90

96



BT50A/B-H100-150

Gy

M
1M
=y
I
b LE
2£
xF
3
E o
=
s
=
1
o
L1 50- |@

=Rmax*2
A+A

Dmax:

A+B

e & D ) K}L@*H}E}L%%E%ES ] n
HI=t = O Boring Range| M L Large Diameter Ad]l{stible Twin Cuiter Boring System BB
Order No. Model 2DMin-eDMax 1BE3L04m E B BGBEE | R3LEHARIESL DA A3 IR N.W.
Taper Shank Adapter Plate Boring Head Cutting Insert Holder

83108535AB | DBT50-BBIT72-352 AB 160-220 B72-148 24.68
83208535AB | DBT50-BBIT72-352 AB 210-270 B72-198 25.53
83308535AB | DBT50-BBIT72-352 AB 260-320 B72-248 SACC90130 26.33
83408535AB | DBT50-BBIT72-352 AB 310-370 B72-298 SBCC90130 27.13
83508535AB | DBT50-BBIT72-352 AB 360-420 B72-348 27.93
83608535AB | DBT50-BBIT72-352 AB 410-470 B72-398 28.73
83118535A8 | DBT50-BBIT72-352 AB 200-260 | So2 | 395 | DBTS0-H100-250 1h100-B72 o7 1 BBIT72 24.80
83218535AB | DBT50-BBIT72-352 AB 250-310 B72-198 25.65
83318535AB | DBT50-BBIT72-352 AB 300-360 B72-248 SACC130170 26.45
83418535AB | DBT50-BBIT72-352 AB 350-410 B72-298 SBCC130170 27.25
83518535AB | DBT50-BBIT72-352 AB 400-460 B72-348 28.05
83618535AB | DBT50-BBIT72-352 AB 450-510 B72-398 28.85

Stann y

97



BBOR72

PE3LI04 ~ 18 -

98

RILEMERFEIRESL OB SRR

Large Diameter Finishing Cutter Fine Boring System
BITREE ~ KILIERBIEILDAEE « TFEEE « ¥EIESLTIRE

Taper Shank, Adapter, Plate, Large Diameter Body, Balance Holder
and Cutting Insert Holder

37 SET

MAS403 DBT-BBOR72 K 3|,{ElaAE &3]
MAS403 DBT and BBOR72 Large Diameter Finishing Cutter Fine Boring System

AL ERBIESLRIAIES

SIEiRYE =R Boéi‘lging%ar?ge M L Large Diameter Fini§hing Cutter Fine Boring System B E
Order No. Model SOMisaDMay &30 BB | BOBE | KLEEEL A im0 | NW.
Taper Shank Adapter Plate Boring Head Cutting Insert Holder

85108520 | DBT50-BBOR72-202 M 150-227 B72-148 16.24
85208520 | DBT50-BBOR72-202 M 200-277 B72-198 17.09
85308520 | DBT50-BBOR72-202 M 250-327 B72-248 SRTP70110 17.89
85408520 | DBT50-BBOR72-202 M 300-377 B72-298 18.69
85508520 | DBT50-BBOR72-202 M 350-427 B72-348 19.49
85608520 | DBT50-BBOR72-202 M 400-477 B72-398 20.29
85118520 | DBT50-BBOR72-202 M 190-267 202 | 245 | DBT50-H100-100 B72-148 16.35
85218520 | DBT50-BBOR72-202 M 240-317 B72-198 17.20
85318520 | DBT50-BBOR72-202 M 290-367 B72-248 SRTP110150 18.00
85418520 | DBT50-BBOR72-202 M 340-417 B72-298 18.80
85518520 | DBT50-BBOR72-202 M 390-467 B72-348 19.60
85618520 | DBT50-BBOR72-202 M 440-517 B72-398 20.40
85108525 | DBT50-BBOR72-252 M 150-227 B72-148 18.89
85208525 | DBT50-BBOR72-252 M 200-277 B72-198 19.74
85308525 | DBT50-BBOR72-252 M 250-327 B72-248 SRTP70110 20.54
85408525 | DBT50-BBOR72-252 M 300-377 B72-298 21.34
85508525 | DBT50-BBOR72-252 M 350-427 B72-348 22.14
85608525 | DBT50-BBOR72-252 M 400-477 B72-398 BBOR72 22.94
85118525 | DBT50-BBOR72-252 M 190-267 252 | 295 | DBTS0-H100-150 | h100-B72 B72-148 B72W 19.00
85218525 | DBT50-BBOR72-252 M 240-317 B72-198 19.85
85318525 | DBT50-BBOR72-252 M 290-367 B72-248 SRTP110150 20.65
85418525 | DBT50-BBOR72-252 M 340-417 B72-298 21.45
85518525 | DBT50-BBOR72-252 M 390-467 B72-348 22.25
85618525 | DBT50-BBOR72-252 M 440-517 B72-398 23.05
85108530 |DBT50-BBOR72-302 M 150-227 B72-148 21.84
85208530 |DBT50-BBOR72-302 M 200-277 B72-198 22.69
85308530 |DBT50-BBOR72-302 M 250-327 B72-248 SRTP70110 23.49
85408530 |DBT50-BBOR72-302 M 300-377 B72-298 24.29
85508530 |DBT50-BBOR72-302 M 350-427 B72-348 25.09
85608530 |DBT50-BBOR72-302 M 400-477 B72-398 25.89
85118530 | DBT50-BBOR72-302 M 190-267 302 | 345 | DBT50-H100-200 B72-148 21.95
85218530 |DBT50-BBOR72-302 M 240-317 B72-198 22.80
85318530 | DBT50-BBOR72-302 M 290-367 B72-248 SRTP110150 23.60
85418530 |DBT50-BBOR72-302 M 340-417 B72-298 24.40
85518530 | DBT50-BBOR72-302 M 390-467 B72-348 25.20
85618530 | DBT50-BBOR72-302 M 440-517 B72-398 26.00




20.01mm y
o

BT50A/B-H100-100

+
s

M o
S5 0 0 gpum

L1

50 o

WEARYZIENR

Adjust the Graduation

7CT>

—

+

Lo

)

—
£ %
£ €

@

I

]

E o
T T3

£ E
_in:n:

aok

£8

oA

- © ® o T RIEESLARES i

HISt = R Boring Range | M L Large Diameter F|n|§hlng Cutter Flne Boring System BB
Order No. Model SDMinabMas LTI BB | BB | ALTRELIAE|  BEsLOE | NW.

Taper Shank Adapter Plate Boring Head | Cutting Insert Holder

85108535 | DBT50-BBOR72-352 M 150-227 B72-148 24.79
85208535 | DBT50-BBOR72-352 M 200-277 B72-198 25.64
85308535 | DBT50-BBOR72-352 M 250-327 B72-248 SRTP70110 26.44
85408535 | DBT50-BBOR72-352 M 300-377 B72-298 27.24
85508535 | DBT50-BBOR72-352 M 350-427 B72-348 28.04
85608535 |DBT50-BBOR72-352 M 400-477 B72-398 BBOR72 28.84
85118535 | DBT50-BBOR72-352 M  190-267 852 | 395 | DBTS0-H100-230 | M00-B72| 575 44 B72W 24.90
85218535 |DBT50-BBOR72-352 M 240-317 B72-198 25.75
85318535 |DBT50-BBOR72-352 M 290-367 B72-248 SRTP110150 26.55
85418535 |DBT50-BBOR72-352 M 340-417 B72-298 27.35
85518535 |DBT50-BBOR72-352 M 390-467 B72-348 28.15
85618535 | DBT50-BBOR72-352 M 440-517 B72-398 28.95

Stann y

99






T 83, 70 4 25 Rk

=

Large Diameter Borin

K31

(=)




h100-AL120

102

RILEESLIES R

Large Diameter Boring System

13 7)#% Taper Shank

HERIZIT Extension Spacer

1E82 Adapter

$REYSBEE Aluminium Plate

JBEE Plate

KILEABIEILTIAEE Large Diameter Body

#8#E3|,7JE Cutting Insert Holder

80°#H#E3JJEE 80° Cutting Insert Holder

45°1F [ BIE#EE3LTJEE 45° Chamfer Cutting Insert Holder
$EiE3L R ETJEE Reverse Cutting Insert Holder
KR3LE4EHEIL ) AEE Large Diameter Body

E{&iEEBalance Holder

¥51E3LJJEE Cutting Insert Holder

ZE451E3L /)5 Rhombus Cutting Insert Holder
¥51E3LZETIEE Reverse Cutting Insert Holder
ES4EEILR ETIEE Rhombus Reverse Cutting Insert Holder

B72-84 /BEE BBOR72 f&iEARE  FEIESLJIEE EIREARIEIE
B72-84 Plate BBOR72 Body Cutting Insert Holder  Reverse Cutting Insert Holder
ugscappes P W Wk WK
= 3
D 6 6 o 7 M’;L
2 :J : MS*lGCAP-ZPCil
s o 3 B~ MC - -
AR T2ENE 4 e
Adjust the Graduation D) ' =
= —C—f§~MB
L1 = —@-MB
B72W /G Me:25CAP-2PCS
] ::%. MD B72W Balance Holder
g MIBCHP4PCS R 80°HRE3L T B
= Cutting Insert Holder 80° Cutting Insert Holder Spring Washer
,,,,,,, T f-wo ~w
gyl
& o,
H100 331183, 70 h100-AL120 HE b; i
Taper Shank h100-AL120 Adapter L
e=a @ ueeocaP2pes KBS TR 45 ER IR TR
o 1 P Reverse Cutting Insert Holder 45° Chamfer Cutting Insert Holder
o o) _ _
S B F—H—MC ° X) MB6CAP
(S N H—&~—MC 4 . } m/BA
le=d-ao1] MC o) 2 ME'30CAP
- MB*30CAP-6PCS - -
AL120 SRELERE  B72-84 BEE BBIT72 fiEARE RIELER RIELER EBHERS
AL120 Aluminium Plate ~ B72-84 Plate BBIT72 Body Apron Apron Spring Washer

5/38T50—H1 00-100

DING9871A
1ISO50-H100-100

RIS

Specification please refer to P.19

S -

Specification please refer to P.23

ESEP19 E2FEP23

h100H100-100

R1E : FSFEP26
Specification please refer to P.26



h100-AL120

1E82 Adapter
FRELEEE Aluminium Plate
JBEE Plate

RILERESLIDBE R

Large Diameter Boring System

2828 28.28

Dor-

h100-AL120 3E#8
h100-AL120 Adapter a

BBORT2 AR  RIELIE BELREIE
BBOR72 Body Cutting Insert Holder Reverse Cutting Insert Holder
16 MBG0CAP-2PCS W, W, Lok wk
=l E
5 Me B & T 110 mﬂ)
EE me M . | MesCaPapes J
2 Me -
B M8:30CAP-6PCS ~
B72-84 31 = M A
B72-84 Plate = g
B72W ﬁ{%@ M8*25CAP-2PCS
_____ in { %. MD B72W Balance Holder
- e ChRapeS L 8 MERE  BEEA

Cutting Insert Holder

- pap——

~| v wk —
=
‘? - T “‘If l} M8*30CAP
o . 2 MB
= @g @ ',{ © " VA
M8*16CAP
= 0 MECOCAP2PCS B A 45 EREE
i Reverse Cutting Insert Holder 45° Chamlfer Cutting Insert Holder
s = 8- @ I —% 1 MBL6CAP
2 e o : s ; — e
e | g e ) " weace
; = M8*30CAP-6PCS - - .
AL120 RB4BIE  B72-84 BEE BBIT72 fEiEA%E RIELER RELBR BHRR
AL120 Aluminium Plate B72-84 Plate BBIT72 Body Apron Apron Spring Washer

h100-AL120 (0)

h100-AL120$&8
Adapter for BBIT and BBOR
Large Diameter Boring System

ISR R P E
Order No. Model N.W.
41120000 h100-AL120 5.00
41120000x9 | h100-AL120x90° 5.00
h100-AL120-90 (90°)
AL120 FREHBEE
Aluminium Plate for BBIT and BBOR Large Diameter Boring System
Hi=t i RS : P E
Order No. Model H |BBOR Dor| BBIT Dit MD MC NLW.
70720398 | AL120-398 67 165 160 M16x75-4PCS M8x30-12PCS | 6.36
70720498 | AL120-498 72 215 210 M16x80-4PCS M8x30-12PCS | 8.76
70720598 | AL120-598 77 265 260 M16x85-4PCS M8x30-12PCS | 11.27
70720698 | AL120-698 82 315 310 M16x90-4PCS M8x30-12PCS | 13.77
70720798 | AL120-798 87 365 360 M16x95-4PCS M8x30-12PCS | 16.87
70720898 | AL120-898 92 415 410 M16x100-4PCS | M8x30-12PCS | 19.92
70720998 | AL120-998 97 465 460 M16x105-4PCS | M8x30-12PCS | 23.07
ST IRRMSTBREEY B MAEMSS] - ABEE28.28mm - T Ne56.5mmiE3L&EE - {FiE3L B FHIEN -

Remark : Aluminium Plate has M8 holes,distance 28.28mm and the boring range increase 256.5mm.

B72-84;8E

Plate for BBIT and BBOR Large Diameter Boring System
SIERSE RS B B
Order No. Model N.W.
70072084 B72-84 1.20

BB EEEYEMARAISL - ABEE10mm » TTI8Nle20mmiESLEE - (EIES EEEHENE -
Remark : Plate has four holes,distance 10mm and the boring range increase 20mm.



RILEEILDEERRE
h100-AL120 Large Diameter Boring System

13 7)#% Taper Shank

HERIEIE Extension Spacer

1E£82 Adapter

$REYBEE Aluminium Plate

JBEE Plate

KILEABIEILTIAEE Large Diameter Body

#8#E3L7JE Cutting Insert Holder

80°#B#E3L/JEE 80° Cutting Insert Holder . - o
45°IE R {EIFEFEIESLJIE 45° Chamfer Cutting Insert Holder . B3, o BELIE  mprap

" X -84 &R Cutting Insert Holder 80° Cutting Insert Holder  Spring Washer
$EIE3L R ETIEE Reverse Cutting Insert Holder H BB7722§2‘ ﬁa% ’ g
””'t::' — MC
----- o= (;
w3y MC
= ME‘BOCAP-ZPCS
MB#30CAP-6PCS .,
F1© RN R &5 ERBAETE
S Reverse Cutting Insert Holder ~ 45° Chamfer Cutting Insert Holder
40
h — 1 @-w
: @g “o a @§ M16-CAP-4PCS
g ."-’g S S g
' -
HL00 SRI-#E3,01R h100-AL120 %8
Taper Shank h100-AL120 Adapter
e @
o
“““ g me ° MB*16CAP
----- N MC MA
= 0 | - VB
\{\v:::- o= MC |@ M8*30CAP
- M8*30CAP-6PCS
ALL20 fEREUBRE  B72-84 JEEE BBIT72 M4 REAER — REAER EMBE
AL120 Aluminium Plate B72-84 Plate BBIT72 Body Apron Apron  Spring Washer
®
P ' BBIT72 A3L{EMEMREI A58
Body for Large Diameter Adjustable Twin Cutter Roughing
4 ISR RO BENE MA MB w = =]
b, Y Order No. Model Mobile Bolt Bolt Wrench N.W.
\k‘\'\ \ 70007372 |BBIT72 20 M8x16 M8x30 O4 O6 1.44
BBIT72 $81E3LJEE
Cutting Insert Holder for BBIT Large Diameter Adjustable Twin Cutter Roughing
STERE ]R8 W o VAN 1% Hh ® F P B
Order No. Model Insert Bolt Wrench N.W.
30809013A |SACC90130 795 0.17
30809013B |SBCC90130 ’ 0.18
30813017A |SACC130170 226 99.5 CCMT1204.. | TS5-MS 25 0.23
30813017B |SBCC130170 ) 0.24
BBIT72 80°#8#&3 /)&
80° Cutting Insert Holder for BBIT Adjustable Twin Cutter Roughing
STEIRE RO W e VARN=Y 0% wR F P E
Order No. Model Insert Bolt Wrench N.W.
30809013M |EMSC90130 80.5 0.17
30813017M |EMSC130170 231 100.5 SCMT1204.. | TS5-MS 25 0.23
BBIT72 45°IE R {ZIE3EHE3l D EE
@ 45° Chamfer Cutting Insert Holder for BBIT Adjustable Single Cutter Roughing
4 SERE | W B w . GEEER RN EREE
Order No. Model Insert Bolt Wrench N.W.
30809013W |IWSC90130 80.5 0.16
30813017W |IWSC130170 231 100.5 SCMT1204.. | TS5-MS 25 0.22
BBIT72 1BYEILR &I EE
@'-, Reverse Cutting Insert Holder for BBIT Large Diameter Adjustable Single Cutter Roughing
STERE m aw wk . TR | &% [ RS | 28
Order No. Model Insert Bolt Wrench N.W.
30809013K |RKCC90130 22 22 79.5 0.18
30813017K |RKCC130170 44 22 99.5 COMT1204.. | TS5-M5 25 0.25

104



RILEEILDEERE

Large Diameter Boring System

h100-AL120

13 7)#% Taper Shank

HERIEIE Extension Spacer

1E£82 Adapter

$REYBEE Aluminium Plate

KILIEFEHESL /A EE Large Diameter Body
E&rEBalance Holder

¥51E3L7JE Cutting Insert Holder
ZE/45E3L7JEE Rhombus Cutting Insert Holder
¥51E3L R ETIE Reverse Cutting Insert Holder

BBOR72 {5{EAEE
BBOR72 Body

MmC

BRELIE

BEAREDE

Cutting Insert Holder Reverse Cutting Insert Holder

M8*30CAP-6PCS

MmC
MmC

MmC
mC
MmC

M8:25CAP-2PCS

B72W T

ER4EIESLS BB Rhombus Reverse Cutting Insert Holder Béégfﬁ@
H - ate
Je=r
=1
(2 H
~~~~~ &
Fo ;
csk‘ @
4:°|I N
Sl @ @2 ol o M16-CAP-4PCS
DIE - ]H T
HL00 SR51-&3, 70/ h100-AL120 1EE8
Taper Shank h100-AL120 Adapter
e @
----- o)
AT
----- o
& oH—
T ~ =
Y =
M8*30CAP-6PCS
ALL20S2EURIE  B72-84 B
AL120 Aluminium Plate B72-84 Plate

BBOR72 A 3|{&MAA4EHEIL A8 +B72W T EEE

B72W Balance Holder

Body and Balance Holder for Large Diameter Finishing Cutter Fine Boring System

ISR RS BEE MA MA | =F P E
Order No. Model Mobile Bolt Bolt Wrench N.W.
70007572 |BBOR72 M8x16 1.65
70007472 |B72W 285 M8x25 0506 1.59
BBOR?72 #51&3, 7 &
Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
SIEHRSE RO W o VAN 1% Hh w F B
Order No. Model Insert Bolt Wrench N.W.
50637011 [SRTP70110 20 66 0.10
50637115 |SRTP110150 20 106 | TCGHT103.L | SB-STR-M3 8 0.21
BBOR72 £f/151E3|, I EE
Rhombus Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
OEmE | 1 w . 7R B wy | % ®
Order No. Model Insert Bolt Wrench N.W.
50637011CC |SRCC70110 20 67 0.10
50637115CC |[SRCC110150 20 107 CCGTO9TS. L|  TS4-M4 15 0.20
BBOR?72 #51&3LR &) EE
Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
OEmE | W R . e . 7R ®m | mS | BB
Order No. Model Insert Bolt Wrench N.W.
50637011K |FKTP70110 16 15 66 0.10
50637115K |FKTP110150 25 15 106 TPGH1103.R | SB-3TR-M3 T8 0.21
BBOR72 ZAFHESL R IETIEE
Rhombus Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
OEmE | MR A aw Wk . g B Ry | 2@
Order No. Model Insert Bolt Wrench N.W.
50637011KC |[FKCC70110 16 15 67 0.10
50637115KC |[FKCC110150 28 15 107 CCGTO9TS. R TS4-M4 5 0.20

105



106

RILEEEDHEIESLIIESR#--AB type

Large Diameter Adjustable Twin Cutter Roughing and Semi-Finishing Boring System
PEILT0AA ~ 1282 -~ IRENERE  KILIEFENESLAER - HaiEsL

Taper Shank, Adapter, Aluminium Plate, Large Diameter
Body and Cutting Insert Holder

BBIT72 fEfERE SACC90130 HRfES, IR
BBIT72 Body SACC90130 Cutting Insert Holder
DM ‘
103
20
=1 18 i
MD e 2
5 8 MI6-CAP4PCS = <18 o &8
6 ©§ E IS &8
il v g S
U T T
3+ @©
1S 1S
a a
=
=3
==
&= ) )
T = 3
= ] & e
1|
LE qfﬁ
—1—0.3-04
ALI20 SREVEEE  B72-84 B SACC90130 #R1E3L I
AL120 Aluminium Plate B72-84 Plate SACC90130 Cutting Insert Holder
& RILEHRIESLRIRAE S
SIEiRYE iH O BoFin Rar?e iy Large Diameter Adjustable Twin Cutter Boring System | 5
Order No. Model DM oDMay | DM FEE ML BB BEE | JOLEEENLAE | MEILIE | NW.
Taper Shank | Aluminium Plate Plate Boring Head Cutting Insert Holder
93310000AB | AL-BBIT72 AB  410-470 150 AL120-398 12.00
93410000AB | AL-BBIT72 AB 510-570 155 AL120-498 14.40
93510000AB | AL-BBIT72 AB  610-670 160 AL120-598 16.91
93610000AB | AL-BBIT72AB  710-770 165 AL120-698 SACG90130 | 4q 44
SBCC90130
93710000AB | AL-BBIT72 AB 810-870 170 DBTg‘:—ng AL120-798 22.51
93810000AB | AL-BBIT72 AB 910-970 175 ('+) AL120-898 25.56
93910000AB | AL-BBIT72 AB 1010-1070 180 h100-AL120 AL120-998 B72-84 BBIT72 28.72
93320000AB | AL-BBIT72 AB 450-510 150 (P103) AL120-398 12.12
93420000AB | AL-BBIT72 AB  550-610 155 BT50-AL120 AL120-498 14.52
93520000AB | AL-BBIT72 AB  650-710 160 (P.108) AL120-598 17.03
93620000AB | AL-BBIT72 AB  750-810 165 AL120-698 gggg}gg};g 19.53
93720000AB | AL-BBIT72 AB  850-910 170 AL120-798 22.63
93820000AB | AL-BBIT72 AB  950-1010 175 AL120-898 25.68
93920000AB | AL-BBIT72 AB  1050-1110 180 AL120-998 28.84




RILEMERFEIRESL OB S RE

Large Diameter Finishing Cutter Fine Boring System

AL-BBOR72

PEILVOAR ~ 18R - SRBUBREE « KILIERBEIESLIAEE  FEEE - ¥EIESLTIRE
Taper Shank, Adapter, Aluminium Plate, Large Diameter Body,
Balance Holder and Cutting Insert Holder

SRTP70110 113,
SRTP70110 Cutting Insert Holder

BBOR72 f5IEAEE
BBOR72 Body

DM

103

20

= ;
@ OE
£
o
MD &
@é‘? M16-CAP-4PCS < S
c\s £ N
8|S a S
<lc—T—@w g
%
= 1S
[a) [=)
AL120 25058/ B72-84 )BE B72W & -
AL120 Aluminium Plate ~ B72-84 Plate B72W Balance Holder
. RIS RIRES
IS5 iRE RO B(?En Rar? R iy Large Diameter Finishing Cutter Fine Boring System B E
Order No. Model DM~ oDMey | DM 3L SBEUBRE BEE | AOLEEENLAE | RmESLOE | NW.
Taper Shank Aluminium Plate Plate Boring Head Cutting Insert Holder
95310000 AL-BBOR72 M 400-480 150 AL120-398 12.36
95410000 AL-BBOR72 M  500-580 155 AL120-498 14.76
95510000 AL-BBOR72 M  600-680 160 AL120-598 17.27
95610000 AL-BBOR72 M  700-780 165 AL120-698 SRTP70110 19.77
95710000 AL-BBOR72 M  800-880 170 DBqu—;mO AL120-798 22.87
95810000 AL-BBOR72 M  900-980 175 ( " ) AL120-898 25.92
95910000 AL-BBOR72 M 1000-1080 180 h100-AL120 AL120-998 B72-84 BBOR72 29.08
95320000 AL-BBOR72 M  440-520 150 (P103) AL120-398 B72wW 12.47
95420000 AL-BBOR72 M  540-620 155 BT50-AL120 AL120-498 14.87
95520000 AL-BBOR72 M  640-720 160 (P108) AL120-598 17.38
95620000 AL-BBOR72 M  740-820 165 AL120-698 SRTP110150 | 19.88
95720000 AL-BBOR72 M  840-920 170 AL120-798 22.98
95820000 AL-BBOR72 M  940-1020 175 AL120-898 26.03
95920000 AL-BBOR72 M  1040-1120 180 AL120-998 29.19

107



1E3LJI1A
h100-AL120 Taper Shank for Boring System

727

V)

B i
(> Moy

M16*43,

260"

)
0

STEMRIR F B
Order No. N.W.
41201507 | BT50-AL120-75 7.00
72 25
37
% M16*43,
ISR ] =]
Order No. Model N.W.
41202507 | DIN69871A SK50-AL120-72 7.10

M16*43,

SIEHRR RO P B
Order No. Model N.W.

41200507 M| DIN2080 NT50-AL120-72 M24 7.15
41200507 | | DIN2080 NT50-AL120-72 1"W8 | 7.15

108






WERSIESL R
NBH2084 Borin; System

110

&3, J04% Taper Shank
HERIEIR Extension Spacer
&2 Adapter

¥51E3L7)AEE Body

¥51E3L )42 Cutting Bar

HE3SI-2, 7317 LSS h63-NBHIRBHEEE \
Taper Shank Extension Spacer Adapter B
L1 631126 15 gg S BRI S
N N : gl =
E= (@] é) E= © é 2 :
&) £
j=3 <<
,,,,, 2‘ (O === S
MB:20L-CAP-4PCS 3 [PRE
2 H{Ol===<
80/160 s
M T
MB:20L-CAP-4PCS g '
| S
o £ < HIER
£ (( )) 8 £z ((: :}) g NBH208415 12188
6 @ ] b NBH2084 Body |m'lmx
) (O [e=s
H80:3I-1E3L /)R ERER h80-NBH/RBH
Taper Shank Extension Spacer Adapter
IR - EESEIP19 818 : 5ESHIP26 ©
Specification please Specification please
refer to P.19 refer to P.26

BELE

Cutting Bar

.

L
DM;‘

o]

NBH20841HEAEIE 3L i — 1288
Adapter for NBH2084 Boring System

I EHRR ]R8 b=}
Order No. Model N.W.
42638415 | h63-NBH/RBH | 0.85
42808415 | h80-NBH/RBH 1.12

NBH2084 435 E3L R — ¥iEIL 042

Body for NBH2084 Boring System

ISR R PARRLS wF P E
Order No. Model Cutting Bar Wrench N.W.
20840000 |NBH2084 220 O4 O6 3.0

NBH2084 {5851 3R — FBIE3L /12
Cutting Bar for NBH2084 Boring System

mEmr | ome R B0l eE ) wms | 2 R R AR
Order No. Model oDmin-eDmax DM System Insert Bolt Wrench | N.W.
20010832 | BJ2008-32 8-11 32 80 0.12
20011040 | BJ2010-40 10-13 40 87 TBGT0601..L | SB-1STR-M2 | T6 0.12
20011253 | BJ2012-53 12-17 53 98 0.12
20011668 | BJ2016-68 16-21 68 110 || 8084 URElalteloza S22 0.16
20012083 | BJ2020-83 20-125 83 123 T8 0.22
20012596 | BJ2025-96 25-130 96 137 0.24
20013011 | BJ2030-115 30-135 115 152 TPGH1103.L | SB-3TR-M3 0.38
20012020 | BJ2020-L 120-280 | 84+BTL1 | 100 0.46




WERSIESL R
NBH2084 Borin; System

#2410 SET 08~0280

ATYPEYESLJA (EE1HR)

Taper Shank

B-TYPEIE3, /i (FEHiR)

Taper Shank

B M8*20-CAP A M8*20-CAP
=]

Q_A2001MM

= I~g35n7-] = 2
W 08— € "‘-}§
= &0 D - RIS
ST 1w g Bonghange | ESTRE-THTAE |3 @ p——
Order No. Model oDmin-oDmax Taper Shank N.W. Agjuﬂs:the Gédﬁaﬁﬁon
20908808 | R8-NBH2084  8-280 R8-UNF7/16-20-NBH2084 10
20900308 | NT30-NBH2084 8-280 DIN2080 ISO30-NBH2084 9.8 @
20900408 | NT40-NBH2084 8-280 DIN2080 ISO40-NBH2084 10.3
20900510 | NT50-NBH2084  8-280 DIN2080 ISO50-NBH2084 12.6
20906408 | MT4-NBH2084  8-280 DIN228A MT4-NBH2084 10.3
20906508 | MT5-NBH2084  8-280 DIN228A MT5-NBH2084 11.1
20901410 | BT40-NBH2084 8-280 MAS403 BT40-NBH2084 10.8 O O
20901510 | BT50-NBH2084 8-280 MAS403 BT50-NBH2084 13.5
20902410 | SK40-NBH2084 8-280 DING9871A ISO40-NBH2084 | 10.7 @ @
20902510 | SK50-NBH2084  8-280 DING9871A ISO50-NBH2084 | 13 b p
geEms | ome | B0l e | g C R
Order No. Model N9 hang DM Insert Bolt Wrench| N.W. Z
oDmin-eDmax i
20010832 | BJ2008-32 8-11 32 0.12
20011040 | BJ2010-40 | 10-13 40 | /BGTOSOT.LISB-1STR-M2| T6 | 4 ) o =
20011253 | BJ2012-53 12-17 53 0.12
20011668 | BJ2016-68 16-21 g | T CH0902.LISB-2TR-M2.5 0.16
20012083 | BJ2020-83 20-125 83 18 | 022
20012596 | BJ2025-96 | 25-130 96 0.24
20013011 | BJ2030-115 | 30-135 195 | TPGH1103.L | SB-3TR-M3 0.38
20012020 | BJ2020-L 120-280 |84+BT L1 0.46

111



112

&3, 7)4% Taper Shank
JERIEE Extension Spacer
182 Adapter
¥5iE3L7)AEE Body
¥51E3L /048 Cutting Bar

Boring

WERSIESL R
System

RBH2084 fEIEAEE

RBH2084 Body

LR
Cutting Bar

594—‘

|

SCALE

H637R3- 131701 ERER h63-NBH/RBHEZIZES
Taper Shank Extension Spacer Adapter
(5 63/126 3.
[ E
Tol: ol4—1Io|l
L =10 L= [ BE!
B
M8*20L-CAP-4PCS
— 801160 e
[ J'ML-CAP-APCS
- B—
+— O 1H©i%?Eﬁ
[} 6 0
| =B
HB0ZRS-E3L704R ERER h80-NBH/RBHEEZE
Taper Shank Extension Spacer Adapter
RIS FESFEP19 RIS : FHSHP.26
Specification please Specification please
refer to P19 refer to P26
RBHHFEE B R — #2282
Adapter for RBH Boring System
Fl=t RS P E
Order No. Model N.W.
42638415 h63-NBH/RBH 0.85
42808415 h80-NBH/RBH 1.12
RBHEAEESL R — 1EHESL AR
Body for RBH Boring System
g | oms | oL BD | ommame | nE | 9=
Order No. Model aDmir?—@Dm%x Body Diameter | Cutting Bar |  N.W.
20850080 |RBH2084 140-300 084 120 2.88
20860080 |RBH20110 150-350 2110 [ 120 3.88
RBHFAEIESL R — 15E3L DT
Cutting Bar for RBH Boring System
SIEHRSE R VAREES VARSY L w F P B
Order No. Model Cutting Bar Insert Bolt Wrench N.W.
20020150CC |BH20CC []20 CCGT1204..L 0.44
20020150W  |BH20IWSC []20 SCMT1204.. TS5-M5 T25 0.44
20020150KC |BH20FKCC []20 CCGT1204..R 0.44
20020150 BH20TP [ 120 TPGH1103..L | SB-3TR-M3 T8 0.45

© © 0

ok ]

RBH20110 #5iEZAEE

RBH20110 Body



&3, 7)4% Taper Shank

JERIE4E Extension Spacer

182 Adapter
¥5iE3LT)AEE Body
¥51E3L )12 Cutting Bar

BH20CC

8 CCGT1204.L @@ TS5-M5

==& 0RT25_RBHABYRBH2L10
RBH20150/RBH20250/RBH20350

BH20IWSC

8 sCMT1204. @9 TS5M5

=B 0125 RBHXBYRBHAOLL0
RBH20150IRBH20250RBH0350

(8] cCGT1204.R @ TS5-M5

20

WERSIESL R
Boring System

ORXT25 REHZ084REH20LL | [°
BH20FKCC RBH20150/RBH20250/RBH20350 ¥
& TPGH1103.1m@ SB-3TR-M3
ORX-T8 RBH2084/RBH20110
BH20TP RBH20150RBH20250/RBH20350

H80FRZI-1E3L
Taper Shank

ERER

Extension Spacer

80/160

ML

& BT50-H80-70 M:102

h80-RBH #5#%
Adapter g

2'35L-CAP-4PCS

&P h80H80-80
©
=~
H§0

50n7
9100

E

- ——

@ h80-RBH

TBiEILR

Cuttin

g Bar

894—‘

150

P Y Sl e

BH20TP

P

pesco

@
L1 100/200 18
M12*35L-CAP-4PCS @
| s B Lol
®
: - OO, H 3
¢ 0 | I
HI0055I- 483,701 RIS h100-RBH H1E8 o
Taper Shank Extension Spacer Adapter @‘é’
RS - EESRIP19 RS - 5ESRIP26 z
Specification please Specification please x
refer to P19 refer to P.26
RBHZZ $E1EA 88
RBH System Body
RBHHEREESL R — 2288
Adapter for RBH Boring System
SIERSE B8 B
Order No. Model N.W.
42801018 h80-RBH 1.52
42101218 h100-RBH 1.95
RBHEEESL R — HEIESL AR
Body for RBH Boring System
s | om | (EED | ommagr | DE | 2 oE
Order No. Model eDmir?—mDm%x Body Diameter | Cutting Bar N.W.
20870080 |RBH20150 170-370 2150 []20 4.88
20880080 |RBH20250 270-470 0250 []20 5.90
20890080 |RBH20350 370-570 0350 [ 120 7.35

150

113



N RS ET e
NTA-TYPE HIGH PRECISION VISE

MORSE RAPIDE DI ALTA PRECISIONE
ETAUX RAPIDES DE HAUTE PRECISION
MORDAZAS RAPIDAS DE ALTA PRECISION
TORNOS RAPIDOS DE ALTA PRECISAO

HIGH PRECISION VISE

AR BRI —SBEEMERNSER -

MODEL NTA-TYPE

Mat. SUS 440C

Paral. // <0.003mm/100mm
Ort./Squareness L <0.005mm/100mm
HRC 58+2

Trattamento sotto zero/Traitement au-dessous de zéro/Tratamiento a
temperatura bajo cero/Tratamento feito abaixo de zero/To subzero treatment

o
MODEL| A |B |C | D|E | F |G| I |J K N.W. ¢ l
NTA215|150| 50 | 50 | 20 | 30 | 30 | 75 |M6 | 6 |M6x40 | 1.64kg ulJ
NTA319|195| 75 | 65 | 32 | 33 | 40 |100| M6 | 8 |M8x50 | 4.04kg l

NTA425|250|100| 80 | 40 | 40 | 45 |126| M8 | 10 |M10x60| 8.62kg

EEUREH - IBINEER DIRE - 18R

1.7eR0E ~ BEHO - EEFIHNTE
fiz -

2.7ERE - BEHOEN - BEBRF
He%% - fRBR IR -

3. XM - REBEBRT - BEHD
BEERR -

4.TER% » TUBIRFELE - WL REEE
117 » BIS{EARHI -

5. EF » RMEEOWRIRE - DI EAEE2/3
IE » BATRBRMIRERE - LIS
BMOBEEAERR - WieRBERES
15" TERE-

a>

MORSE RAPIDE DI ALTA
PRECISIONE

Sono attrezzi ideali per il bloccaggio ed il
posizionamento di precisione dei pezzi,
sia per la lavorazione che per il controllo.
Sono indicate per I'uso su rettificatrici,
fresatrici, centri di lavoro e macchine per
elettrerosione.

OPERATIVITA'

Per il bloccaggio spingere in avanti

la ganascia sino ad arrivare nella
posizione desiderata e stringere la vite
K. Effetto "LOCK DOWN" (GANASCIA
DISCENDENTE).

Per lo sbloccaggio, allentare la vite

K e spingere la chiave verso l'alto:

la ganascia si sblocca ed € libera di
scorrere rapidamente lungo la guida.

ETAUX RAPIDES DE HAUTE
PRECISION

Ce sont des outils idéaux pour le blocage
et le positionnement de précision des
piéces, aussi bien pour l'usinage que
pour le contrle. Leur emploi est indiqué
pour l'utilisation sur les rectifieuses, les
fraiseuses, dans les centres d'usinage et
sur les machines d'électroérosion.

FONCTIONNEMENT

Pour bloquer les piéces, pousser en avant
la machoire jusqu'a atteindre la position
désirée et serrer la vis K. Effet "LOCK
DOWN" (MACHOIRE DESCENDANTE).
Pour débloquer les piéces, desserrer

la vis K et pousser la clé vers le haut:

la méachoire est débloquée et libre

de coulisser rapidement le long de la
glissiére.



FEE R
NK-TYPE HIGH PRECISION VISE

MORSE RAPIDE DI ALTA PRECISIONE
ETAUX RAPIDES DE HAUTE PRECISION
MORDAZAS RAPIDAS DE ALTA PRECISION
TORNOS RAPIDOS DE ALTA PRECISAO

HIGH PRECISION VISE

BERH—SBEEMERNSZEE - SmEERHERE

==

=S

S
&S
=4
S>>

S
o

MODEL NK-TYPE

Mat. JIS SKS3

Paral. // <0.003mm/100mm
Ort./Squareness L <0.005mm/100mm
HRC 60+2

Trattamento sotto zero/Traitement au-dessous de zéro/Tratamiento a
temperatura bajo cero/Tratamento feito abaixo de zero/To subzero treatment

M

MODEL| A | B | C | D | E |F

G

J K N.W.

NK-319 |190| 73 | 65 | 32 | 33 | 35

100

M6

8 | M8x50 3.8kg

NK-423 |230(100| 80 | 40 | 40 | 40

125

M8

10 |M10x60| 8.2kg

NK-530 {300(125|100| 50 | 50 | 60

150

M8

12 |M12x75| 17.5kg

NK-635 |350(150|100| 50 | 50 | 60

200

M8

12 |M12x75 | 24.0kg

&

MORDAZAS RAPIDAS DE ALTA
PRECISION

Son las herramientas idéneas para
bloquear y posicionar piezas con la
maxima precisién, tanto en la ejecucion
como en el control.

UTILIZACION

Para bloquear, empujar hacia
adelante la boca de amarre hasta
alcanzar la posicion deseada y luego
apretar el tornillo K. Efecto "LOCK
DOWN" (SISTEMA DE AMARRE
DESCENDIENTE). Para desbloquear,
aflojar el tornillo K'y empujar la llave
hacia arriba: la boca se desbloquea y
puede desplazarse por la guia.

<

TORNOS RAPIDOS DE ALTA
PRECISAO

S&o equipamentos ideais para o blogueio
e posicionamento de precisdo das pegas,
gue para a sua usinagem, quer para o
seu controlo. S&o indi-

cados para o uso em rectificadoras,
fresadoras, centros de trabalho e
maquinas para a electroerosao.

COMO FUNCIONAM

Para obter o bloqueio da peca, empurre
o mordente para a frente até que
chegue a posigcao desejada e aperte

o parafuso K. Efeito "LOCK DOWN"
(MORDENTE DESCENDENTE). Para
libertar a peca, desaperte o parafuso K e
empurre a chave para cima: 0 mordente
fica desbloqueado e livre para deslizar
rgpidamente ao longo da guia.

QUICK PRECISION VISES

Ideal tools to block and position pieces
with high precision, both for machining
and checking. They are suitable for
grinding and milling machines, working
centres and electron discharge machines.

OPERATION

For blocking, push ahead the jaw until the
desired position is reached and tighten
the K screw. "LOCK DOWN" effect
(DESCENDING JAW). For releasing,
unloosening the K screw and push the
key upward: the jaw is released and can
slide along the quide quickly.



HMPHEEXERBDBRLIT
STANNY MACHINE TOOLS CO., LTD.
43750 e AKREEE _K7HR

EI'TFiE No. 7, Chongyi 2nd Rd., Dajia Dist.,

L Taichung City 43750, Taiwan.

""’:&‘: TEL:886-4-26761805 FAX:886-4-26761807

A Https://www.stanny.com.tw
E-mail:stanny88@ms45.hinet.net

EBIRER:

FBEERERFEERAT

201100 LiBMHRAITEEPIK2328FIIEAECE
TEL:86-21-54257215 FAX:86-21-54251735
Http://www.stanny.cn
E-mail:stanny8866@163.com

STANNY/C-E-1-1-3000 1901 hRIEFTH  BHENLITR




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (CS)
  /AlwaysEmbed [ true
    /ZenKai-Medium
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 800
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (CS)
  /AlwaysEmbed [ true
    /ZenKai-Medium
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 800
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (CS)
  /AlwaysEmbed [ true
    /ZenKai-Medium
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 800
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (CS)
  /AlwaysEmbed [ true
    /ZenKai-Medium
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 800
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (CS)
  /AlwaysEmbed [ true
    /ZenKai-Medium
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 800
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (CS)
  /AlwaysEmbed [ true
    /ZenKai-Medium
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 800
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (CS)
  /AlwaysEmbed [ true
    /ZenKai-Medium
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 800
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


